
CHEMISTRY

BOOKS - VK JAISWAL ENGLISH

PERIODIC PROPERTIES

Level 1

1. Which is not similar characteristics(s) about the electronic

configuration of Be, Mg, Ca?

A. All the atojms have a pair of s-electrons in their outermost energy

level

B. all the atoms contain a pair of p-electrons in their outermost

energy level

C. All are alkaline earth metals

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_a97nxS9KV5lf


D. All are of secon group of the periodic table

Answer: B

Watch Video Solution

2. The elements  and  have not yet have been discovered, In

which family group would you place these elements and also give the

electronic configuration in each case.

A. 17, 2

B. 17,4

C. 15,3

D. 18,2

Answer: A

Watch Video Solution

Z = 117 120

/

https://dl.doubtnut.com/l/_a97nxS9KV5lf
https://dl.doubtnut.com/l/_piuAed7r1OA2
https://dl.doubtnut.com/l/_b55wNVm17XEP


3. Which one of the following represents the electronic configuration of

the most electropositive element?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[He]2s1

[Ne]3s2

[Xe]6s1

[Xe]6s2

4. Which one of the following elements shows both positive and negative

oxidation states?

A. Cesium

B. Fluorine

C. Iodine

https://dl.doubtnut.com/l/_b55wNVm17XEP
https://dl.doubtnut.com/l/_rZ30Sodo8xra


D. Xenon

Answer: C

Watch Video Solution

5. The number of element present in the fifth period is

A. 18

B. 32

C. 8

D. 24

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rZ30Sodo8xra
https://dl.doubtnut.com/l/_N2RldgoDrOaS


6. Which of the following arrangements shows the correct order of

decreasing paramagnetism?

A. NgtAlgtOgtCa

B. NgtOgtAlgtCa

C. OgtNgtAlgtCa

D. OgtNgtCagtAl

Answer: B

Watch Video Solution

7. Thr outer electronic configuration of lawrencium is

A. 

B. 

C. 

D. 

Rn5f 137s27p2

Rnf 136d17s17p2

Rn5f 147s17p1

Rn5f 146d17s2

https://dl.doubtnut.com/l/_bVLs0SNW74HX
https://dl.doubtnut.com/l/_sgqgmF3Hf7Yx


Answer: D

Watch Video Solution

8. The element having the lowest atomic number and a ground state

electronic configuration of  is placed in:

A. fifth period

B. sixth period

C. fourth period

D. third period

Answer: C

Watch Video Solution

(n − 1)d6ns2

9. Which of the following sets of atomic numbers corresponds to

elements of group 16?

https://dl.doubtnut.com/l/_sgqgmF3Hf7Yx
https://dl.doubtnut.com/l/_IE8kNDyH5ykO
https://dl.doubtnut.com/l/_pxfjoxVxeHw7


A. 8,16,32,54

B. 16,34,54,86

C. 8,16,34,52

D. 10,16,32,50

Answer: C

Watch Video Solution

10. The atomic numbers of the metallic and non-metallic elements which

are liquid at room temperature respectively are:

A. 55,87

B. 33,87

C. 35,80

D. 80,35

Answer: D

https://dl.doubtnut.com/l/_pxfjoxVxeHw7
https://dl.doubtnut.com/l/_bWD3IDucufi7


Watch Video Solution

11. In the periodic table, the metallic character of elements

A. Decreases downn the group and increases across the period

B. Increases down the group and decreases across the period

C. Increases across the period and also down the group

D. Decreases across the period and also down the group

Answer: B

Watch Video Solution

12. Nucleus of an element contains 9 protons Its valency would be :

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_bWD3IDucufi7
https://dl.doubtnut.com/l/_luQMaI0Ii6TZ
https://dl.doubtnut.com/l/_Rc7UDYBVEgw6


D. 5

Answer: A

Watch Video Solution

13. Transition metals are characterised by which of the following

properties ?

A. Fixed valency

B. coloured compound

C. high melting and boiling points

D. tendency to form coomplexes

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Rc7UDYBVEgw6
https://dl.doubtnut.com/l/_cgwV7bSoZibk


14. Sodium ordinarily does not show an oxidation state of , because of

its

A. High first ionisation potential

B. High second ionization potential

C. large ionic radius

D. high electronegativity

Answer: B

Watch Video Solution

+2

15. Which of the following pairs of molecules have the almost identical

bond dissociation energy?

A. 

B. 

C. 

F2 and H2

N2 and CO

F2 and I2

https://dl.doubtnut.com/l/_eGQ2R0t4Tdb7
https://dl.doubtnut.com/l/_h9RwQgk76o4L


D. 

Answer: C

Watch Video Solution

HF and O2

16. According to modern periodic law the elements with similar chemical

and physical properties repeat at regular intervals when the elements are

arranged in order of :

A. decreasing atomic number

B. increasing atomic weight

C. increasing atomic number

D. decreasing atomic weights

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_h9RwQgk76o4L
https://dl.doubtnut.com/l/_RKWBwDGFiuEt
https://dl.doubtnut.com/l/_psCAccTHXbHP


17. Give the symbol of the elements of lowest atomic number that has

three 2p electrons:

A. Mg

B. P

C. N

D. Si

Answer: C

Watch Video Solution

18. In the fourth period of the periodic table, how many elements have

one or more 4d electrons:

A. 2

B. 18

C. 0

https://dl.doubtnut.com/l/_psCAccTHXbHP
https://dl.doubtnut.com/l/_W04YbJtcZm3d


D. 6

Answer: C

Watch Video Solution

19. Assuming that elements are formed to complete the seventh period,

what would be the atomic number of the alkaline earth metal of the

eighth period?

A. 113

B. 120

C. 119

D. 106

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_W04YbJtcZm3d
https://dl.doubtnut.com/l/_6CBEZllDbFWe
https://dl.doubtnut.com/l/_5bgFaz6fgQPV


20. Which of the following represents an excited state of an atom?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ne]3s23p64s23d8

[Ne]3s23p64s13d5

[Ne]3s23p64s23d1

1s22s22p53s1

21. Choose the correct statement regarding transition elements?

A. Transition elements has low melting points

B. transition elements do not have catalytic activity

C. Transition elements exhibit variable states

D. Transition elements exhibit inert pair effect

https://dl.doubtnut.com/l/_5bgFaz6fgQPV
https://dl.doubtnut.com/l/_7rb7OZYnBQF5


Answer: C

Watch Video Solution

22. Which one of the following is a different pair?

A. Li, Na

B. Be, Ba

C. O, At

D. N, As

Answer: C

Watch Video Solution

23. The element having electronic configuration

 belongs to[Kr]4d104f 145s25p65d26s2

https://dl.doubtnut.com/l/_7rb7OZYnBQF5
https://dl.doubtnut.com/l/_LMNesDPYv3ai
https://dl.doubtnut.com/l/_vNC9dgKLS25d


A. s-block

B. p-block

C. d-block

D. f-block

Answer: D

Watch Video Solution

24. The elements which are radioactive and have been named after the

name of planet are

A. Hg

B. Po

C. Pu

D. Ra

Answer: C

https://dl.doubtnut.com/l/_vNC9dgKLS25d
https://dl.doubtnut.com/l/_oTpL8qLqH4DG


Watch Video Solution

25. Zn and Cd metals do not show varible valency because:

A. They have only two electrons in the outermost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. they are relatively soft metals

Answer: B

Watch Video Solution

26. An element whose IUPAC name is ununtrium (UUT) belong to

A. s-block element

B. p-block element

C. d-block element

https://dl.doubtnut.com/l/_oTpL8qLqH4DG
https://dl.doubtnut.com/l/_WDK6warISUP3
https://dl.doubtnut.com/l/_3hjnSmqSsfVZ


D. transition element

Answer: B

Watch Video Solution

27. Which of the following is not representative element?

A. Tellurium

B. Tantalum

C. Thallium

D. Astatine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3hjnSmqSsfVZ
https://dl.doubtnut.com/l/_V89WpUZLbk25


28. The period number and group number of "Tantalum" (Z=73) are

respectively:

A. 5,7

B. 6,13

C. 6,5

D. none of these

Answer: C

Watch Video Solution

29. Which of the following pair of elements belongs period of the periodic

table ?

A. Mg and Sb

B. Ca and Zn

C. Na and Ca

https://dl.doubtnut.com/l/_zd1nE9gMo2zt
https://dl.doubtnut.com/l/_mURngyhgYUpK


D. Ca and Cl

Answer: B

Watch Video Solution

30. Consider the following electronic configuration of an element(P): 

 


Then correct statement about element 'P' is

A. It belongs to 6th period and 1st group

B. It belongs to 6th period an 2nd group

C. it belongs to 6th period and 3rd group

D. none of these

Answer: C

Watch Video Solution

[Xe]4f 145d16s2

https://dl.doubtnut.com/l/_mURngyhgYUpK
https://dl.doubtnut.com/l/_9Jwf4hbcYPFW
https://dl.doubtnut.com/l/_97R5n9aCfp44


31. Which of the following metal is highest electropositive (metallic) in

nature?

A. Be

B. Rb

C. Mn

D. Tl

Answer: B

Watch Video Solution

32. Which of the following species must have maximum number of

electrons in '  orbital?

A. Cr

B. 

C. 

dxy'

Fe3 +

Cu+

https://dl.doubtnut.com/l/_97R5n9aCfp44
https://dl.doubtnut.com/l/_JANPgZHeDScs


D. Both (a) and (b)

Answer: C

Watch Video Solution

33. which of the following graph is correct representation between

atomic number (Z) and magnetic moment of d-block elements? [outer

electronic configuration: ]

A. 

B. 

C. 

(n − 1)dxns1 or 2

https://dl.doubtnut.com/l/_JANPgZHeDScs
https://dl.doubtnut.com/l/_P76HIXHvSfFq


D. 

Answer: D

Watch Video Solution

34. If IUPAC name of an element is "unununium" then correct statement

regarding element is:

A. it is inner transition element

B. it belongs to 8th period in periodic table

C. it is a non-transition element

D. it is transition element

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_P76HIXHvSfFq
https://dl.doubtnut.com/l/_jQtYIWsrYJvt
https://dl.doubtnut.com/l/_PZqkgBKHlTcZ


35. Which property decreases from left to right across the periodic table

and increases from top to bottom?

A. (i) only

B. (i) , (ii) and (iii)

C. (i), (iii) and (iv)

D. (i) and (iv)

Answer: D

Watch Video Solution

36. Consider the following information about element P and Q: 

 


the formula of the compound formed by P and Q element is:

A. 

Period number Group number

P 2 15

Q 3 2

PQ

https://dl.doubtnut.com/l/_PZqkgBKHlTcZ
https://dl.doubtnut.com/l/_MkiZExIJhd0q


B. 

C. 

D. 

Answer: C

Watch Video Solution

P3Q2

P2Q3

PQ2

37. which must represent an atom in an excited state?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s2, 2s22p1

1s2, 2s22p2

1s2, 2s22p2, 3s1

1s2, 2s22p5

https://dl.doubtnut.com/l/_MkiZExIJhd0q
https://dl.doubtnut.com/l/_tUVW4XF9bCRB
https://dl.doubtnut.com/l/_RZc11RDdh5l1


38. Which of the following anion has the smallest radius?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H −

F −

Cl−

Br−

39. The ionic radii of ,  follow the order:

A. 

B. 

C. 

D. 

Li+ Be2 + and B3 +

Be2 + > B3 + > Li+

Li+ > B3 + > Be2 +

B3 + > Be2 + > Li+

Li+ > Be2 + > B3 +

https://dl.doubtnut.com/l/_RZc11RDdh5l1
https://dl.doubtnut.com/l/_kMjtvN8e70kJ


Answer: D

Watch Video Solution

40. Largest in size out of  is:

A. 

B. 

C. 

D. all are equal

Answer: B

Watch Video Solution

Na+ , Ne and F −

Na+

Ne

F −

41. Which of the following atom or ions has the smallest size?

A. F

https://dl.doubtnut.com/l/_kMjtvN8e70kJ
https://dl.doubtnut.com/l/_onwIGTMLs7TX
https://dl.doubtnut.com/l/_5LTO9gT7auIt


B. 

C. 

D. N

Answer: A

Watch Video Solution

F −

O

42. The single covalent radius of P is 0.11 nm. The single covalent radius of

Cl will be:

A. smaller than P

B. greater than P

C. same as P

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5LTO9gT7auIt
https://dl.doubtnut.com/l/_jpBEiJRWysNN


43. Which of the following is arranged in decreasing order of size?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mg2 + > Al3 + > O2 −

O2 − > Mg2 + > Al3 +

Al3 + > Mg2 + > O−

Al3 + > O2 − > Mg2 +

44. The correct order of increasing atomic radius of the following

elements as:

A. 

B. 

C. 

S < O < Se < C

O < C < S < Se

O < S < Se < C

https://dl.doubtnut.com/l/_jpBEiJRWysNN
https://dl.doubtnut.com/l/_opxqEAV7cNIr
https://dl.doubtnut.com/l/_4mrEhnTyqnfx


D. 

Answer: B

Watch Video Solution

C < O < S < Se

45. The correct order of increasing radii of the elements

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Si, Al, Na and P

Si < Al < P < Na

P < Si < Al < Na

Al < Si < P < Na

Al < P < Si < Na

https://dl.doubtnut.com/l/_4mrEhnTyqnfx
https://dl.doubtnut.com/l/_JtP6vGzvo9BV


46. The size of the species,  decreases as -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Pb, Pb2 + , Pb4 +

Pb4 + > Pb2 + > Pb

Pb > Pb2 + > Pb4 +

Pb > Pb4 + > Pb2 +

Pb4 + > Pb > Pb2 +

47. Incorrect order of radius is:

A. 

B. 

C. 

D. 

Sr2 + < Rb+ < Br− < Se2 −

Nb5 + < Zr4 + < Y 3 +

Co > Co2 + > Co3 + > Co4 +

Ba2 + < Cs+ < Se2 − < As3 −

https://dl.doubtnut.com/l/_wx69gUG7ELbj
https://dl.doubtnut.com/l/_XWPx0ORAzeH5


Answer: D

Watch Video Solution

48. The correct order of atomic/ionic radiii is:

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Sc > Ti > V > Cr

Co > Ni > Cu > Zn

S2 − > Cl− > O2 − > N 3 −

49. The radius of which is closest to that of the  ions?

A. 

Li+

Na+

https://dl.doubtnut.com/l/_XWPx0ORAzeH5
https://dl.doubtnut.com/l/_BeUAmSXhwIwO
https://dl.doubtnut.com/l/_XYCKykqKFMYR


B. 

C. 

D. 

Answer: C

Watch Video Solution

Be2 +

Mg2 +

Al3 +

50. The first, second and third ionization energies  for an

element are 7eV, 12.5 eV and 42.5 eV respectively. The most stable

oxidation state of the element will be:

A. 

B. 

C. 

D. 

Answer: D

(E1, E2&E3)

+1

+4

+3

+2

https://dl.doubtnut.com/l/_XYCKykqKFMYR
https://dl.doubtnut.com/l/_jFbBvO2LEyip


Watch Video Solution

51. Element having highest I.P. value is:

A. Ne

B. He

C. Be

D. N

Answer: B

Watch Video Solution

52. The order of ionisation potential between  io and H-atom (both

species are in gaseous) is:

A. I.P. 

B. I.P. I.P. (H)

He+

(He+ ) = I. P . (H)

(He+ ) <

https://dl.doubtnut.com/l/_jFbBvO2LEyip
https://dl.doubtnut.com/l/_knP1OZ6mYlam
https://dl.doubtnut.com/l/_uFWKQEhiDtkF


C. 

D. cannot be compared

Answer: C

Watch Video Solution

I. P . (He+ ) > I. P . (H)

53. Which of the following metal is expected to have the highest third

ionsation enthalpy?

A. Cr (Z=24)

B. V (Z=23)

C. Mn (Z=25)

D. Fe(Z=26)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uFWKQEhiDtkF
https://dl.doubtnut.com/l/_62RWNmXtbza0
https://dl.doubtnut.com/l/_VBfHT4CC3rwC


54. Second ionisation potential of  is in the order:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li, Be, B

Li > Be > B

Li > B > Be

Be > Li > B

B > Be > Li

55. The ionization energy of boron is less than that of beryllium because:

A. Beryllium has a higher nuclear charge than boron

B. beryllium has a lower nuclear charge than boron

C. the outermost electron in borom occupies a 2p-orbital

D. the 2s and 2p-orbitals of boron are degenerate

https://dl.doubtnut.com/l/_VBfHT4CC3rwC
https://dl.doubtnut.com/l/_xMjEp7BTsXZf


Answer: C

Watch Video Solution

56. The first four I.E. values of an element are 284, 412, 656 and 3210 kJ

. The number of valence electrons in the element are:

A. one

B. two

C. three

D. four

Answer: C

Watch Video Solution

mol− 1

57. The first ionization enthalpies of Na,Mg,Al and Si are in the order

https://dl.doubtnut.com/l/_xMjEp7BTsXZf
https://dl.doubtnut.com/l/_OXsQbEz1Qr4e
https://dl.doubtnut.com/l/_m3INAR4NxilE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na < Mg < Al < Si

Na < Al < Mg < Si

Na < Al < Si < Mg

Na > Mg > Al > Si

58. The ionisation energy will be higher when the electron is removed

from:

A. s-orbital

B. p-orbital

C. d-orbital

D. f-orbital

Answer: A

https://dl.doubtnut.com/l/_m3INAR4NxilE
https://dl.doubtnut.com/l/_MYWX2HqAElFV


Watch Video Solution

59. Which of the following isoelectronic ions has the lowest ionization

energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K +

Cl−

Ca2 +

S2 −

60. In the following, the element with the highest ionization energy is

A. 

B. 

[Ne]3s23p1

[Ne]3s23p3

https://dl.doubtnut.com/l/_MYWX2HqAElFV
https://dl.doubtnut.com/l/_6za4RaaiDTvf
https://dl.doubtnut.com/l/_pC85rkGU4czJ


C. 

D. 

Answer: B

Watch Video Solution

[Ne]3s23p2

[Ar]3d104s24p3

61. The ionisation potentials of Li and K are 5.4 and 4.3 eV respectively.

The ionization potential of Na will be:

A. 9.7 eV

B. 1.1 eV

C. 4.9 eV

D. cannot be calculated

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pC85rkGU4czJ
https://dl.doubtnut.com/l/_FD3GnrsUsh0v
https://dl.doubtnut.com/l/_xlBeoZR8zQI5


62. Which of the following configuration is associated with biggest jump

between 2nd and 3rd IE?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s22s22p2

1s22s22p63s1

1s22s22p63s2

1s22s22p1

63. The second ionization energy is maximum for:

A. Boron

B. beryllium has a lower nuclear charge than boron

C. magnesium

D. aluminium

https://dl.doubtnut.com/l/_xlBeoZR8zQI5
https://dl.doubtnut.com/l/_EFXO3QrCRq1l


Answer: A

Watch Video Solution

64. A large difference between the fourth and fifth ionization energies

indicates the presence of:

A. 5 valence electrons in an atom

B. 6 valence electrons in an atom

C. 4 valence electrons in an atom

D. 8 valence electrons in an atom

Answer: C

Watch Video Solution

65. For which of the following reaction  vlaue is equal to the first

ionization energy of Ca is?

ΔH ∘

https://dl.doubtnut.com/l/_EFXO3QrCRq1l
https://dl.doubtnut.com/l/_6nIIcpBYwDH7
https://dl.doubtnut.com/l/_nLcBXyGSf72M


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ca+ (g) → Ca2 + (g) + e

Ca(g) → Ca+ (g) + e

Ca(s) → Ca+ (g) + e

Ca(g) → Ca2 + (g) + 2e

66. Ionization enthalpy of an atom is equal to

A. electron gain enthalpy of the cation

B. electronegativity of the ion

C. ionization enthalpy of the cation

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nLcBXyGSf72M
https://dl.doubtnut.com/l/_4h7ZGrSjtilH


67. From the ground state, electronic configuration of the elements given

below, pick up the one with highest value of second ionization energy:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p63s2

1s22s22p63s1

1s22s22p6

1s22s22p5

68. An element has successive ionization enthalpies as 940

(first),2080,3090,4140,7030,7870,16000 and 19500 kJ . To which

group of the periodic table does this element belong?

A. 14

mol− 1

https://dl.doubtnut.com/l/_4h7ZGrSjtilH
https://dl.doubtnut.com/l/_CF7FLIBRhT8Y
https://dl.doubtnut.com/l/_dvSuIdQLtVdE


B. 15

C. 16

D. 17

Answer: C

Watch Video Solution

69. The second ionization potential of elements is invariable higher than

first ionization potential because:

A. The size of cation is smaller than its atom

B. it is easier to remove electron from cation

C. ionization is an endothermic process

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dvSuIdQLtVdE
https://dl.doubtnut.com/l/_3awTks9kDfQ6


70. The first, second and third ionization energies  for an

element are 7eV, 12.5 eV and 42.5 eV respectively. The most stable

oxidation state of the element will be:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(E1, E2&E3)

+1

+4

+3

+2

71. Which of the following electronic configuration represents a sudden

large gap between the values of second and third ionisation energies of

an element?

https://dl.doubtnut.com/l/_3awTks9kDfQ6
https://dl.doubtnut.com/l/_AQpO9g0f9IZU
https://dl.doubtnut.com/l/_fy4KdhGADY6J


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s2, 2s22p3

1s2, 2s22p6, 3s23p3

1s2, 2s22p6, 3s23p1

1s2, 2s22p6, 3s2

72. Element having highest I.P. value is:

A. Ne

B. He

C. Be

D. N

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fy4KdhGADY6J
https://dl.doubtnut.com/l/_vzwE69znFjFJ


73. Which of the following atomic species has mximum ionisation energy:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O−

S −

Se−

Te−

74. The correct order of I. . Is:

A. NegtFgtOgtN

B. OgtFgtNegtN

C. NegtOgtFgtN

E2

https://dl.doubtnut.com/l/_vzwE69znFjFJ
https://dl.doubtnut.com/l/_ikoUC5SI0g37
https://dl.doubtnut.com/l/_L3jMPsEZB38V


D. OgtNegtFgtN

Answer: C

Watch Video Solution

75. Which of the following transformation least energy is required?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −
( g )

→ F ( g ) + e−

P −
( g )

→ P ( g ) + e−

S −
( g )

→ S ( g ) + e−

Cl−
( g )

→ Cl ( g ) + e−

https://dl.doubtnut.com/l/_L3jMPsEZB38V
https://dl.doubtnut.com/l/_7sfRI8TqC3nz


76. The amount of energy which is released due to addition of ectra

electron to the outermost orbit of gaseous atom is called

A. ionization enthalpy

B. Hydration enthalpy

C. Electronegativity

D. electron gain enthalpy

Answer: D

Watch Video Solution

77. To which the following atom, the attachment of electron is most

difficult ?

A. Radon

B. Nitrogen

C. Oxygen

https://dl.doubtnut.com/l/_QcGJ2EqsR9zE
https://dl.doubtnut.com/l/_SDJqdpeQSW7m


D. Radius

Answer: A

Watch Video Solution

78. Which of the following processes involves absorption of energy?

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

S(g) + e− → S − (g)

S − + e− → S2 − (g)

Cl(g) + e− → Cl− (g)

79. Arrange N, O and S in order of decreasing electron affinity:

https://dl.doubtnut.com/l/_SDJqdpeQSW7m
https://dl.doubtnut.com/l/_yCYXtDAd9djs
https://dl.doubtnut.com/l/_Gq5bHGjLl2sH


A. SgtOgtN

B. OgtSgtN

C. NgtOgtS

D. SgtNgtO

Answer: A

Watch Video Solution

80. Among the following configurations, the element which has the

highest electron affinity is:

A. 

B. 

C. 

D. 

Answer: B

[Ne]3s13p2

[Ne]3s23p5

[Ne]3s23p4

[Ne]3s23p63d54s1

https://dl.doubtnut.com/l/_Gq5bHGjLl2sH
https://dl.doubtnut.com/l/_JkVfcNdZFE3a


Watch Video Solution

81. Which of the following electronic configurations has the lowest value

of ionisation energy? Explain. 

a.  


b.  


c. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s22s22p6

1s22s22p5

1s22s22p63s1

II < IV < III < I

I < II < III < IV

I < III < II < IV

IV < III < II < I

https://dl.doubtnut.com/l/_JkVfcNdZFE3a
https://dl.doubtnut.com/l/_SUxt8UZUaEoA


82. Why is the second electron gain enthalpy negative (i.e. energy is

absorbed)?

A. is always negative

B. is always positive

C. can be positive or negative

D. is always zero

Answer: B

Watch Video Solution

83. The element having very high ionization enthalpy but zero electron

affinity is :-

A. H

B. F

C. He

https://dl.doubtnut.com/l/_mB46EeUn59AO
https://dl.doubtnut.com/l/_NA4lZk2Zbz5q


D. Be

Answer: C

Watch Video Solution

84. Which of the following represents correct order of electron affinity?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl > F > S > O

F > O > S > Cl

F > Cl > S > O

Cl > S > O > F

85. The process requiring absorption of energy is:

https://dl.doubtnut.com/l/_NA4lZk2Zbz5q
https://dl.doubtnut.com/l/_AAwcqfmVdQIc
https://dl.doubtnut.com/l/_jGS7djOJbMOM


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N → N −

F → F −

Cl → Cl−

H → H −

86. The electronegativity of the following elements increases in the order:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C < N < Si < P

Si < P < C < N

N < C < P < Si

C < Si < N < P

https://dl.doubtnut.com/l/_jGS7djOJbMOM
https://dl.doubtnut.com/l/_GuPCoS5bV3JL


87. Which of the following order is incorrect?

A. Electronegativity of central atom: 

B. Hydration energy: 

C. Electrical conductance: 

D. Magnetic moment: 

Answer: C

Watch Video Solution

CF4 > CH4 > SiH4

Al3 + > Be2 + > Mg2 + > Na+

F −
( aq )

> Cl−
( aq )

> S2 −
( aq )

Ni4 + > V 3 + > Sr2 +

88. Correct expression of "allred and Rochow's " scale is :

A. electronegativity

B. Electronegativity 

C. Electronegativity

= 0.744 + 0.359
Zeff

r2

= 0.359 + 0.744
r2

Zeff

= 0.359 + 0.744
Zeff

r

https://dl.doubtnut.com/l/_GuPCoS5bV3JL
https://dl.doubtnut.com/l/_1sdLD8TADlOP
https://dl.doubtnut.com/l/_qHhPpQorc8tY


D. Electronegativity=

Answer: D

Watch Video Solution

0.359 + 0.744
Zeff

r2

89. The hydration energy of  ions is lesser than that of:

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Mg2 +

Al3 +

Ba2 +

Na

90. Among the following, which the maximum hydration energy?

https://dl.doubtnut.com/l/_qHhPpQorc8tY
https://dl.doubtnut.com/l/_ph9yRVtKqr9L
https://dl.doubtnut.com/l/_0IWFeUVM65mH


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

OH −

NH
+

4

F −

H +

91. Which of the following is arranged in order of incresing radius?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K + (aq) < Na+ (aq) < Li+ (aq)

Na+ (aq) < K + (aq) < Li+ (aq)

K + (aq) < Li+ (aq) < Na+ (aq)

Li+ (aq) < Na+ (aq) < K + (aq)

https://dl.doubtnut.com/l/_0IWFeUVM65mH
https://dl.doubtnut.com/l/_XpdCKXcSoPuh


92. Which of the following compounds has a negative enthalpy of

solution?

A. KCl

B. KBr

C. KF

D. KI

Answer: C

Watch Video Solution

93. Amongst sodium halides  NaF has

the highest melting point because of:

A. High oxidising oxidising power

B. Lowest polarity

{NaF , NaCl, NaBr and NaI),

https://dl.doubtnut.com/l/_XpdCKXcSoPuh
https://dl.doubtnut.com/l/_RPPscXCECP2G
https://dl.doubtnut.com/l/_oxHne85DmFaF


C. maximum lattice energy

D. Minimum ionic character

Answer: C

Watch Video Solution

94. Among the following oxides, which has the maximum lattice energy?

A. MgO

B. CaO

C. SrO

D. BaO

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oxHne85DmFaF
https://dl.doubtnut.com/l/_VXQLpm4rZRkb


95. Which of the following compounds has a positive enthalpy of

solution?

A. LiF

B. LiCl

C. LiBr

D. LiI

Answer: A

Watch Video Solution

96. Born-Haber cycle is used to determine

A. lattice energy of ionic crystals

B. Electron gain enthalpy

C. Electronegativity

D. Boht (a) and (b)

https://dl.doubtnut.com/l/_xhWOWXS4Kywr
https://dl.doubtnut.com/l/_S6Am0O0BL7L6


Answer: D

Watch Video Solution

97. Which of the following is different from other three oxides?

A. MgO

B. SnO

C. ZnO

D. PbO

Answer: A

Watch Video Solution

98. Select the amphoteric substance in the following:

A. SO3

https://dl.doubtnut.com/l/_S6Am0O0BL7L6
https://dl.doubtnut.com/l/_oE1tFOM0pKB9
https://dl.doubtnut.com/l/_UMOUuvuMcNm2


B. 

C. 

D. 

Answer: D

Watch Video Solution

NaOH

CO2

Al(OH)3

99. Which of the following compound is most acidic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2O7

P4O10

SO3

B2O3

https://dl.doubtnut.com/l/_UMOUuvuMcNm2
https://dl.doubtnut.com/l/_2t094WzJqhpN
https://dl.doubtnut.com/l/_Uk3nwMJfmEoo


100. Which is not similar characteristics(s) about the electronic

configuration of Be, Mg, Ca?

A. All the atojms have a pair of s-electrons in their outermost energy

level

B. all the atoms contain a pair of p-electrons in their outermost

energy level

C. All are alkaline earth metals

D. All are of second group of the periodic table

Answer: B

Watch Video Solution

101. The elements with atomic number 117 and 120 are yet to be

discovered. In which group would you plac these elements when

discovered?

https://dl.doubtnut.com/l/_Uk3nwMJfmEoo
https://dl.doubtnut.com/l/_dGxWQZYuKMDP


A. 17, 2

B. 17,4

C. 15,3

D. 18,2

Answer: A

Watch Video Solution

102. The most electropositive element possesses the electronic

configuration:

A. 

B. 

C. 

D. 

Answer: C

[He]2s1

[Ne]3s2

[Xe]6s1

[Xe]6s2

https://dl.doubtnut.com/l/_dGxWQZYuKMDP
https://dl.doubtnut.com/l/_x0ePho682ei6


Watch Video Solution

103. Which one of the following elements shows both positive and

negative oxidation states?

A. Cesium

B. Fluorine

C. Iodine

D. Xenon

Answer: C

Watch Video Solution

104. The number of elements present in fifth period is:

A. 18

B. 32

https://dl.doubtnut.com/l/_x0ePho682ei6
https://dl.doubtnut.com/l/_4nOsEjTAukvn
https://dl.doubtnut.com/l/_Fei9QEgMmzqx


C. 8

D. 24

Answer: A

Watch Video Solution

105. Which of the following arrangements shows the correct order of

decreasing paramagnetism?

A. NgtAlgtOgtCa

B. NgtOgtAlgtCa

C. OgtNgtAlgtCa

D. OgtNgtCagtAl

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Fei9QEgMmzqx
https://dl.doubtnut.com/l/_QbPB6nmXEvDM
https://dl.doubtnut.com/l/_p7hY4yV7cfMf


106. The outer electronic structure of lawrencium (atomic number 103) is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Rn5f 137s27p2

Rnf 136d17s17p2

Rn5f 147s17p1

Rn5f 146d17s2

107. The elements with the lowest atomic number that has a ground state

electronic configuratio of  is located in the:

A. fifth period

B. sixth period

C. fourth period

D. third period

(n − 1)d6ns2

https://dl.doubtnut.com/l/_p7hY4yV7cfMf
https://dl.doubtnut.com/l/_5qo9Rm0PXso2


Answer: C

Watch Video Solution

108. Which of the following sets of atomic numbers corresponds to

elements of group 16?

A. 8,16,32,54

B. 16,34,54,86

C. 8,16,34,52

D. 10,16,32,50

Answer: C

Watch Video Solution

109. The atomic numbers of the metallic and non-metallic elements which

are liquid at room temperature respectively are:

https://dl.doubtnut.com/l/_5qo9Rm0PXso2
https://dl.doubtnut.com/l/_oYGVN7hMhqzk
https://dl.doubtnut.com/l/_bErZWygywK1H


A. 55,87

B. 33,87

C. 35,80

D. 80,35

Answer: D

Watch Video Solution

110. In the periodic table, metallic chracter of the elements shows one of

the following trend:

A. Decreases downn the group and increases across the period

B. Increases down the group and decreases across the period

C. Increases across the period and also down the group

D. Decreases across the period and also down the group

Answer: B

https://dl.doubtnut.com/l/_bErZWygywK1H
https://dl.doubtnut.com/l/_DbJOhFD6cfWE


Watch Video Solution

111. Nucleus of an element contains 9 protons. It's valency would be:

A. 1

B. 2

C. 3

D. 5

Answer: A

Watch Video Solution

112. Transition metals are not characterized by:

A. Fixed valency

B. coloured compound

C. high melting and boiling points

https://dl.doubtnut.com/l/_DbJOhFD6cfWE
https://dl.doubtnut.com/l/_c4yoKh8rzMwG
https://dl.doubtnut.com/l/_teUCmijNaNZw


D. tendency to form coomplexes

Answer: A

Watch Video Solution

113. Sodium generally does not shown oxidation state +2, because of its:

A. High first ionisation potential

B. High second ionization potential

C. large ionic radius

D. high electronegativity

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_teUCmijNaNZw
https://dl.doubtnut.com/l/_8b1tj2AdNnn4


114. Which of the following pairs of molecules have the almost identical

bond dissociation energy?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F2 and H2

N2 and CO

F2 and I2

HF and O2

115. According to modern periodic law the properties of elements repeat

at regular intervals when the elements are arranged in order of:

A. decreasing atomic number

B. increasing atomic weight

C. increasing atomic number

https://dl.doubtnut.com/l/_zPL2v468Kb8e
https://dl.doubtnut.com/l/_iX1nfqWaSPMi


D. decreasing atomic weights

Answer: C

Watch Video Solution

116. Give the symbol of the elements of lowest atomic number that has

three 2p electrons:

A. Mg

B. P

C. N

D. Si

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iX1nfqWaSPMi
https://dl.doubtnut.com/l/_cL5OZrvGj6pZ


117. In the fourth period of the periodic table, how many elements have

one or more 4d electrons:

A. 2

B. 18

C. 0

D. 6

Answer: C

Watch Video Solution

118. Assuming that elements are formed to complete the seventh period,

what would be the atomic number of the alkaline earth metal of the

eighth period?

A. 113

B. 120

https://dl.doubtnut.com/l/_mCif5Rsqc8OV
https://dl.doubtnut.com/l/_lSnLmsza21f8


C. 119

D. 106

Answer: B

Watch Video Solution

119. Which of the following represents an excited state of an atom?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ne]3s23p64s23d8

[Ne]3s23p64s13d5

[Ne]3s23p64s23d1

1s22s22p53s1

https://dl.doubtnut.com/l/_lSnLmsza21f8
https://dl.doubtnut.com/l/_KCErSnczAlHV


120. Choose the correct statement regarding transition elements?

A. Transition elements has low melting points

B. transition elements do not have catalytic activity

C. Transition elements exhibit variable states

D. Transition elements exhibit inert pair effect

Answer: C

Watch Video Solution

121. Which one of the following is a different pair?

A. Li, Na

B. Be, Ba

C. N, As

D. O, At

https://dl.doubtnut.com/l/_7P5yWBDNLPfS
https://dl.doubtnut.com/l/_JnryNOsesH2f


Answer: D

Watch Video Solution

122. The element having electronic configuration

 belongs to

A. s-block

B. p-block

C. d-block

D. f-block

Answer: D

Watch Video Solution

[Kr]4d104f 145s25p65d26s2

123. Which elements is named after the name of a planet is

https://dl.doubtnut.com/l/_JnryNOsesH2f
https://dl.doubtnut.com/l/_j2TiXZSQYj0k
https://dl.doubtnut.com/l/_OajD2APdnt62


A. Hg

B. Po

C. Pu

D. Ra

Answer: C

Watch Video Solution

124. Zn and Cd metals do not show varible valency because:

A. They have only two electrons in the outermost subshells

B. Their d-subshells are completely filled

C. Their d-subshells are partially filled

D. they are relatively soft metals

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OajD2APdnt62
https://dl.doubtnut.com/l/_qgD3SQ5AG1DL


125. An element whose IUPAC name is ununtrium (Uut) belongs to:

A. s-block element

B. p-block element

C. d-block element

D. transition element

Answer: B

Watch Video Solution

126. Which of the following is not representative element?

A. Tellurium

B. Tantalum

C. Thallium

https://dl.doubtnut.com/l/_qgD3SQ5AG1DL
https://dl.doubtnut.com/l/_JxXY9nN6HDcX
https://dl.doubtnut.com/l/_L4mJI7SC7grO


D. Astatine

Answer: B

Watch Video Solution

127. The period number and group number of "Tantalum" (Z=73) are

respectively:

A. 5,7

B. 6,13

C. 6,5

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_L4mJI7SC7grO
https://dl.doubtnut.com/l/_sy5ruAi4jOZK


128. Which of the following pair of elements belong to the same period?

A. Mg and Sb

B. Ca and Zn

C. Na and Ca

D. Ca and Cl

Answer: B

Watch Video Solution

129. Consider the following electronic configuration of an element(P): 

 


Then correct statement about element 'P' is

A. It belongs to 6th period and 1st group

B. It belongs to 6th period an 2nd group

C. it belongs to 6th period and 3rd group

[Xe]4f 145d16s2

https://dl.doubtnut.com/l/_PmpPjFygwX4l
https://dl.doubtnut.com/l/_2QW9TopNWWvS


D. none of these

Answer: C

Watch Video Solution

130. Which of the following metal is highest electropositive (metallic) in

nature?

A. Be

B. Rb

C. Mn

D. Tl

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2QW9TopNWWvS
https://dl.doubtnut.com/l/_fW1m9BKJA58q


131. Which of the following species must have maximum number of

electrons in '  orbital?

A. Cr

B. 

C. 

D. Both (a) and (b)

Answer: C

Watch Video Solution

dxy'

Fe3 +

Cu+

132. which of the following graph is correct representation between

atomic number (Z) and magnetic moment of d-block elements? [outer

electronic configuration: ]

A. 

(n − 1)dxns1 or 2

https://dl.doubtnut.com/l/_RJCCaQ8dMI2H
https://dl.doubtnut.com/l/_1i1TFOgfj13w


B. 

C. 

D. 

Answer: D

Watch Video Solution

133. If IUPAC name of an element is "unununium" then correct statement

regarding element is:

A. it is inner transition element

B. it belongs to 8th period in periodic tablwit is transition element

C. it is a non-transition element

https://dl.doubtnut.com/l/_1i1TFOgfj13w
https://dl.doubtnut.com/l/_q8RF67I8TITm


D. 

Answer: C

Watch Video Solution

134. Which property decreases from left to right across the periodic table

and increases from top to bottom? 

(i) Atomic radius 

(ii) Electronegativity 

(iii) Ionisation energy 

(iv) Metallic character

A. (i) only

B. (i) , (ii) and (iii)

C. (i), (iii) and (iv)

D. (i) and (iv)

Answer: D

https://dl.doubtnut.com/l/_q8RF67I8TITm
https://dl.doubtnut.com/l/_IbEsD70bqD1w


Watch Video Solution

135. Consider the following information about element P and Q: 

 


the formula of the compound formed by P and Q element is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Period number Group number

P 2 15

Q 3 2

PQ

P3Q2

P2Q3

PQ2

136. which must represent an atom in an excited state?

https://dl.doubtnut.com/l/_IbEsD70bqD1w
https://dl.doubtnut.com/l/_aaotkOza6Hxf
https://dl.doubtnut.com/l/_A6julKiL1tEg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1s2, 2s22p1

1s2, 2s22p2

1s2, 2s22p2, 3s1

1s2, 2s22p5

137. Which of the following anion has the smallest radius?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H −

F −

Cl−

Br−

https://dl.doubtnut.com/l/_A6julKiL1tEg
https://dl.doubtnut.com/l/_qM9yAzZG6623


138. The ionic radii of ,  follow the order:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li+ Be2 + and B3 +

Be2 + > B3 + > Li+

Li+ > B3 + > Be2 +

B3 + > Be2 + > Li+

Li+ > Be2 + > B3 +

139. Largest in size out of  is:

A. 

B. 

C. 

Na+ , Ne and F −

Na+

Ne

F −

https://dl.doubtnut.com/l/_qM9yAzZG6623
https://dl.doubtnut.com/l/_rr7GxqhmOvv8
https://dl.doubtnut.com/l/_dZcz5GU0NFb8


D. all are equal

Answer: B

Watch Video Solution

140. Which of the following atom or ions has the smallest size?

A. F

B. 

C. 

D. N

Answer: A

Watch Video Solution

F −

O

https://dl.doubtnut.com/l/_dZcz5GU0NFb8
https://dl.doubtnut.com/l/_JMImTtuXLt8U


141. The single covalent radius of P is 0.11 nm. The single covalent radius

of Cl will be:

A. smaller than P

B. greater than P

C. same as P

D. of P

Answer: A

Watch Video Solution

142. Which of the following is arranged in decreasing order of size?

A. 

B. 

C. 

D. 

Mg2 + > Al3 + > O2 −

O2 − > Mg2 + > Al3 +

Al3 + > Mg2 + > O−

Al3 + > O2 − > Mg2 +

https://dl.doubtnut.com/l/_xV54NKYIs2tz
https://dl.doubtnut.com/l/_jhdOtyLeWuqq


Answer: B

Watch Video Solution

143. The correct order of increasing atomic radius of the following

elements as:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S < O < Se < C

O < C < S < Se

O < S < Se < C

C < O < S < Se

144. The correct order of increasing radius of the elements Si, Al, Na and P

is:

https://dl.doubtnut.com/l/_jhdOtyLeWuqq
https://dl.doubtnut.com/l/_TbvSRoxwtxWJ
https://dl.doubtnut.com/l/_sDMEWfSppAS3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Si < Al < P < Na

P < Si < Al < Na

Al < Si < P < Na

Al < P < Si < Na

145. The size of the species,  decreases as:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Pb, Pb2 + , Pb4 +

Pb4 + > Pb2 + > Pb

Pb > Pb2 + > Pb4 +

Pb > Pb4 + > Pb2 +

Pb4 + > Pb > Pb2 +

https://dl.doubtnut.com/l/_sDMEWfSppAS3
https://dl.doubtnut.com/l/_M0cpPskqpInJ


146. Incorrect order of radius is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sr2 + < Rb+ < Br− < Se2 −

Nb5 + < Zr4 + < Y 3 +

Co > Co2 + > Co3 + > Co4 +

Ba2 + < Cs+ < Se2 − < As3 −

147. The correct order of atomic/ionic radiii is:

A. 

B. 

C. 

Sc > Ti > V > Cr

Co > Ni > Cu > Zn

S2 − > Cl− > O2 − > N 3 −

https://dl.doubtnut.com/l/_M0cpPskqpInJ
https://dl.doubtnut.com/l/_iz0WsY1VUyPM
https://dl.doubtnut.com/l/_N9AupiLMYAuQ


D. none of these

Answer: A

Watch Video Solution

148. The radius of the which ion is closest to that of  ion?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Li+

Na+

Be2 +

Mg2 +

Al3 +

https://dl.doubtnut.com/l/_N9AupiLMYAuQ
https://dl.doubtnut.com/l/_oEKM6eO5hXLm


149. The first, second and third ionisation energies  for

an element are 7 eV, 12.5 eV and 42.5 eV respectively. The most stable

oxidation state of the element will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(E1, E2 and E3)

+1

+4

+3

+2

150. Element having highest I.P. value is:

A. Ne

B. He

C. Be

https://dl.doubtnut.com/l/_dwn8kdb0dmdm
https://dl.doubtnut.com/l/_YcIfqhWNAcaB


D. N

Answer: B

Watch Video Solution

151. The order of ionisation potential between  io and H-atom (both

species are in gaseous) is:

A. I.P. 

B. I.P. I.P. (H)

C. 

D. cannot be compared

Answer: C

Watch Video Solution

He+

(He+ ) = I. P . (H)

(He+ ) <

I. P . (He+ ) > I. P . (H)

https://dl.doubtnut.com/l/_YcIfqhWNAcaB
https://dl.doubtnut.com/l/_0aTDUv0KzbPX


152. Which of the following metal is expected to have the highest third

ionisation enthalpy?

A. Cr (Z=24)

B. V (Z=23)

C. Mn (Z=25)

D. Fe(Z=26)

Answer: C

Watch Video Solution

153. Second ionisation potential of Li, Be and B is in the order:

A. 

B. 

C. 

D. 

Li > Be > B

Li > B > Be

Be > Li > B

B > Be > Li

https://dl.doubtnut.com/l/_5oAJxHyYartO
https://dl.doubtnut.com/l/_ktJW9QMaRdIW


Answer: B

Watch Video Solution

154. The ionization energy of boron is less than that of beryllium because:

A. Beryllium has a higher nuclear charge than boron

B. beryllium has a lower nuclear charge than boron

C. the outermost electron in borom occupies a 2p-orbital

D. the 2s and 2p-orbitals of boron are degenerate

Answer: C

Watch Video Solution

155. The first four I.E. values of an element are 284, 412, 656 and 3210 kJ

. The number of valence electrons in the element are:mol− 1

https://dl.doubtnut.com/l/_ktJW9QMaRdIW
https://dl.doubtnut.com/l/_RA66r29fxAFh
https://dl.doubtnut.com/l/_Q5Zk4TtsAn2c


A. one

B. two

C. three

D. four

Answer: C

Watch Video Solution

156. The first I.E. of Na, Mg, Al and Si are in the order

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na < Mg < Al < Si

Na < Al < Mg < Si

Na < Al < Si < Mg

Na > Mg > Al > Si

https://dl.doubtnut.com/l/_Q5Zk4TtsAn2c
https://dl.doubtnut.com/l/_SrdRY1TcdKBN


157. The ionisation energy will be higher when the electron is removed

from:

A. s-orbital

B. p-orbital

C. d-orbital

D. f-orbital

Answer: A

Watch Video Solution

158. Which of the following isoelectronic ion has the lowest ionisation

energy?

A. 

B. 

K +

Cl−

https://dl.doubtnut.com/l/_SrdRY1TcdKBN
https://dl.doubtnut.com/l/_d0ErFp5RlIfZ
https://dl.doubtnut.com/l/_zuxgY5LJyvwr


C. 

D. 

Answer: D

Watch Video Solution

Ca2 +

S2 −

159. Amongst the following elements, the highest ionization energy is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Ne]3s23p1

[Ne]3s23p3

[Ne]3s23p2

[Ar]3d104s24p3

https://dl.doubtnut.com/l/_zuxgY5LJyvwr
https://dl.doubtnut.com/l/_OOwcVB9BzId0


160. The ionisation potentials of Li and K are 5.4 and 4.3 eV respectively.

The ionization potential of Na will be:

A. 9.7 eV

B. 1.1 eV

C. 4.9 eV

D. cannot be calculated

Answer: C

Watch Video Solution

161. Which of the following electronic configuration is associated with the

biggest jump between the second and third ionization energies?

A. 

B. 

C. 

1s22s22p2

1s22s22p63s1

1s22s22p63s2

https://dl.doubtnut.com/l/_Q6RdGn49ORAc
https://dl.doubtnut.com/l/_gvbnT5R9V818


D. 

Answer: C

Watch Video Solution

1s22s22p1

162. The second ionization energy is maximum for:

A. Boron

B. beryllium has a lower nuclear charge than boron

C. magnesium

D. aluminium

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gvbnT5R9V818
https://dl.doubtnut.com/l/_g1NE40tQblHq


163. A large difference between the fourth and fifth ionization energies

indicates the presence of:

A. 5 valence electrons in an atom

B. 6 valence electrons in an atom

C. 4 valence electrons in an atom

D. 8 valence electrons in an atom

Answer: C

Watch Video Solution

164. For which of the following reaction  vlaue is equal to the first

ionization energy of Ca is?

A. 

B. 

C. 

ΔH ∘

Ca+ (g) → Ca2 + (g) + e

Ca(g) → Ca+ (g) + e

Ca(s) → Ca+ (g) + e

https://dl.doubtnut.com/l/_exJN9PYecMl2
https://dl.doubtnut.com/l/_6CqXgmAGi3Kj


D. 

Answer: B

Watch Video Solution

Ca(g) → Ca2 + (g) + 2e

165. Ionization enthalpy of an atom is equal to

A. electron gain enthalpy of the cation

B. electronegativity of the ion

C. ionization enthalpy of the cation

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6CqXgmAGi3Kj
https://dl.doubtnut.com/l/_O0i0vfwuawuE


166. From the ground state electronic configurartion of the elements

given below, pick up the one with highest value of second ionization

energy:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p63s2

1s22s22p63s1

1s22s22p6

1s22s22p5

167. An element has successive ionization enthalpies as 940

(first),2080,3090,4140,7030,7870,16000 and 19500 kJ . To which

group of the periodic table does this element belong?

A. 14

mol− 1

https://dl.doubtnut.com/l/_hdDAg9DtluBN
https://dl.doubtnut.com/l/_vrmzr5LQK4eU


B. 15

C. 16

D. 17

Answer: C

Watch Video Solution

168. The second ionization potential of elements is invariably higher than

first ionization potential because:

A. The size of cation is smaller than its atom

B. it is easier to remove electron from cation

C. ionization is an endothermic process

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vrmzr5LQK4eU
https://dl.doubtnut.com/l/_LWUnpJfSKumj


169. The first, second and third ionisation energies  for

an element are 7 eV, 12.5 eV and 42.5 eV respectively. The most stable

oxidation state of the element will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(E1, E2 and E3)

+1

+4

+3

+2

170. Which of the following electronic configuration represents a sudden

large gap between the values of second and third ionisation energies of

an element?

https://dl.doubtnut.com/l/_LWUnpJfSKumj
https://dl.doubtnut.com/l/_8xCdbdHwSaGf
https://dl.doubtnut.com/l/_6q0XEMDVEMAf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s2, 2s22p3

1s2, 2s22p6, 3s23p3

1s2, 2s22p6, 3s23p1

1s2, 2s22p6, 3s2

171. Element having highest I.P. value is:

A. Ne

B. He

C. Be

D. N

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6q0XEMDVEMAf
https://dl.doubtnut.com/l/_9JKe8mwwNK8Z


172. Which of the following atomic species has mximum ionisation

energy:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O−

S −

Se−

Te−

173. The correct order of I. . Is:

A. NAgtFgtOgtN

B. OgtFgtNegtN

C. NegtOgtFgtN

E2

https://dl.doubtnut.com/l/_9JKe8mwwNK8Z
https://dl.doubtnut.com/l/_rpwcG9Sb5hZN
https://dl.doubtnut.com/l/_GJyBTf4LNrGt


D. OgtNegtFgtN

Answer: C

Watch Video Solution

174. Which of the following transformation least energy is required?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −
( g )

→ F ( g ) + e−

P −
( g )

→ P ( g ) + e−

S −
( g )

→ S ( g ) + e−

Cl−
( g )

→ Cl ( g ) + e−

https://dl.doubtnut.com/l/_GJyBTf4LNrGt
https://dl.doubtnut.com/l/_NLXARF4hWlOo


175. The amount of energy which is released due to addition of ectra

electron to the outermost orbit of gaseous atom is called

A. ionization enthalpy

B. Hydration enthalpy

C. Electronegativity

D. electron gain enthalpy

Answer: D

Watch Video Solution

176. To which the following atom, the attachment of electron is most

difficult ?

A. Radon

B. Nitrogen

C. Oxygen

https://dl.doubtnut.com/l/_PJ4sLKDCw8PK
https://dl.doubtnut.com/l/_g1QP5d0Z8lyr


D. Radius

Answer: A

Watch Video Solution

177. Which of the following processes involves absorption of energy?

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

S(g) + e− → S − (g)

S − + e− → S2 − (g)

Cl(g) + e− → Cl− (g)

178. Arrange N, O and S in order of decreasing electron affinity:

https://dl.doubtnut.com/l/_g1QP5d0Z8lyr
https://dl.doubtnut.com/l/_suSrShq8Hl4h
https://dl.doubtnut.com/l/_gbFbPq3FiacN


A. SgtOgtN

B. OgtSgtN

C. NgtOgtS

D. SgtNgtO

Answer: A

Watch Video Solution

179. Among the following configurations, the element which has the

highest electron affinity is:

A. 

B. 

C. 

D. 

Answer: B

[Ne]3s13p2

[Ne]3s23p5

[Ne]3s23p4

[Ne]3s23p63d54s1

https://dl.doubtnut.com/l/_gbFbPq3FiacN
https://dl.doubtnut.com/l/_WyWz7y39Sgts


Watch Video Solution

180. The increasing order of electron affinity of the electronic

configuration of element is : 

(I)  


(II)  


(III)  


(I) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1s22s22p63s23p5

1s22s22p3

1s22s22p5

1s22s22p63s1

II < IV < III < I

I < II < III < IV

I < III < II < IV

IV < III < II < I

https://dl.doubtnut.com/l/_WyWz7y39Sgts
https://dl.doubtnut.com/l/_eapkZfiOWx8Q


181. Assertion: Second E.A. for halogens is almost zero. 

Reason: Fluorine has maximum value of electron affinity.

A. is always negative

B. is always positive

C. can be positive or negative

D. is always zero

Answer: B

Watch Video Solution

182. The element having very high ionization enthalpy but zero electron

affinity is:

A. H

B. F

C. He

https://dl.doubtnut.com/l/_vbJRLzhnBOSu
https://dl.doubtnut.com/l/_AEs1Jmwnrjry


D. Be

Answer: C

Watch Video Solution

183. Which of the following represents correct order of electron affinity?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl > F > S > O

F > O > S > Cl

F > Cl > S > O

Cl > S > O > F

184. The process requiring absorption of energy is:

https://dl.doubtnut.com/l/_AEs1Jmwnrjry
https://dl.doubtnut.com/l/_o6EyFYqLyhnH
https://dl.doubtnut.com/l/_Ez1OqQrtyY3z


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N → N −

F → F −

Cl → Cl−

H → H −

185. The electronegativity of the following elements increases in the

order:

A. 

B. 

C. 

D. 

Answer: B

C < N < Si < P

Si < P < C < N

N < C < P < Si

C < Si < N < P

https://dl.doubtnut.com/l/_Ez1OqQrtyY3z
https://dl.doubtnut.com/l/_7Nspz4CC6bKP


Watch Video Solution

186. Which of the following order is incorrect?

A. Electronegativity of central atom: 

B. Hydration energy: 

C. Electrical conductance: 

D. Magnetic moment: 

Answer: C

Watch Video Solution

CF4 > CH4 > SiH4

Al3 + > Be2 + > Mg2 + > Na+

F −
( aq )

> Cl−
( aq )

> S2 −
( aq )

Ni4 + > V 3 + > Sr2 +

187. Correct expression of "allred and Rochow's " scale is :

A. electronegativity

B. Electronegativity 

C. Electronegativity

= 0.744 + 0.359
Zeff

r2

= 0.359 + 0.744
r2

Zeff

= 0.359 + 0.744
Zeff

r

https://dl.doubtnut.com/l/_7Nspz4CC6bKP
https://dl.doubtnut.com/l/_V9RIgk81hDu2
https://dl.doubtnut.com/l/_B8QnTwiyn4LE


D. Electronegativity=

Answer: D

Watch Video Solution

0.359 + 0.744
Zeff

r2

188. The hydration energy of  ions is lesser than that of:

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Mg2 +

Al3 +

Ba2 +

Na

189. Among the following, which the maximum hydration energy?

https://dl.doubtnut.com/l/_B8QnTwiyn4LE
https://dl.doubtnut.com/l/_7TKkpjZTnvYW
https://dl.doubtnut.com/l/_JeFvEhX7QhoS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

OH −

NH
+

4

F −

H +

190. Which of the following is arranged in order of incresing radius?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K + (aq) < Na+ (aq) < Li+ (aq)

Na+ (aq) < K + (aq) < Li+ (aq)

K + (aq) < Li+ (aq) < Na+ (aq)

Li+ (aq) < Na+ (aq) < K + (aq)

https://dl.doubtnut.com/l/_JeFvEhX7QhoS
https://dl.doubtnut.com/l/_fNzsuUrZKLr0


191. Which of the following compounds has a negative enthalpy of

solution?

A. KCl

B. KBr

C. KF

D. KI

Answer: C

Watch Video Solution

192. Amongst sodium halides  NaF has

the highest melting point because of:

A. High oxidising oxidising power

B. Lowest polarity

{NaF , NaCl, NaBr and NaI),

https://dl.doubtnut.com/l/_fNzsuUrZKLr0
https://dl.doubtnut.com/l/_TLppn0J2Cqum
https://dl.doubtnut.com/l/_gmln3ldoJJJ3


C. maximum lattice energy

D. Minimum ionic character

Answer: C

Watch Video Solution

193. Among the following oxides, which has the maximum lattice energy?

A. MgO

B. CaO

C. SrO

D. BaO

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gmln3ldoJJJ3
https://dl.doubtnut.com/l/_BaWrP4kigk5w


194. Which of the following compounds has a positive enthalpy of

solution?

A. LiF

B. LiCl

C. LiBr

D. LiI

Answer: A

Watch Video Solution

195. Born-Haber cycle can be used to estimate:

A. lattice energy of ionic crystals

B. Electron gain enthalpy

C. Electronegativity

D. Boht (a) and (b)

https://dl.doubtnut.com/l/_1FpPDskYpSIc
https://dl.doubtnut.com/l/_v4LZeqlU7Hjd


Answer: D

Watch Video Solution

196. Which of the following is different from other three oxides?

A. MgO

B. SnO

C. ZnO

D. PbO

Answer: A

Watch Video Solution

197. Select the amphoteric substance in the following:

A. SO3

https://dl.doubtnut.com/l/_v4LZeqlU7Hjd
https://dl.doubtnut.com/l/_YRVu5wsbSgLJ
https://dl.doubtnut.com/l/_0xlm7hlHigdN


B. 

C. 

D. 

Answer: D

Watch Video Solution

NaOH

CO2

Al(OH)3

198. Which of the following compound is most acidic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2O7

P4O10

SO3

B2O3

https://dl.doubtnut.com/l/_0xlm7hlHigdN
https://dl.doubtnut.com/l/_9Al6xz6uo0n9


Level 2

1. A compound contains atom A, B and C . The oxidation number of A is +2,

of B is +5 and C is -2. The possible formula of the compound is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A3(B4C)2

A3(BC4)2

A2(BC3)2

ABC2

2. Consider the following four elements, which are represented according

to long form of periodic table 

https://dl.doubtnut.com/l/_uZhh9kdu5Q78
https://dl.doubtnut.com/l/_3jyKPGRrQQTB


 


Here W, Y and Z left, up and right elements with respect to the element 'X'

and 'X' belongs to  group and  period. Then according to given

information the incorrect to given information the incorrect statement

regarding given elements is

A. Maximum electronegativity: Y

B. Maximum catenation property:X

C. Maximum electron affinity: Z

D. Y exhibits variable covalency

Answer: D

Watch Video Solution

16th 3rd

https://dl.doubtnut.com/l/_3jyKPGRrQQTB
https://dl.doubtnut.com/l/_Gjs4vGb0K9pC


3. Which of the following sequence contains atomic number of only

representative elements ?

A. 55,12,48,53

B. 13,33,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: C

Watch Video Solution

4. The ground state electronic configuration of the elements, U, V, W, X,

and Y (these symbols do not have any chemical significance) are as

follows: 

 


 


 


U   1s22s22p3

V    1s22s22p63s1

W    1s22s22p63s23p2

https://dl.doubtnut.com/l/_Gjs4vGb0K9pC
https://dl.doubtnut.com/l/_opOhmomUVvOg


 


 


Determine which sequence of elements satisfy the following statement: 

(i) element forms a carbonate which is not decomposed by heating 

(ii) Element is most likely to form coloured ionic compound 

(iii) element has largest atomic radius 

(iv) element forms only acidic oxide

A. V W Y U

B. V X Y W

C. V W Y X

D. V X W U

Answer: B

Watch Video Solution

X    1s22s22p63s23p63d54s2

Y    1s22s22p63s23p63d104s24p6

5. When magnesium burns in air, compounds of magnesium formed are

magnesium oxide and:

https://dl.doubtnut.com/l/_opOhmomUVvOg
https://dl.doubtnut.com/l/_nZLjKCtGNT5L


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg3N2

MgCO3

Mg(NO3)2

MgSO4

6. Which of the following ions is most unlikely to exist?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li−

Be−

B−

F −

https://dl.doubtnut.com/l/_nZLjKCtGNT5L
https://dl.doubtnut.com/l/_3iN0shulYc4y


7. A,B and C are oxides of elements X,Y and Z respectively. X,Y and Z are in

the same period of the periodic table. A gives an aqueous solution which

turns blue litmus red. B reacts with both strong acids and strong alkalies.

C gives an aqueous solution which is strongly alkaline. Which of the

following statement is/are true ? 

(P) All the three elements are metals. 

(Q) The electronegativites decreases from X to Y to Z. 

(R) The atomic radius increases in the order . 


(S) X,Y and Z could be phosphorus, aluminium and sodium respectively.

A. I, II, III only correct

B. I, III only correct

C. II, IV only correct

D. II, III, IV only correct

Answer: C

Watch Video Solution

X < Y < Z

https://dl.doubtnut.com/l/_3iN0shulYc4y
https://dl.doubtnut.com/l/_jcFA2Gb5ZgyF


8. Lanthanum is

A. s-block elements

B. p-block elements

C. d-block elements

D. f-block elements

Answer: C

Watch Video Solution

9. If the aufbau principle had not been followed, Ca (Z=20) would have

been placed in the:

A. s-block

B. p-block

C. d-block

https://dl.doubtnut.com/l/_jcFA2Gb5ZgyF
https://dl.doubtnut.com/l/_VwiofB8EQFSg
https://dl.doubtnut.com/l/_7Za8BMOs8yKF


D. f-block

Answer: C

Watch Video Solution

10. What is the atomic number of the element with the maximum number

of unpaired 4p electron.

A. 33

B. 26

C. 23

D. 15

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7Za8BMOs8yKF
https://dl.doubtnut.com/l/_hcb1TXqIpdgu


11. The electronic configuration of four elements are: 

(I)  


(II)  


(III)  


(IV)  


Consider the following statements: 

(I I shows variable oxidation state 

(ii) II is a d-block element 

(iii) The compound formed between I and III is covalent 

(iv) IV shows single oxidation state 

which statement is true (T) or false (F)?

A. FTFF

B. FTFT

C. FFTF

D. FFFF

Answer: D

[Kr]5s1

[Rn]5f 146d17s2

[Ar]3d104s24p5

[Ar]3d64s2

https://dl.doubtnut.com/l/_Wq3EH1jZvTIE


Watch Video Solution

12. If period number and grou number of any representative element(s)

are same then which of the following statement is incorrect regarding

such type element(s) in their ground state? (period number and group

number are according to modern form of periodic table)

A. The possible value of principan quantum number is 2

B. The possible value of azimuthal quantum number is zero

C. The possible value of magnetic quantum number is 1

D. the species could be paramagnetic

Answer: C

Watch Video Solution

13. How do the energy gaps between successive electron energy levels in

an atom vary from low to high n values?

https://dl.doubtnut.com/l/_Wq3EH1jZvTIE
https://dl.doubtnut.com/l/_0iPZrJAxgXzE
https://dl.doubtnut.com/l/_k2uW8srRGJEj


A. All energy gaps are the same

B. The energy gap decreases as n increases

C. The energ gap increases as n increases

D. the energy gap changes unpredictable as n increases

Answer: B

Watch Video Solution

14. Properties of the alkaline earth metals that increase from Be to Ba

include which of the following? 

(i) Atomic radius (ii) Ionization energy 

(iii) Nuclear charge

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

D. (i), (ii) and (iii)

https://dl.doubtnut.com/l/_k2uW8srRGJEj
https://dl.doubtnut.com/l/_VhaVBwze3Z9Q


Answer: B

Watch Video Solution

15. which of the following is the incorrect match for atom of element?

A.  group

B.  group

C.  period, 3th group

D. 6th period, 4th group

Answer: A::B

Watch Video Solution

[Ar]3d54s2 → 4thperiod, 6th

[Kr]4d10 → 5th  period, 12th

[Rn]6d17s2 → 7th

[Xe]4f 145d26s2 →

16. The set representing the correct order of ionic radius is :
 a)


 b)


 c)

Na+ > Mg2 + > Al3 + > Be2 + > Li+

Na+ > Li+ > Mg2 + > Al3 + > Be2 +

https://dl.doubtnut.com/l/_VhaVBwze3Z9Q
https://dl.doubtnut.com/l/_lLb5K3657CPg
https://dl.doubtnut.com/l/_13A57KO4w4gx



 d)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+ > Mg2 + > Al3 + > Li+ > Be2 +

Na+ > Mg2 + > Li+ > Be2 + > Al3 +

Na+ > Mg2 + > Al3 + > Li+ > Be2 +

Na+ > Li+ > Mg2 + > Al3 + > Be2 +

Na+ > Mg2 + > Li+ > Al3 + > Be2 +

Na+ > Mg2 + > Li+ > Be2 +

17. In which of the following pair, both the species are isoelectronic but

the first one is large in size than the second?

A. 

B. 

C. 

S2 − , O2 −

Cl2 − , S2 −

F − , Na+

https://dl.doubtnut.com/l/_13A57KO4w4gx
https://dl.doubtnut.com/l/_SpgtPy1aQfBB


D. 

Answer: C

Watch Video Solution

N 3 − , P 3 −

18. Increasing order of ionic size : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N 3 − , Na+ , F − , O2 − , Mg2 +

Mg2 + > Na+ > F − > O2 − > N 3 −

N 3 − < F − > O2 − > Na+ > Mg2 +

Mg2 + < Na+ < F − < O2 − < N 3 −

N 3 − > O2 − > F − > Na+ < Mg2 +

https://dl.doubtnut.com/l/_SpgtPy1aQfBB
https://dl.doubtnut.com/l/_w0MGkkoQjOzQ


19. The order of increasing ionic radius of the following is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K + < Li+ < Mg2 + < Al3 +

K + < Mg2 + < Li+ < Al3 +

Li+ < K +Mg2 + < Al3 +

Al3 + < Mg2 + < Li+ < K +

20. If the ionic radii of each  and  are , then tha atomic radii

of  and  will be respectively:

A. 1.34 Å, 1.34 Å

B. 0.72 Å, 1.96 Å

C. 1.96 Å, 0.72 Å

D. 1.96 Å, 1.34 Å

K + F − 1.34Å

K F

https://dl.doubtnut.com/l/_niYC1BtrGdkj
https://dl.doubtnut.com/l/_d9UzRD1CxhGv


Answer: C

Watch Video Solution

21. Incorrect order of ionic size is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

La3 + > Gd3 + > Eu3 + > Lu3 +

V 2 + > V 3 + > V 4 + > V 5 +

Tl+ > In+ > Sn2 + > Sb3 +

K + > Sc3 + > V 5 + > Mn7 +

22.  


Calculate the amoung of energy required to convert 110 mg 'X' atom in

gaseous state into  ion. (Atoic wt. for X=7 g /mol)

X ( g ) → X +
( g )

+ e− ,            ΔH = + 720kJ  mol− 1

X +

https://dl.doubtnut.com/l/_d9UzRD1CxhGv
https://dl.doubtnut.com/l/_BFnEYbUhJdTd
https://dl.doubtnut.com/l/_FxHmAZgZrkqs


A. 10.4 kJ

B. 12.3 kJ

C. 11.3 kJ

D. 14.5 kJ

Answer: C

Watch Video Solution

23. Consider the following changes  


 


 


 


 


 


The second ionisation energy of  could be calculated from which of

the above given reactions

A. 1+3+4

: −

M ( s ) →M (g )       ..... ( a )

M ( s ) → M + 2
( g )

+ 2eө       .....(b)

M ( g ) → M + + eө       .....(c)

M +
( g )

→ M + 2
( g )

+ eө       .....(d)

M ( g ) → M + 2
( g )

+ 2eө       .....(e)

M ( g )

:

https://dl.doubtnut.com/l/_FxHmAZgZrkqs
https://dl.doubtnut.com/l/_5xkRGtfLbt1z


B. 2-1+3

C. 1+5

D. 

Answer: D

Watch Video Solution

5 − 3

24. The correct order of second ionisation potentials of carbon, nitrogen,

oxygen and fluroine is

A. FgtOgtNgtC

B. CgtNgtOgtF

C. OgtNgtFgtC

D. OgtFgtNgtC

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5xkRGtfLbt1z
https://dl.doubtnut.com/l/_g6wv3A85UapJ


25. Which is the correct order of ionization energies?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F − > F > Cl− > Cl

F > Cl > Cl− > F −

F − > Cl− > Cl > F

F − > Cl− > F > Cl

26. Which of the following statements is incorrect?

A. The second ionization energy of sulphur is greater than that of

chlorine

B. The third ionization energy of phosphorus is greater than that of

aluminium

https://dl.doubtnut.com/l/_g6wv3A85UapJ
https://dl.doubtnut.com/l/_Tz4VzZkUtJj6
https://dl.doubtnut.com/l/_eqd2LOMnaBFc


C. The first ionization energy of aluminium is approximately the same

as that of gallium

D. The second ionization energy of boron is greater than that of

carbon

Answer: B

Watch Video Solution

27. First ionization energy is the lowest with:

A. Lead

B. Carbon

C. Silicon

D. Tin

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_eqd2LOMnaBFc
https://dl.doubtnut.com/l/_8GrCIw42vBxw


28. The incorrect among the following is:

A. The first ionization potential of Al is less than the first ionization

potential of Mg

B. The second ionizaztion potential of Mg is greater than the second

ionization potential of Na

C. The first ionization potential of Na is less than the first ionization

potential of Mg

D. The third ionization potential of Mg is greater than the third

ionization potential of Al

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8GrCIw42vBxw
https://dl.doubtnut.com/l/_QMoDY7SryIyN


29. The correct values of ionization enthalpies(in KJ ) of Si, P, Cl, and

S respectively are:
 a) 
 b) 
 c)


d)

A. 786, 1012, 999, 1256

B. 1012, 786, 999, 1256

C. 786, 1012, 1256, 999

D. 786, 999, 1012, 1256

Answer: C

Watch Video Solution

mol − 1

786, 1012, 999, 1256 1012, 786, 999, 1256

786, 1012, 1256, 999 786, 999, 1012, 1256

30. The third ionisation energy will be maximum for:

A. nitrogen

B. phosphorus

C. aluminium

https://dl.doubtnut.com/l/_Ry6ZY4VHxinP
https://dl.doubtnut.com/l/_2DpF3lhPeoyj


D. boron

Answer: D

Watch Video Solution

31. Consider the following ionsisation reaction  


 


 


 


 


If monovalent positive ion of , divalent positive ion of  and trivalent

positive ion of  have zero electron. Then incorrect order of

corresponding I.P. is 

A. 

B. 

C. 

D. 

:

IE(KJmol− 1)      IE(KJmol− 1)

A ( g ) → A+
( g )

+ eө , A1     B ( g ) → B+
( g )

+ eө , B1

B+
( g )

→ B+ 2
( g )

+ eө , B2     C ( g ) → C +
( g )

+ eө , C1

C +
( g )

→ C + 2
( g )

+ eө , C2     C + 2
( g )

→ C + 3
( g )

+ eө , C3

A B

C

:

C3 > B2 > A1

B1 > A1 > C1

C3 > C2 > B2

B2 > C3 > A1

https://dl.doubtnut.com/l/_2DpF3lhPeoyj
https://dl.doubtnut.com/l/_cMfyY947VLrE


Answer: D

Watch Video Solution

32. The incorrect statement is:

A. The second ionisation energy of Se is greater than that of second

ionisation energy of As

B. The first ionisation energy of  ion is greater than that of rist

ionisation energy of  ion

C. The third ionisation energy of, F is greater than that of third

ionisation energy of O

D. Helogens have highest I.E. in respectively period.

Answer: D

Watch Video Solution

C 2 +

N 2 +

https://dl.doubtnut.com/l/_cMfyY947VLrE
https://dl.doubtnut.com/l/_rNqIchpc13QK
https://dl.doubtnut.com/l/_eEmUeV70v1Lx


33. First three ionisation energies (in kJ/mol) of three representative

elements are given below: 

then incorrect option is:

A. Q: alkaline earth metal

B. P: alkali metals

C. R: s-block element

D. They belong to same period

Answer: C

Watch Video Solution

(Element, IE1, IE2, IE3), (P , 495.8, 4582, 6910), (Q, 737.7, 1451, 7733), (R

34. Which of the following statement is correct regarding following

process ? 

 
(i)Cl
E .A
−−→ Cl−      (ii)Cl− I .E .

−−→ Cl

(iii)Cl
I .E

−−→ Cl+       (iv)Cl+ I .E .
−−→ Cl2 +

https://dl.doubtnut.com/l/_eEmUeV70v1Lx
https://dl.doubtnut.com/l/_1cPzM18yEo1E


A. |I.E. of process (ii)|=|E.A. of process (i)|

B. |I.E. of process (iii)|=|I.E. of process (ii)|

C. |I.E. of process (iv)|=|E.A. of process (i)|

D. |I.E. of process (iv)|=|I.E. of process (iii)|

Answer: A

Watch Video Solution

35. The correct order of increasing electron affinity of the following

elements is:

A. 

B. 

C. 

D. 

Answer: A

O < S < F < Cl

O < S < Cl < F

S < O < F < Cl

S < O < Cl < F

https://dl.doubtnut.com/l/_1cPzM18yEo1E
https://dl.doubtnut.com/l/_6AxvH6P9Mxsp


Watch Video Solution

36. The second electron gain enthalpies (in kJ ) of oxygen and

sulphur respectively are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

mol− 1

−780, + 590

−590, + 780

+590, + 780

+780, + 590

37. Which of the following statement is correct?

A. The magnitude of the second electron ffinity of sulphur is greater

than that of oxygen

https://dl.doubtnut.com/l/_6AxvH6P9Mxsp
https://dl.doubtnut.com/l/_QH9V7gJS32Ud
https://dl.doubtnut.com/l/_eqtAbcoLwCgR


B. The magnitude of the second electron affinity of sulphur is less

than that of oxygen

C. the first electron affinities of bromine and iodine are approximately

the same

D. The first electron affinity of fluorine is greater than that of chlorine

Answer: B

Watch Video Solution

38. Which of the following statements is incorrect?

A. Greater is the nucler charge, greater is the electron gain enthalpy

B. Nitrogen has almost zero electron gain enthalpy

C. electron gain enthalpy decreases from fluorine to iodine in the

group

D. Chlorine has highest electron gain enthalpy

https://dl.doubtnut.com/l/_eqtAbcoLwCgR
https://dl.doubtnut.com/l/_ZGiGHiI8OhFG


Answer: C

Watch Video Solution

39. The formation of the oxide ion  requires first an exothermic and

then an endothermic step as shown below: 

,  


,  


This is because:

A.  ion has comparatively larger size than oxygen atom

B. oxygen has high electron affinity

C.  ion will tend to resist the addition of another electron

D. oxygen is more electronegative

Answer: C

Watch Video Solution

O2 −
g

Og + e− → O−
g ΔH = − 142kJmol− 1

O(g) + e → O2 −
g ΔH = 844kJmol− 1

O−

O−

https://dl.doubtnut.com/l/_ZGiGHiI8OhFG
https://dl.doubtnut.com/l/_vby3nd1zq0r3
https://dl.doubtnut.com/l/_qFKEU5jAU0Ct


40. In which of the following energy is abosrbed?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl + e− → Cl−

O− + e− → O2 −

O + e− → O−

Na+ + e− → Na

41. The electron affinity of the following elements can be arranged:

A. 

B. ClgtOgtCgtN

C. ClgtNgtCgtO

D. ClgtCgtOgtN

Cl > O > N > C

https://dl.doubtnut.com/l/_qFKEU5jAU0Ct
https://dl.doubtnut.com/l/_PyWfoSGS3w6m


Answer: B

Watch Video Solution

42. In which of the following arrangements , the order is not correct

according to the property indicated against it:

A. Increasing size: 

B. Increasing  : 

C. Increasing 

D. Increasing metallic radius : 

Answer: B

Watch Video Solution

Al3 + < Mg2 + < Na+ < F −

I. E1 B < C < N < O

E. A1 : I < Br < F < Cl

Li < Na < K < Rb

43. Which of the following statements is/are wrong?

https://dl.doubtnut.com/l/_PyWfoSGS3w6m
https://dl.doubtnut.com/l/_YXKVzm2A8B9O
https://dl.doubtnut.com/l/_0reKrjM70lqh


A. Van der waals' radius of iodine is more than its covalent radius

B. all isoelectronic ions belong to same period of the peridic table

C.  of N is higher than that of O while  of O is higher than

that of N

D. The electron affinity N is almost zero while that of P is 74.3 kJ

Answer: B

Watch Video Solution

I. E1 I. E2

mol− 1

44. Consider the following conversions: 

(i)  


(ii)  


(iii)  


(iv)  


the according to given information the incorrect statement is :

O ( g ) + e− → O−
( g )

, ΔH1

F ( g ) + e− → F −
( g )

, ΔH2

Cl ( g ) + e− → Cl−
( g )

, ΔH3

O−
( g )

+ e− → O2 −
( g )

, ΔH4

https://dl.doubtnut.com/l/_0reKrjM70lqh
https://dl.doubtnut.com/l/_wYSpzZTBTje1


A.  is more negative than 

B.  is less negative than 

C.  are negative whereas  is positive

D.  are negative whereas  positive

Answer: D

Watch Video Solution

ΔH3 ΔH1 and ΔH2

ΔH1 ΔH2

ΔH1, ΔH2 and ΔH3 ΔH4

ΔH1 and ΔH3 ΔH2 and ΔH4

45.  


Incorrect statement reagarding given information is:

A. WZ does not conduct electricity in solid and fused state

B. YZ conducts electricity in solid and fused state

C. XZ conducts electricity only in solution state

D. WX conducts electricity only in fused state

Element Electronegative value

W 2.7

X 2.1

Y 0.8

Z 3.4

https://dl.doubtnut.com/l/_wYSpzZTBTje1
https://dl.doubtnut.com/l/_8EjAJkGKVw0S


Answer: D

Watch Video Solution

46. In the compound M-O-H, the M-O bond will be broken if:

A.  of M and O  (E.N.) of O and H

B.  (E.N.) of M and O=  (E.N.) of O and H

C.  (E.N.) of M and  (E.N.) of O and H

D. Cannot be predicted according  data

Answer: C

Watch Video Solution

Δ(E > N. ) < Δ

Δ Δ

Δ O > Δ

Δ(E. N. )

47. Aqueous solution of two compounds

 are prepared in two different beakers .M1 − O − H and M2 − O − H

https://dl.doubtnut.com/l/_8EjAJkGKVw0S
https://dl.doubtnut.com/l/_tIixW7AIn4bP
https://dl.doubtnut.com/l/_XFQKFsFffvdf


If electronegativity of , then

the nature of two solution will be respectively

A. acidic, basic

B. acidic, acidic

C. basic, acidic

D. basic, basic

Answer: A

Watch Video Solution

M1 = 3.4, M2 = 1.2, 0 = 3.5 and H = 2.1

48. The ionisation potential and electron affinity of an element "X" are 275

and 86 kcal/mole. Then the electronegativity of "X" according to Mulliken

scale is

A. 2.8

B. 0

C. 4

https://dl.doubtnut.com/l/_XFQKFsFffvdf
https://dl.doubtnut.com/l/_HnbDA0VV5OCy


D. 2.6

Answer: A

Watch Video Solution

49. Consider the following statements : 

(I) The radius of an anion is larger than that of the parent atom 

(II) The ionization energy generally increases with increasing atomic

number in a period. 

(III) The electronegativity of an element is the tendency of an isolated

atom to at tract an electron. 

Which of the above statements is/are correct?

A. I alone

B. II alone

C. I and II

D. II and III

https://dl.doubtnut.com/l/_HnbDA0VV5OCy
https://dl.doubtnut.com/l/_sHpYXkuE4mYt


Answer: C

Watch Video Solution

50. Which of the following order is correct for the property mentioned in

brackets?

A.  (Ionization energy)

B.  (2nd ionisation energy)

C.  (Electronegativity)

D.  (Ionic radius)

Answer: B

Watch Video Solution

S2 − > Cl− > K + > Ca2 +

C < N < F < O

B > Al > Ga > In > Tl

Na+ > Li+ > Mg2 + > Be2 + > Al3 +

51. Which among the following factors is the most important in making

fluorine oxidizing halongen?

https://dl.doubtnut.com/l/_sHpYXkuE4mYt
https://dl.doubtnut.com/l/_yN79GYS99cQs
https://dl.doubtnut.com/l/_1u9yX0MxKaKa


A. Bond dissociation energy

B. Ionisation enthalpy

C. Hydration enthalpy

D. Electron affinity

Answer: C

Watch Video Solution

52. A compound contains atom A, B and C . The oxidation number of A is

+2, of B is +5 and C is -2. The possible formula of the compound is

A. 

B. 

C. 

D. 

Answer: B

A3(B4C)2

A3(BC4)2

A2(BC3)2

ABC2

https://dl.doubtnut.com/l/_1u9yX0MxKaKa
https://dl.doubtnut.com/l/_LIUzJGktaAp3


Watch Video Solution

53. Consider the following four elements, which are represented

according to long form of periodic table. 

 


Here W, Y and Z are left, up and right elements with respect to the

element 'X' and 'X' belongs to 16th group and 3rd period. then according

to given information the incorrect statement regarding given elements

is:

A. Maximum electronegativity: Y

B. Maximum catenation property:X

https://dl.doubtnut.com/l/_LIUzJGktaAp3
https://dl.doubtnut.com/l/_uG0ScXzTir6J


C. Maximum electron affinity: Z

D. Y exhibits variable covalency

Answer: D

Watch Video Solution

54. Which of the following sequence contains atomic number of only

representative elements ?

A. 55,12,48,53

B. 13,33,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uG0ScXzTir6J
https://dl.doubtnut.com/l/_r7N7VaxtT2Pf
https://dl.doubtnut.com/l/_rXsnZhjZe9WS


55. The ground state electronic configuration of the elements, U, V, W, X,

and Y (these symbols do not have any chemical significance) are as

follows: 

 


 


 


 


 


Determine which sequence of elements satisfy the following statements: 

(i) Element that forms a carbonate which is not decomposed by heating 

(ii) Element which is most likely to form coloured ionic compound 

(iii) Element which has largest atomic radius 

(iv) Element which forms only acidic oxide

A. V W Y U

B. V X Y W

C. V W Y X

D. V X W U

U   1s22s22p3

V    1s22s22p63s1

W    1s22s22p63s23p2

X    1s22s22p63s23p63d54s2

Y    1s22s22p63s23p63d104s24p6

https://dl.doubtnut.com/l/_rXsnZhjZe9WS


Answer: B

Watch Video Solution

56. When magnesium burns in air, compounds of magnesium formed are

magnesium oxide and:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg3N2

MgCO3

Mg(NO3)2

MgSO4

57. Which of the following ions is most unlikely to exist?

https://dl.doubtnut.com/l/_rXsnZhjZe9WS
https://dl.doubtnut.com/l/_4pdnWGyPq6fs
https://dl.doubtnut.com/l/_rnYWy31Ybvty


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li−

Be−

B−

F −

58. A, B and C are hydroxy-compounds of the elements X, Y and Z

respectively. X, Y and Z are in the same period of the periodic table. A

Gives an aqueous solution of pH less than seven. B reacts with both

strong acid and strong alkalis. C gives an aqueous solution which is

srongly alkaline. 

which of the following statements is/are true? 

I: The three elements are metals. 

II: The electronegativities decreases from X to Y to Z. 

https://dl.doubtnut.com/l/_rnYWy31Ybvty
https://dl.doubtnut.com/l/_Jeq1jhFeo5xg


III: The atomic radius decreases in the order X, Y and Z. 

IV: X, Y and Z could be phosphorus, aluminium and sodium respectively.

A. I, II, III only correct

B. I, III only correct

C. II, IV only correct

D. II, III, IV only correct

Answer: C

Watch Video Solution

59. La (lanthanum) having atomic number 57 is a member of :

A. s-block elements

B. p-block elements

C. d-block elements

D. f-block elements

https://dl.doubtnut.com/l/_Jeq1jhFeo5xg
https://dl.doubtnut.com/l/_Nkwoi1foGmIM


Answer: C

Watch Video Solution

60. If the aufbau principle had not been followed, Ca (Z=20) would have

been placed in the:

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

Watch Video Solution

61. What is the atomic number of the element with the maximujm

numberj of unpaired 4p electrons?

https://dl.doubtnut.com/l/_Nkwoi1foGmIM
https://dl.doubtnut.com/l/_qGQvNtvNrotp
https://dl.doubtnut.com/l/_A2ixrIyrzOMA


A. 33

B. 26

C. 23

D. 15

Answer: A

Watch Video Solution

62. The electronic configuration of four elements are: 

(I)  


(II)  


(III)  


(IV)  


Consider the following statements: 

(I I shows variable oxidation state 

(ii) II is a d-block element 

(iii) The compound formed between I and III is covalent 

[Kr]5s1

[Rn]5f 146d17s2

[Ar]3d104s24p5

[Ar]3d64s2

https://dl.doubtnut.com/l/_A2ixrIyrzOMA
https://dl.doubtnut.com/l/_nZQ8qjQsDf2k


(iv) IV shows single oxidation state 

which statement is true (T) or false (F)?

A. FTFF

B. FTFT

C. FFTF

D. FFFF

Answer: D

Watch Video Solution

63. If period number and grou number of any representative element(s)

are same then which of the following statement is incorrect regarding

such type element(s) in their ground state? (period number and group

number are according to modern form of periodic table)

A. The possible value of principan quantum number is 2

B. The possible value of azimuthal quantum number is zero

https://dl.doubtnut.com/l/_nZQ8qjQsDf2k
https://dl.doubtnut.com/l/_3qOaNlpeRzrF


C. The possible value of magnetic quantum number is 1

D. the species could be paramagnetic

Answer: C

Watch Video Solution

64. How does the energy gap between successive energy levels in an atom

vary from low to high n values?

A. All energy gaps are the same

B. The energy gap decreases as n increases

C. The energ gap increases as n increases

D. the energy gap changes unpredictable as n increases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3qOaNlpeRzrF
https://dl.doubtnut.com/l/_pvhdC016NcUh
https://dl.doubtnut.com/l/_zAvwT9vAIX0j


65. Which of the following properties of the alkaline earth metals increase

from Be to Ba? 

(i) Atomic radius 

(ii) Ionisation energy 

(iii) Nuclear energy

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

D. (i), (ii) and (iii)

Answer: B

Watch Video Solution

66. which of the following is the incorrect match for atom of element?

A.  group[Ar]3d54s2 → 4thperiod, 6th

https://dl.doubtnut.com/l/_zAvwT9vAIX0j
https://dl.doubtnut.com/l/_Njaf6SuQ11ML


B.  group

C.  period, 3th group

D. 6th period, 4th group

Answer: D

Watch Video Solution

[Kr]4d10 → 5th  period, 12th

[Rn]6d17s2 → 7th

[Xe]4f 145d26s2 →

67. The set representing the correct order of ionic radius is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+ > Mg2 + > Al3 + > Li+ > Be2 +

Na+ > Li+ > Mg2 + > Al3 + > Be2 +

Na+ > Mg2 + > Li+ > Al3 + > Be2 +

Na+ > Mg2 + > Li+ > Be2 +

https://dl.doubtnut.com/l/_Njaf6SuQ11ML
https://dl.doubtnut.com/l/_miwqFk8CaBEN
https://dl.doubtnut.com/l/_XQT096PIURKI


68. In which of the following pair, both the species are isoelectronic but

the first one is large in size than the second?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S2 − , O2 −

Cl2 − , S2 −

F − , Na+

N 3 − , P 3 −

69. The correct order of ionic size of  is:

A. 

B. 

C. 

D. 

N 3 − , Na+ , F − , Mg2 + and O−

Mg2 + > Na+ > F − > O2 − > N 3 −

N 3 − < F − > O2 − > Na+ > Mg2 +

Mg2 + < Na+ < F − < O2 − < N 3 −

N 3 − > O2 − > F − > Na+ < Mg2 +

https://dl.doubtnut.com/l/_XQT096PIURKI
https://dl.doubtnut.com/l/_myZ3EXjg50G9


Answer: C

Watch Video Solution

70. The order of increasing ionic radius of the following is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K + < Li+ < Mg2 + < Al3 +

K + < Mg2 + < Li+ < Al3 +

Li+ < K +Mg2 + < Al3 +

Al3 + < Mg2 + < Li+ < K +

71. If the ionic radii of  are nearly the same (i.e., 1.34 Å), then

the atomic radii of K and F respectively are:

K + and F −

https://dl.doubtnut.com/l/_myZ3EXjg50G9
https://dl.doubtnut.com/l/_xExcqtgH4pXO
https://dl.doubtnut.com/l/_GJ1L1XGvh24J


A. 1.34 Å, 1.34 Å

B. 0.72 Å, 1.96 Å

C. 1.96 Å, 0.72 Å

D. 1.96 Å, 1.34 Å

Answer: C

Watch Video Solution

72. Incorrect order of ionic size is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

La3 + > Gd3 + > Eu3 + > Lu3 +

V 2 + > V 3 + > V 4 + > V 5 +

Tl+ > In+ > Sn2 + > Sb3 +

K + > Sc3 + > V 5 + > Mn7 +

https://dl.doubtnut.com/l/_GJ1L1XGvh24J
https://dl.doubtnut.com/l/_xag9rWqlmg3x


73.  


Calculate the amoung of energy required to convert 110 mg 'X' atom in

gaseous state into  ion. (Atoic wt. for X=7 g /mol)

A. 10.4 kJ

B. 12.3 kJ

C. 11.3 kJ

D. 14.5 kJ

Answer: C

Watch Video Solution

X ( g ) → X +
( g )

+ e− ,            ΔH = + 720kJ  mol− 1

X +

74. Consider the followng changes: 

 . . . (1) 


 . . . (2) 


 . . . (3) 

M(s) → M(g)

M(s) → M 2 + (g) + 2e−

M(g) → M + (g) + e−

https://dl.doubtnut.com/l/_xag9rWqlmg3x
https://dl.doubtnut.com/l/_DYc9BxrSTEq3
https://dl.doubtnut.com/l/_zJitIq4SYDY8


 . . (4) 


 . . . (5) 

The second ionization energy of M could be calculated from the enrg

values associated with:

A. 1+3+4

B. 2-1+3

C. 1+5

D. 

Answer: D

Watch Video Solution

M + (g) → M 2 + (g) + e−

M(g) → M 2 + (g) + 2e−

5 − 3

75. The correct order of second I.E. of C, N, O and F are in the order:

A. FgtOgtNgtC

B. CgtNgtOgtF

C. OgtNgtFgtC

https://dl.doubtnut.com/l/_zJitIq4SYDY8
https://dl.doubtnut.com/l/_OcYeFGYnhGc6


D. OgtFgtNgtC

Answer: D

Watch Video Solution

76. Which is the correct order of ionization energies?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F − > F > Cl− > Cl

F > Cl > Cl− > F −

F − > Cl− > Cl > F

F − > Cl− > F > Cl

77. Which of the following statements is incorrect?

https://dl.doubtnut.com/l/_OcYeFGYnhGc6
https://dl.doubtnut.com/l/_yp7IcKCn98b6
https://dl.doubtnut.com/l/_RWeq0Tqm68vf


A. The second ionization energy of sulphur is greater than that of

chlorine

B. The third ionization energy of phosphorus is greater than that of

aluminium

C. The first ionization energy of aluminium is approximately the same

as that of gallium

D. The second ionization energy of boron is greater than that of

carbon

Answer: B

Watch Video Solution

78. First ionization energy is the lowest with:

A. Lead

B. Carbon

https://dl.doubtnut.com/l/_RWeq0Tqm68vf
https://dl.doubtnut.com/l/_JKsMi45g6PqF


C. Silicon

D. Tin

Answer: D

Watch Video Solution

79. The incorrect among the following is:

A. The first ionization potential of Al is less than the first ionization

potential of Mg

B. The second ionizaztion potential of Mg is greater than the second

ionization potential of Na

C. The first ionization potential of Na is less than the first ionization

potential of Mg

D. The third ionization potential of Mg is greater than the third

ionization potential of Al

https://dl.doubtnut.com/l/_JKsMi45g6PqF
https://dl.doubtnut.com/l/_2BgbsqlNDJe1


Answer: B

Watch Video Solution

80. The correct values of ionization enthalpies (in kJ ) of Si, P, Cl and

S respectively are:

A. 786, 1012, 999, 1256

B. 1012, 786, 999, 1256

C. 786, 1012, 1256, 999

D. 786, 999, 1012, 1256

Answer: C

Watch Video Solution

mol− 1

81. The third ionization enthalpy is maximum for

https://dl.doubtnut.com/l/_2BgbsqlNDJe1
https://dl.doubtnut.com/l/_3QgAw8Udlmtg
https://dl.doubtnut.com/l/_aNBHYhU9lqCt


A. nitrogen

B. phosphorus

C. aluminium

D. boron

Answer: D

Watch Video Solution

82. Consider the following ionisation reactions: 

 


If monovalent positive ion of A, divalent positive ion of B and trivalent

positive ion of C have zero electron. Then incorrect order of

corresponding I.E. is:

A. 

B. 

C3 > B2 > A1

B1 > A1 > C1

https://dl.doubtnut.com/l/_aNBHYhU9lqCt
https://dl.doubtnut.com/l/_Ca940w44FgXk


C. 

D. 

Answer: D

View Text Solution

C3 > C2 > B2

B2 > C3 > A1

83. The incorrect statement is:

A. The second ionisation energy of Se is greater than that of second

ionisation energy of As

B. The first ionisation energy of  ion is greater than that of rist

ionisation energy of  ion

C. The third ionisation energy of, F is greater than that of third

ionisation energy of O

D. Helogens have highest I.E. in respectively period.

Answer: D

C 2 +

N 2 +

https://dl.doubtnut.com/l/_Ca940w44FgXk
https://dl.doubtnut.com/l/_TbakuTWX5fEB


Watch Video Solution

84. First three ionisation energies (in kJ/mol) of three representative

elements are given below: 

then incorrect option is:

A. Q: alkaline earth metal

B. P: alkali metals

C. R: s-block element

D. They belong to same period

Answer: C

Watch Video Solution

(Element, IE1, IE2, IE3), (P , 495.8, 4582, 6910), (Q, 737.7, 1451, 7733), (R

85. Which of the following statement is correct regarding following

species? 

https://dl.doubtnut.com/l/_TbakuTWX5fEB
https://dl.doubtnut.com/l/_5FPnLoUa9D1H
https://dl.doubtnut.com/l/_11q2dj7W1mRu


(i)  


(ii)  


(iii)  


(iv) 

A. |I.E. of process (ii)|=|E.A. of process (i)|

B. |I.E. of process (iii)|=|I.E. of process (ii)|

C. |I.E. of process (iv)|=|E.A. of process (i)|

D. |I.E. of process (iv)|=|I.E. of process (iii)|

Answer: A

Watch Video Solution

Cl
E .A .
−−→ Cl−

Cl− I .E .
−−→ Cl

Cl
I .E .
−−→ Cl+

Cl+ I .E .
−−→ Cl2 +

86. The correct order of increasing electron affinity of the following

elements is:

A. 

B. 

O < S < F < Cl

O < S < Cl < F

https://dl.doubtnut.com/l/_11q2dj7W1mRu
https://dl.doubtnut.com/l/_KyBu4WlNZw5B


C. 

D. 

Answer: A

Watch Video Solution

S < O < F < Cl

S < O < Cl < F

87. The second electron gain enthalpies (in kJ ) of oxygen and

sulphur respectively are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

mol− 1

−780, + 590

−590, + 780

+590, + 780

+780, + 590

https://dl.doubtnut.com/l/_KyBu4WlNZw5B
https://dl.doubtnut.com/l/_ncyKCaBPsUCf
https://dl.doubtnut.com/l/_x6J205dg2GT1


88. Which of the following statement is correct?

A. The magnitude of the second electron ffinity of sulphur is greater

than that of oxygen

B. The magnitude of the second electron affinity of sulphur is less

than that of oxygen

C. the first electron affinities of bromine and iodine are approximately

the same

D. The first electron affinity of fluorine is greater than that of chlorine

Answer: B

Watch Video Solution

89. Which of the following statements is incorrect?

A. Greater is the nucler charge, greater is the electron gain enthalpy

B. Nitrogen has almost zero electron gain enthalpy

https://dl.doubtnut.com/l/_x6J205dg2GT1
https://dl.doubtnut.com/l/_MefByODfz4aH


C. electron gain enthalpy decreases from fluorine to iodine in the

group

D. Chlorine has highest electron gain enthalpy

Answer: C

Watch Video Solution

90. The formation of the oxide ion  (g) requires first an exothermic

and then an endothermic step as shown below : 

 


 


This is because

A.  ion has comparatively larger size than oxygen atom

B. oxygen has high electron affinity

C.  ion will tend to resist the addition of another electron

D. oxygen is more electronegative

O2 −

O(g) + e− = O− (g), ΔH ∘ = − 142kJmoI − 1

O(g) + e− → O2 − (g), ΔH ∘ = 844kJmol− 1

O−

O−

https://dl.doubtnut.com/l/_MefByODfz4aH
https://dl.doubtnut.com/l/_nKJ0jUcG6A7E


Answer: C

Watch Video Solution

91. In which of the following energy is abosrbed?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl + e− → Cl−

O− + e− → O2 −

O− − e− → O−

Na+ + e− → Na

92. The electron affinity of the following elements can be arranged:

A. Cl > O > N > C

https://dl.doubtnut.com/l/_nKJ0jUcG6A7E
https://dl.doubtnut.com/l/_DGzp0FjSZqeX
https://dl.doubtnut.com/l/_mB8wQGEsegFf


B. ClgtOgtCgtN

C. ClgtNgtCgtO

D. ClgtCgtOgtN

Answer: B

Watch Video Solution

93. In which of the following arrangements, the order is not correct

according to the property indicated against it?

A. Increasing size: 

B. Increasing I. : 

C. Increasing 

D. Increasing metallic radius : 

Answer: B

Watch Video Solution

Al3 + < Mg2 + < Na+ < F −

E1 B < C < N < O

E. A1 : I < Br < F < Cl

Li < Na < K < Rb

https://dl.doubtnut.com/l/_mB8wQGEsegFf
https://dl.doubtnut.com/l/_1U503iTYVsGL


94. Which of the following statements is/are wrong?

A. Van der waals' radius of iodine is more than its covalent radius

B. all isoelectronic ions belong to same period of the peridic table

C.  of N is higher than that of O while  of O is higher than

that of N

D. The electron affinity N is almost zero while that of P is 74.3 kJ

Answer: B

Watch Video Solution

I. E1 I. E2

mol− 1

95. Consider the following conversions: 

(i)  


(ii)  


(iii)  


O ( g ) + e− → O−
( g )

, ΔH1

F ( g ) + e− → F −
( g )

, ΔH2

Cl ( g ) + e− → Cl−
( g )

, ΔH3

https://dl.doubtnut.com/l/_1U503iTYVsGL
https://dl.doubtnut.com/l/_F2l9RH4So9cQ
https://dl.doubtnut.com/l/_lSDS7TfQoxlz


(iv)  


the according to given information the incorrect statement is :

A.  is more negative than 

B.  is less negative than 

C.  are negative whereas  is positive

D.  are negative whereas  positive

Answer: D

Watch Video Solution

O−
( g )

+ e− → O2 −
( g )

, ΔH4

ΔH3 ΔH1 and ΔH2

ΔH1 ΔH2

ΔH1, ΔH2 and ΔH3 ΔH4

ΔH1 and ΔH3 ΔH2 and ΔH4

96.  


Incorrect statement reagarding given information is:

A. WZ does not conduct electricity in solid and fused state

B. YZ conducts electricity in solid and fused state

Element Electronegative value

W 2.7

X 2.1

Y 0.8

Z 3.4

https://dl.doubtnut.com/l/_lSDS7TfQoxlz
https://dl.doubtnut.com/l/_4tTWszqDxQuR


C. XZ conducts electricity only in solution state

D. WX conducts electricity only in fused state

Answer: D

Watch Video Solution

97. In the compound M-O-H, the M-O bond will be broken if:

A.  of M and O  (E.N.) of O and H

B.  (E.N.) of M and O=  (E.N.) of O and H

C.  (E.N.) of M and  (E.N.) of O and H

D. Cannot be predicted according  data

Answer: C

Watch Video Solution

Δ(E > N. ) < Δ

Δ Δ

Δ O > Δ

Δ(E. N. )

https://dl.doubtnut.com/l/_4tTWszqDxQuR
https://dl.doubtnut.com/l/_cbApBFHUnWwB


98. Aqueous solutions of two compounds

 are prepared in two different beakers.

If, the electronegativity of ,

then the nature of two solutions will be respectively:

A. acidic, basic

B. acidic, acidic

C. basic, acidic

D. basic, basic

Answer: A

Watch Video Solution

M1 − O − H and M2 − O − H

M1 = 3.4, M2 = 1.2, O = 3.5 and H = 2.1

99. If the ionisation enthalpy and electron gain enthalpy of an element

are 275 and 86 kcal  respectively, then the electronegativity of the

element on the pauling scale is:

mol− 1

https://dl.doubtnut.com/l/_i2oYooezdJRZ
https://dl.doubtnut.com/l/_TnDtg9ye64e1


A. 2.8

B. 0

C. 4

D. 2.6

Answer: A

Watch Video Solution

100. Consider the following statement: 

(I) The radius of an anion is larger than that of the parent atom. 

(II) the ionization energy generally increases with increasing atomic

number in a period. 

(III) The electronegativity of an element is the tendency of an isolated

atom to attract an electron. 

Which of the above statement is/are correct?

A. I alone

https://dl.doubtnut.com/l/_TnDtg9ye64e1
https://dl.doubtnut.com/l/_7FQnpfbvwQzr


B. II alone

C. I and II

D. II and III

Answer: C

Watch Video Solution

101. Which of the following order is correct for the property mentioned in

brackets?

A.  (Ionization energy)

B.  (2nd ionisation energy)

C.  (Electronegativity)

D.  (Ionic radius)

Answer: B

Watch Video Solution

S2 − > Cl− > K + > Ca2 +

C < N < F < O

B > Al > Ga > In > Tl

Na+ > Li+ > Mg2 + > Be2 + > Al3 +

https://dl.doubtnut.com/l/_7FQnpfbvwQzr
https://dl.doubtnut.com/l/_8tKTN9DoOOcX


Level 3 (Passage Type)

102. Which among the following factors is the most important in making

fluorine, the strongest oxidation halogen?

A. Bond dissociation energy

B. Ionisation enthalpy

C. Hydration enthalpy

D. Electron affinity

Answer: C

Watch Video Solution

1. The energy required to pull the most loosely bound electrons from an

atom is known as ionization potential. It is expressed in electron volts.

The value of ionization potential depends on three factors :(i) the charge

https://dl.doubtnut.com/l/_8tKTN9DoOOcX
https://dl.doubtnut.com/l/_dhwpOi3uO6GR
https://dl.doubtnut.com/l/_YJ5jEwqqDnT1


on the nucleus (ii) the atomic radius and (iii) the screening effect of inner

electron shells. 

Ionization potential of Na would be numerically the same as

A. electron affinity of 

B. electronegativity of 

C. electron affinity of Na

D. ionization potential of Mg

Answer: A

Watch Video Solution

Na+

Na+

2. The energy required to pull the most loosely bound electron form an

atom is known as ionizatino potential it is expressed in electron volts. The

value of ionization potntial depends on three factors: (i) the charge on

the nucleus (ii) the atomic radius and (iii) the screening effect of inner

electron shells. 

Q. Which of the following elements has the least ionization potential?

https://dl.doubtnut.com/l/_YJ5jEwqqDnT1
https://dl.doubtnut.com/l/_YIe3ArYmIfYQ


A. Lithium

B. Cesium

C. Magnesium

D. Calcium

Answer: B

Watch Video Solution

3. The energy required to pull the most loosely bound electron form an

atom is known as ionizatino potential it is expressed in electron volts. The

value of ionization potntial depends on three factors: (i) the charge on

the nucleus (ii) the atomic radius and (iii) the screening effect of inner

electron shells. 

Q. Incorrect order of ionisation energy is:

A. 

B. 

Pb(I. E. ) > Sn(I. E. )

Na+ (I. E. ) > Mg+ (I. E. )

https://dl.doubtnut.com/l/_YIe3ArYmIfYQ
https://dl.doubtnut.com/l/_hdPHXyF9pM8S


C. 

D. 

Answer: C

Watch Video Solution

Li+ (I. E. ) < O+ (I. E. )

Be+ (I. E. ) < C + (I. E. )

4. All the elements, on the basis of long form of periodic table, can be

divided into four blocks, s,p, d and f. the ionization energies, electron

affinities, electronegativities, atomic and ionic radii and other physical

properties usually shown a regular pattern of change within a group or

along period with some irregularities. 

Q. On moving from Li to F in the second period, there would be a

decrease in :

A. non-metallic property

B. atomic radius

C. ionization potential

https://dl.doubtnut.com/l/_hdPHXyF9pM8S
https://dl.doubtnut.com/l/_rf3QG7uBO3Xj


D. electronegativity

Answer: B

Watch Video Solution

5. All the elements, on the basis of long form of periodic table, can be

divided into four blocks, s,p, d and f. the ionization energies, electron

affinities, electronegativities, atomic and ionic radii and other physical

properties usually shown a regular pattern of change within a group or

along period with some irregularities. 

Q. Which of the following element has the maximum value of

electronegativity?

A. Aluminium

B. Silicon

C. Phosphorus

D. Sulphur

https://dl.doubtnut.com/l/_rf3QG7uBO3Xj
https://dl.doubtnut.com/l/_KLQ8MzECcpL1


Answer: D

Watch Video Solution

6. All the elements, on the basis of long form of periodic table, can be

divided into four blocks, s,p, d and f. the ionization energies, electron

affinities, electronegativities, atomic and ionic radii and other physical

properties usually shown a regular pattern of change within a group or

along period with some irregularities. 

Q. Which of the following element has the maximum electron affinity?

A. Nitrogen

B. Oxygen

C. Fluorine

D. Chlorine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KLQ8MzECcpL1
https://dl.doubtnut.com/l/_Xxo1pEExjIm6


7. The second ionisation energies are higher than the first ionisation

energies. This is mainly due to the fact that after the removal of the first

electrons, the atom changes inot mono valent position ion. In the ion, the

number of electrons decreases but the nuclear charge remains the same.

As a result of this, the remaining electrons are held more tightly by the

nucleus and it becomes difficult to remove the second electron .

Therefore, the value of second ionisation energy .  , is greater than

that of the first ionisation energy  . Similarly third ionisation energy

 is greater than that of second . 


Successive ionisation energy of an atom is greater than previous one,

because

A.  ratio increases

B.  ratio decreases

C.  ratio remains constant

D. none of these

Answer: A

(IE2)

(IE1)

(IE3) IE2

p

e

p

e

p

e

https://dl.doubtnut.com/l/_Xxo1pEExjIm6
https://dl.doubtnut.com/l/_dQDejuhMXFTE


Watch Video Solution

8. The second ionisation energies are higher than the first ionisation

energies. This is mainly due to the fact the after the removal of the first

electron, the atom changes into monovalent positive ion. In the ion, the

number of electrons decreases but the nuclear charge remains the same.

as a result of this, the remaining electrons are held more tightly by the

nucleus and it becomes difficult to remove the second electron. therefore,

the value of second ionisation energy. , is greater than that of the

first ionisatio energy . similarly third ionisation energy  is

greater than that of second . 


Q. Correct order of ionisation potential of coinage metals is:

A. 

B. 

C. 

D. 

(IE2)

(IE1) (IE3)

IE2

Au > Ag > Cu

Cu > Ag > Au

Au > Cu > Ag

Ag > Cu > Au

https://dl.doubtnut.com/l/_dQDejuhMXFTE
https://dl.doubtnut.com/l/_PsmgFAWJw3ui


Answer: C

Watch Video Solution

9. The second ionisation energies are higher than the first ionisation

energies. This is mainly due to the fact the after the removal of the first

electron, the atom changes into monovalent positive ion. In the ion, the

number of electrons decreases but the nuclear charge remains the same.

as a result of this, the remaining electrons are held more tightly by the

nucleus and it becomes difficult to remove the second electron. therefore,

the value of second ionisation energy. , is greater than that of the

first ionisatio energy . similarly third ionisation energy  is

greater than that of second . 


Q.  of Mg metal are 178 and 348 kcal/mol respectively. the

energy required for the given reaction is: 

A.  kcal/mol

B.  kcal/mol

(IE2)

(IE1) (IE3)

IE2

IE1 and IE2

Mg(s) → Mg+ 2 + 2e−

+170

+526

https://dl.doubtnut.com/l/_PsmgFAWJw3ui
https://dl.doubtnut.com/l/_iWf3JTvPCo7T


C.  kcal/mol

D.  kcal/mol

Answer: B

Watch Video Solution

−170

−526

10. Nuclear charge actually experienced by an electron is termed as

effective nuclear charge. The effective nuclear charge  actuall

ydepends on type of shell and orbital in which electron is actually

present. The relative extent to which the various orbitals penetrate the

electron clouds of other orbitals is 

 (for the same value of n) 


The phenomenon in which penultimate shell electrons act as screen or

sheild in between nucleus and valence shell electrons and thereby

reducing nuclear charge is known as shielding effect. the penultimate

shell electrons repel the valence shell electron to keep them loosely held

with nucleus. it is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionization energy. 

Z ∗

s > p > d > f

https://dl.doubtnut.com/l/_iWf3JTvPCo7T
https://dl.doubtnut.com/l/_gx6PZqnReP2k


Q. Which of the following valence electron experience maximum effective

nuclear charge?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4s1

4p1

3d1

2p3

11. Nuclear charge actually experienced by an electron is termed as

effective nuclear charge The effective nuclear  actually depends on

type of shell and orbital in which electron is actually present. The relative

extent to which the various orbitals penetrate is .  (for the

same value of n) 

The phenomenon in which penulitmate shell electrons act as screen or

shield in between nucleus adn valence shell electrons and there by

Z ∗

s > p > d > f

https://dl.doubtnut.com/l/_gx6PZqnReP2k
https://dl.doubtnut.com/l/_gJFamQp1NBzb


reducing nuclear charge is known as sheilding effect. The penultimate

shell electrons repel the valence shell electron to keep them loosely held

with nucleus . It is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionizatio energy. 

Which of the following is not concerned to effective nuclear charge?

A. Higher ionization potential of carbon than boron

B. Higher ionization potential of magnesium than aluminium

C. Higher values of successive ionization energy

D. Higher electronegativity of higher oxidation state

Answer: B

Watch Video Solution

12. Nuclear charge actually experienced by an electron is termed as

effective nuclear charge. The effective nuclear charge  actuall

ydepends on type of shell and orbital in which electron is actually

present. The relative extent to which the various orbitals penetrate the

Z ∗

https://dl.doubtnut.com/l/_gJFamQp1NBzb
https://dl.doubtnut.com/l/_GqwfFHuudBqq


electron clouds of other orbitals is 

 (for the same value of n) 


The phenomenon in which penultimate shell electrons act as screen or

sheild in between nucleus and valence shell electrons and thereby

reducing nuclear charge is known as shielding effect. the penultimate

shell electrons repel the valence shell electron to keep them loosely held

with nucleus. it is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionization energy. 

Q. Ionzation enegy is not influenced by:

A. Size of atom

B. Effective nuclear charge

C. Electrons present in inner shell

D. Change in entropy

Answer: D

Watch Video Solution

s > p > d > f

https://dl.doubtnut.com/l/_GqwfFHuudBqq


13. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which element is a noble gas?

A. P

B. T

C. R

D. S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8yOVuRBCQ44y


14. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which element form stable unipositve ion?

A. P

B. Q

C. R

D. T

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dmHpnuh4SMcS


15. Ionization energies of five elements in kcal/mol are given below: 

 


Q. The element having most stable oxidation state +2 is?

A. Q

B. R

C. S

D. T

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bzFClWUvBE5T


16. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which is a non-metal (excluding noble gas)?

A. P

B. Q

C. R

D. S

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EH8D8D95325M


17. Ionization energies of five elements in kcal/mol are given below: 

 


Q. If Q reacts with fluorine and oxyge, the molecular formula of fluoride

and oxide will be respectively:

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

QF3, Q2Q3

QF , Q2O

QF2, QO

https://dl.doubtnut.com/l/_bINPuj1odf6o


18. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which of the following pair represents elements of same group?

A. Q,R

B. P,Q

C. P,S

D. Q,S

Answer: A

Watch Video Solution

19. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_1J6tkjzoZNMA
https://dl.doubtnut.com/l/_oHVacKknop49


 


Based on the above information, answer the following questions. 

Q. Which of the element is likely to be reactive metal?

A. P

B. Q

C. R

D. S

Answer: B

Watch Video Solution

20. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_oHVacKknop49
https://dl.doubtnut.com/l/_rHD4RrCYaSkB


 


Based on the above information, answer the following questions. 

Q. Which of the element is likely to be reactive metal?

A. P

B. Q

C. R

D. S

Answer: D

Watch Video Solution

21. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_rHD4RrCYaSkB
https://dl.doubtnut.com/l/_lJdrp712SWWP


 


Based on the above information, answer the following questions. 

Q. Which represents a noble gas?

A. P

B. Q

C. R

D. S

Answer: A

Watch Video Solution

22. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_lJdrp712SWWP
https://dl.doubtnut.com/l/_8xyqc0bPoCd8


 


Based on the above information, answer the following questions. 

Q. Which represents a noble gas?

A. P

B. Q

C. R

D. S

Answer: C

Watch Video Solution

23. Elements with their electronic configuration are given below: 

Answer the following questions: ltbr. I:  


II:  


1s22s2

1s22s22p6

https://dl.doubtnut.com/l/_8xyqc0bPoCd8
https://dl.doubtnut.com/l/_Opg1xqP5UpZu


III:  


IV  


V:  


Q. The elements with highest I.E. is:

A. I

B. III

C. II

D. V

Answer: C

Watch Video Solution

1s22s22p63s2

1s22s22p3

1s22s22p5

24. Elements with their electronic configuration are given below: 

Answer the following questions: ltbr. I:  


II:  


III:  


IV  


1s22s2

1s22s22p6

1s22s22p63s2

1s22s22p3

https://dl.doubtnut.com/l/_Opg1xqP5UpZu
https://dl.doubtnut.com/l/_Njs3OjtuCmyW


V:  


Q. The element with lowest electron gain enthalpy is:

A. I

B. II

C. III

D. IV

Answer: B

Watch Video Solution

1s22s22p5

25. Elements with their electronic configuration are given below: 

Answer the following questions: ltbr. I:  


II:  


III:  


IV  


V:  


Q. The most ionic compound will be formed between :

1s22s2

1s22s22p6

1s22s22p63s2

1s22s22p3

1s22s22p5

https://dl.doubtnut.com/l/_Njs3OjtuCmyW
https://dl.doubtnut.com/l/_qVmEmGhclx5C


A. I and IV

B. I and V

C. III and IV

D. III and V

Answer: D

Watch Video Solution

26. Elements with their electronic configuration are given below: 

Answer the following questions: ltbr. I:  


II:  


III:  


IV  


V:  


Q. Which of the following is the correct order of increasing size?

A. 

1s22s2

1s22s22p6

1s22s22p63s2

1s22s22p3

1s22s22p5

I < III < IV < V

https://dl.doubtnut.com/l/_qVmEmGhclx5C
https://dl.doubtnut.com/l/_BuO957Z0YewM


B. 

C. 

D. 

Answer: D

Watch Video Solution

V < IV < III < I

I < IV < V < III

V < IV < I < III

27. J.C. Slater proposed an empirical constant that represents the

cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's

screening contant  is as :  


Here, Z is the atomic number of the atom, and hence is equal to the

actual number of protons in the atom. the parameter  is the effective

nuclear charge, which according to is smaller than Z, since the electron in

question is screened (shielded) from Z by an amount . Conversely, an

electron that is well shielded from the nuclear charge Z experiences a

small effective nuclear charge . 


σ Z ∗ = Z − σ

Z ∗

σ

Z ∗

https://dl.doubtnut.com/l/_BuO957Z0YewM
https://dl.doubtnut.com/l/_5Bxl2R3kjQLl


The value of  for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is

calculated using a set of empirical rules developed by slater. according to

these rules, the value of  for the electron in question is the cumulative

total provided by the various other electrons of the atom. 

Q. The effective nuclear charge at the periphery of chromium atom [Z=24]:

A. 4.25

B. 2.6

C. 3.6

D. 1.21

Answer: B

Watch Video Solution

σ

σ

28. J.C. Slater proposed an empirical constant that represents the

cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's

https://dl.doubtnut.com/l/_5Bxl2R3kjQLl
https://dl.doubtnut.com/l/_Wrz3mFjnTfq5


screening contant  is as :  


Here, Z is the atomic number of the atom, and hence is equal to the

actual number of protons in the atom. the parameter  is the effective

nuclear charge, which according to is smaller than Z, since the electron in

question is screened (shielded) from Z by an amount . Conversely, an

electron that is well shielded from the nuclear charge Z experiences a

small effective nuclear charge . 


The value of  for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is

calculated using a set of empirical rules developed by slater. according to

these rules, the value of  for the electron in question is the cumulative

total provided by the various other electrons of the atom. 

Q. Which of the following statement is correct?

A. A 4s-orbital is filled earlier than a 3d-orbital because,  for 

 for 4s.

B. A 4s-orbital is filled earlier than a 3d-orbital because,  for 

 for 3d

σ Z ∗ = Z − σ

Z ∗

σ

Z ∗

σ

σ

Z ∗

3d > Z ∗

Z ∗

4s > Z ∗

https://dl.doubtnut.com/l/_Wrz3mFjnTfq5


C. The effective nuclear charge for 3d-and 4s-orbitals are same, but

energy of 3d-orbital becomes higher.

D. The effective nuclear charge for 3d and 4s-orbitals are same but,

energy of 4s-orbital becomes higher.

Answer: B

Watch Video Solution

29. J.C. Slater proposed an empirical constant that represents the

cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's

screening contant  is as :  


Here, Z is the atomic number of the atom, and hence is equal to the

actual number of protons in the atom. the parameter  is the effective

nuclear charge, which according to is smaller than Z, since the electron in

question is screened (shielded) from Z by an amount . Conversely, an

electron that is well shielded from the nuclear charge Z experiences a

σ Z ∗ = Z − σ

Z ∗

σ

https://dl.doubtnut.com/l/_Wrz3mFjnTfq5
https://dl.doubtnut.com/l/_XAPWMlQxdfnP


small effective nuclear charge . 


The value of  for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is

calculated using a set of empirical rules developed by slater. according to

these rules, the value of  for the electron in question is the cumulative

total provided by the various other electrons of the atom. 

Q. According to Slater's rule, order of effective nuclear charge  for

last electron in case of Li, Na and K.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Z ∗

σ

σ

(Z ∗ )

Li > Na > K

K > Na > Li

Na > Li > K

K = Na > Li

https://dl.doubtnut.com/l/_XAPWMlQxdfnP


30. Metals have few electrons in their valence shell while non-metals

generally have more electrons in their valence shell. Metallic character is

closely related to atomic radius and ionisation enthalpy. Metallic

character increases from top to bottom in a group and decreases from

let to right in a period of periodic table. metallic character is inversely

related to electronegativity of element. 

Q. The electronegativity of the following elements increase in the order:

A. C, N, Si, P

B. N, Si, C, P

C. Si, P, C, N

D. P, SI, N, C

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_aTcZjp5B1K2Z


31. Considering the elements  and , the correct order of their

metallic character is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B, Al, Mg K

B > Al > Mg > K

Al > K > B > Mg

Mg > Al > K > B

K > Mg > Al > B

32. Metals have few electrons in their valence shell while non-metals

generally have more electrons in their valence shell. Metallic character is

closely related to atomic radius and ionisation enthalpy. Metallic

character increases from top to bottom in a group and decreases from

let to right in a period of periodic table. metallic character is inversely

related to electronegativity of element. 

https://dl.doubtnut.com/l/_B8PtEjbbK38j
https://dl.doubtnut.com/l/_cJ8mwxGOHIws


Q.  atoms of  are converted it into  by energy , 2 

 atoms of  are converted it into  by energy . hence,

ionisation potential and electron affinity of  are: ( =Avogadro's

number)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3N0 /2 X ( g ) X +
( g )

E1

N0 /3 X ( g ) X −
( g )

E2

X ( g ) N0

,
2E1

3N0

2E2

3N0

,
2E1

3N0

3E2

2N0

,
3E1

2N0

3E2

2N0

,
3E1

2N0

2E2

3N0

33. The value of four quantum number for the last electron of atom of

element 'X' are n=7, l=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic

momentum for element 'X' is zero element 'X' has two isotopes (I)

 (II) . 


Q. The incorrect statement regarding element 'X' is:

A
ZX and B

ZX

https://dl.doubtnut.com/l/_cJ8mwxGOHIws
https://dl.doubtnut.com/l/_w8qV9LtCsb3s


A. Element 'X' belongs to 18th group

B. Number of unpaired electrons in element 'X' is zero

C. Atomic number of element 'X' is 118

D. X' is representative element

Answer: D

Watch Video Solution

34. The value of four quantum number for the last electron of atom of

element 'X' are n=7, l=1,m=+1 and s=+1/2 or -1/2 and value of spin magnetic

momentum for element 'X' is zero element 'X' has two isotopes (I)

 (II) . 


Q. The value of A and B respectively are:

A. 118 and 136

B. 218 and 236

C. 236 and 254

A
ZX and B

ZX

https://dl.doubtnut.com/l/_w8qV9LtCsb3s
https://dl.doubtnut.com/l/_gBonnKj4bRfA


D. 226 and 244

Answer: C

Watch Video Solution

35. The value of four quantum number for the last electron of atom of

element 'X' are n=7, l=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic

momentum for element 'X' is zero element 'X' has two isotopes (I)

 (II) . 


Q. The possible value of all four quantum numbers for 90th electron of

atom of element 'X' is:

A. 

B. 

C. 

D. 

Answer: D

A
ZX and B

ZX

n l m s

6 2 0 −1/2

n l m s

5 2 −1 +1/2

n l m s

6 0 0 +1/2

n l m s

5 3 −2 −1/2

https://dl.doubtnut.com/l/_gBonnKj4bRfA
https://dl.doubtnut.com/l/_q8vq4IVGvAPe


Watch Video Solution

36.  


There are nine elements A to I. these are belongs to p-block element

other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F

and atomic number of H is average of atomic number of G and I. atomic

numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of

C, I and F are greater than A, G and D respectively. 

Q. The incorrect order is:

https://dl.doubtnut.com/l/_q8vq4IVGvAPe
https://dl.doubtnut.com/l/_kPlTLmk2KnqZ


A. : Second ionisation energy

B. :  on valence shell

C. : First ionisation energy

D. , Electronegativity

Answer: C

View Text Solution

F > E

B > C Zeff

I > H

C > F > E

37.  


There are nine elements A to I. these are belongs to p-block element

https://dl.doubtnut.com/l/_kPlTLmk2KnqZ
https://dl.doubtnut.com/l/_tHofRJV6EFU6


other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F

and atomic number of H is average of atomic number of G and I. atomic

numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of

C, I and F are greater than A, G and D respectively. 

Q. The correct statement is:

A.  oxidation state of H is more stable than its +3 oxidation state.

B.  is better oxidisng agent than 

C.  oxidation state of E is more stable than its +5 oxidation state

D. Ionisation energy of G is greater than that of "Tin".

Answer: D

View Text Solution

+5

G2 + G4 +

+3

https://dl.doubtnut.com/l/_tHofRJV6EFU6


38.  


There are nine elements A to I. these are belongs to p-block element

other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F

and atomic number of H is average of atomic number of G and I. atomic

numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of

C, I and F are greater than A, G and D respectively. 

Q. Which of the following statement is incorrect?

A.  is acidic in nature

B.  is acidic in nature

B2C5

AC2

https://dl.doubtnut.com/l/_zSjID8G9mpn2


C.  is basic in nature

D.  is amphoteric in nature

Answer: C

View Text Solution

FC3

GC2

39. If P, Q, R and S are elements of 3rd period of p-block in modern

periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as: 

 


In which of the following linkage release of  is relatively more easier?

A. P-O-H

B. S-O-H

C. Q-O-H

D. R-O-H

Answer: B

P < Q < R < S

H +

https://dl.doubtnut.com/l/_zSjID8G9mpn2
https://dl.doubtnut.com/l/_Z69S5O3le54V


Watch Video Solution

40. If P, Q, R and S are elements of 3rd period of p-block in modern

periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as: 

 


Which element is expected to form amphoteric oxide?

A. P

B. Q

C. R

D. S

Answer: A

Watch Video Solution

P < Q < R < S

https://dl.doubtnut.com/l/_Z69S5O3le54V
https://dl.doubtnut.com/l/_zdrOy2Eigf22


41. If P, Q, R and S are elements of 3rd period of p-block in modern

periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as: 

 


Q. Chloride compound of which element is hypovalent?

A. S

B. Q

C. R

D. P

Answer: D

Watch Video Solution

P < Q < R < S

42. Consider the following elements with their electronegativity value: 

 


Q. Incorrect statements is:

Element A B C D

Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

https://dl.doubtnut.com/l/_spWzLe0jPSHK
https://dl.doubtnut.com/l/_M3VNeP4bUtGe


A. AOH is more acidic than DOH

B. BOH is more basic than COH

C. AB' molecule is predominantly ionic

D. D-OH' bond is more weaker than 'B-OH' bond in polar solvent

Answer: D

Watch Video Solution

43. Consider the following elements with their electronegativity value: 

 


Q. Select correct statement:

A. Oxide of element D is more acidic than that of A

B. Oxides of elements C and D are basic in nature

C. Oxide of element B is acidic in nature

D. BOH is more basic than 

Element A B C D

Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

H2O

https://dl.doubtnut.com/l/_M3VNeP4bUtGe
https://dl.doubtnut.com/l/_zERi6XlxIh1i


Answer: D

Watch Video Solution

44. In the modern period table, elements are arranged in order of

increasing atomic number which is related to the electric configuration.

Depending upon the type of orbitals receving the last electron, the

elements in the periodic table have been diviced into four blocks viz s,p,d

and f. The modern periodic table consists of 7 periods and 18 groups.

Each period being with the filling of a new energy shell. In according with

the Aufbua principle, the seven periods (1 to 7) have 2,8, 8, 18, 18, 32 and

32 elements respectively. The seventh period is still incomplete. To avoid

the periodic table being too long, the two series of f-block elements,

called lanthanodis and actionoids are placed at the bottom of the main

body of the periodic table. 

Which of the elements whose atomic numbers are given below, cannot be

accommodated in the present set up of the long form of the pariodic

table?

https://dl.doubtnut.com/l/_zERi6XlxIh1i
https://dl.doubtnut.com/l/_ayllq5qq2ULq


A. 107

B. 118

C. 126

D. 102

Answer: C

Watch Video Solution

45. In the modern periodic table, elements are arranged in order of

increasing atomic numbers, which is related to the electornic

configuration. Depending upon the type of orbitals receiving the last

electron, the elements in the periodic table have been divided into four

blocks, s, p,d and f. The modern periodic table consists of 7 periods and 18

groups. Each period begins with the filling of a new energy shell. in

accordance with the Aufbau principal, the seven periods (1 to 7) have

2,8,8,18,18,32 and 32 elements respectively. The seventh period is still

incomplete. To avoid the periodic table being too long, the two series of f-

https://dl.doubtnut.com/l/_ayllq5qq2ULq
https://dl.doubtnut.com/l/_D9mFHbmRnygp


block elements, called lanthanoids and actinoids, are placed at the

bottom of the main body of the periodic table 

The element with atomic number 57 belongs to

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

Watch Video Solution

46. The energy required to pull the most loosely bound electron form an

atom is known as ionizatino potential it is expressed in electron volts. The

value of ionization potntial depends on three factors: (i) the charge on

the nucleus (ii) the atomic radius and (iii) the screening effect of inner

electron shells. 

Q. Ionization potential of Na would be numerically the same as:

https://dl.doubtnut.com/l/_D9mFHbmRnygp
https://dl.doubtnut.com/l/_jXe3ku7t8l9l


A. electron affinity of 

B. electronegativity of 

C. electron affinity of Na

D. ionization potential of Mg

Answer: A

Watch Video Solution

Na+

Na+

47. The energy required to pull the most loosely bound electron form an

atom is known as ionizatino potential it is expressed in electron volts. The

value of ionization potntial depends on three factors: (i) the charge on

the nucleus (ii) the atomic radius and (iii) the screening effect of inner

electron shells. 

Q. Which of the following elements has the least ionization potential?

A. Lithium

B. Cesium

https://dl.doubtnut.com/l/_jXe3ku7t8l9l
https://dl.doubtnut.com/l/_FQQQ7ilanXBR


C. Magnesium

D. Calcium

Answer: B

Watch Video Solution

48. The energy required to pull the most loosely bound electron form an

atom is known as ionizatino potential it is expressed in electron volts. The

value of ionization potntial depends on three factors: (i) the charge on

the nucleus (ii) the atomic radius and (iii) the screening effect of inner

electron shells. 

Q. Incorrect order of ionisation energy is:

A. 

B. 

C. 

D. 

Pb(I. E. ) > Sn(I. E. )

Na+ (I. E. ) > Mg+ (I. E. )

Li+ (I. E. ) < O+ (I. E. )

Be+ (I. E. ) < C + (I. E. )

https://dl.doubtnut.com/l/_FQQQ7ilanXBR
https://dl.doubtnut.com/l/_4OxGEEdqoTVG


Answer: C

Watch Video Solution

49. All the elements, on the basis of long form of periodic table, can be

divided into four blocks, s,p, d and f. the ionization energies, electron

affinities, electronegativities, atomic and ionic radii and other physical

properties usually shown a regular pattern of change within a group or

along period with some irregularities. 

Q. On moving from Li to F in the second period, there would be a

decrease in :

A. non-metallic property

B. atomic radius

C. ionization potential

D. electronegativity

Answer: B

h id l i

https://dl.doubtnut.com/l/_4OxGEEdqoTVG
https://dl.doubtnut.com/l/_cH2PpzjoH0ua


Watch Video Solution

50. All the elements, on the basis of long form of periodic table, can be

divided into four blocks, s,p, d and f. the ionization energies, electron

affinities, electronegativities, atomic and ionic radii and other physical

properties usually shown a regular pattern of change within a group or

along period with some irregularities. 

Q. Which of the following element has the maximum value of

electronegativity?

A. Aluminium

B. Silicon

C. Phosphorus

D. Sulphur

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cH2PpzjoH0ua
https://dl.doubtnut.com/l/_7dBvDdGIVhur
https://dl.doubtnut.com/l/_D1qGhR7cedKi


51. All the elements, on the basis of long form of periodic table, can be

divided into four blocks, s,p, d and f. the ionization energies, electron

affinities, electronegativities, atomic and ionic radii and other physical

properties usually shown a regular pattern of change within a group or

along period with some irregularities. 

Q. Which of the following element has the maximum electron affinity?

A. Nitrogen

B. Oxygen

C. Fluorine

D. Chlorine

Answer: D

Watch Video Solution

52. The second ionisation energies are higher than the first ionisation

energies. This is mainly due to the fact the after the removal of the first

electron, the atom changes into monovalent positive ion. In the ion, the

https://dl.doubtnut.com/l/_D1qGhR7cedKi
https://dl.doubtnut.com/l/_irJMovSIEukI


number of electrons decreases but the nuclear charge remains the same.

as a result of this, the remaining electrons are held more tightly by the

nucleus and it becomes difficult to remove the second electron. therefore,

the value of second ionisation energy. , is greater than that of the

first ionisatio energy . similarly third ionisation energy  is

greater than that of second . 


Q. Successive ionisation energy of an atom is greater than previous one,

because:

A.  ratio increases

B.  ratio decreases

C.  ratio remains constant

D. none of these

Answer: A

Watch Video Solution

(IE2)

(IE1) (IE3)

IE2

p

e

p

e

p

e

https://dl.doubtnut.com/l/_irJMovSIEukI


53. The second ionisation energies are higher than the first ionisation

energies. This is mainly due to the fact the after the removal of the first

electron, the atom changes into monovalent positive ion. In the ion, the

number of electrons decreases but the nuclear charge remains the same.

as a result of this, the remaining electrons are held more tightly by the

nucleus and it becomes difficult to remove the second electron. therefore,

the value of second ionisation energy. , is greater than that of the

first ionisatio energy . similarly third ionisation energy  is

greater than that of second . 


Q. Correct order of ionisation potential of coinage metals is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(IE2)

(IE1) (IE3)

IE2

Au > Ag > Cu

Cu > Ag > Au

Au > Cu > Ag

Ag > Cu > Au

https://dl.doubtnut.com/l/_4TsrPSGB0CKB


54. The second ionisation energies are higher than the first ionisation

energies. This is mainly due to the fact the after the removal of the first

electron, the atom changes into monovalent positive ion. In the ion, the

number of electrons decreases but the nuclear charge remains the same.

as a result of this, the remaining electrons are held more tightly by the

nucleus and it becomes difficult to remove the second electron. therefore,

the value of second ionisation energy. , is greater than that of the

first ionisatio energy . similarly third ionisation energy  is

greater than that of second . 


Q.  of Mg metal are 178 and 348 kcal/mol respectively. the

energy required for the given reaction is: 

A.  kcal/mol

B.  kcal/mol

C.  kcal/mol

D.  kcal/mol

(IE2)

(IE1) (IE3)

IE2

IE1 and IE2

Mg(s) → Mg+ 2 + 2e−

+170

+526

−170

−526

https://dl.doubtnut.com/l/_4TsrPSGB0CKB
https://dl.doubtnut.com/l/_91nvK3TnKzJH


Answer: B

Watch Video Solution

55. Nuclear charge actually experienced by an electron is termed as

effective nuclear charge. The effective nuclear charge  actuall

ydepends on type of shell and orbital in which electron is actually

present. The relative extent to which the various orbitals penetrate the

electron clouds of other orbitals is 

 (for the same value of n) 


The phenomenon in which penultimate shell electrons act as screen or

sheild in between nucleus and valence shell electrons and thereby

reducing nuclear charge is known as shielding effect. the penultimate

shell electrons repel the valence shell electron to keep them loosely held

with nucleus. it is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionization energy. 

Q. Which of the following valence electron experience maximum effective

nuclear charge?

Z ∗

s > p > d > f

https://dl.doubtnut.com/l/_91nvK3TnKzJH
https://dl.doubtnut.com/l/_ZoiGLeM0kSHB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4s1

4p1

3d1

2p3

56. Nuclear charge actually experienced by an electron is termed as

effective nuclear charge. The effective nuclear charge  actuall

ydepends on type of shell and orbital in which electron is actually

present. The relative extent to which the various orbitals penetrate the

electron clouds of other orbitals is 

 (for the same value of n) 


The phenomenon in which penultimate shell electrons act as screen or

sheild in between nucleus and valence shell electrons and thereby

reducing nuclear charge is known as shielding effect. the penultimate

Z ∗

s > p > d > f

https://dl.doubtnut.com/l/_ZoiGLeM0kSHB
https://dl.doubtnut.com/l/_PdAQx5ymvOPQ


shell electrons repel the valence shell electron to keep them loosely held

with nucleus. it is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionization energy. 

Q. Which of the following is not concerned to effective nuclear charge?

A. Higher ionization potential of carbon than boron

B. Higher ionization potential of magnesium than aluminium

C. Higher values of successive ionization energy

D. Higher electronegativity of higher oxidation state

Answer: B

Watch Video Solution

57. Nuclear charge actually experienced by an electron is termed as

effective nuclear charge. The effective nuclear charge  actuall

ydepends on type of shell and orbital in which electron is actually

present. The relative extent to which the various orbitals penetrate the

electron clouds of other orbitals is 

Z ∗

https://dl.doubtnut.com/l/_PdAQx5ymvOPQ
https://dl.doubtnut.com/l/_wI0aRv4cLjsu


 (for the same value of n) 


The phenomenon in which penultimate shell electrons act as screen or

sheild in between nucleus and valence shell electrons and thereby

reducing nuclear charge is known as shielding effect. the penultimate

shell electrons repel the valence shell electron to keep them loosely held

with nucleus. it is thus evident that more is the shielding effect, lesser is

the effective nuclear charge and lesser is the ionization energy. 

Q. Ionzation enegy is not influenced by:

A. Size of atom

B. Effective nuclear charge

C. Electrons present in inner shell

D. Change in entropy

Answer: D

Watch Video Solution

s > p > d > f

https://dl.doubtnut.com/l/_wI0aRv4cLjsu


58. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which element is a noble gas?

A. P

B. T

C. R

D. S

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dvHQYUItBiHp


59. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which element form stable unipositve ion?

A. P

B. Q

C. R

D. T

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OwVKRjFKfVse


60. Ionization energies of five elements in kcal/mol are given below: 

 


Q. The element having most stable oxidation state +2 is?

A. Q

B. R

C. S

D. T

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_I5p11A3zUWKy


61. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which is a non-metal (excluding noble gas)?

A. P

B. Q

C. R

D. S

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5eRyxoQRHbBt


62. Ionization energies of five elements in kcal/mol are given below: 

 


Q. If Q reacts with fluorine and oxyge, the molecular formula of fluoride

and oxide will be respectively:

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

QF3, Q2Q3

QF , Q2O

QF2, QO

https://dl.doubtnut.com/l/_mT8solPAGm5E


63. Ionization energies of five elements in kcal/mol are given below: 

 


Q. Which of the following pair represents elements of same group?

A. Q,R

B. P,Q

C. P,S

D. Q,S

Answer: A

Watch Video Solution

64. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_MWg8kfzqaWHI
https://dl.doubtnut.com/l/_VmibjQhLhjTc


 


Based on the above information, answer the following questions. 

Q. Which of the element is likely to be reactive metal?

A. P

B. Q

C. R

D. S

Answer: B

Watch Video Solution

65. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_VmibjQhLhjTc
https://dl.doubtnut.com/l/_uPEf825zb4lC


 


Based on the above information, answer the following questions. 

Q. Which of the elements is likely to be reactive non-metal?

A. P

B. Q

C. R

D. S

Answer: D

Watch Video Solution

66. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_uPEf825zb4lC
https://dl.doubtnut.com/l/_5IxNU8LhP5j4


 


Based on the above information, answer the following questions. 

Q. Which represents a noble gas?

A. P

B. Q

C. R

D. S

Answer: A

Watch Video Solution

67. The I. . And the  in kJ  of a few elements designated by

P,Q,R,S are shown below: 

E1 I. E2 mol− 1

https://dl.doubtnut.com/l/_5IxNU8LhP5j4
https://dl.doubtnut.com/l/_azXmjaFKduYZ


 


Based on the above information, answer the following questions. 

Q. Which of the above elements forms a stable binary halide of the

formula ?

A. P

B. Q

C. R

D. S

Answer: C

Watch Video Solution

MX2

68. Elements with their electronic configuration are given below: 

Answer the following questions: ltbr. I:  
1s22s2

https://dl.doubtnut.com/l/_azXmjaFKduYZ
https://dl.doubtnut.com/l/_ZUnSIv8niOHB


II:  


III:  


IV  


V:  


Q. The elements with highest I.E. is:

A. I

B. III

C. II

D. V

Answer: C

Watch Video Solution

1s22s22p6

1s22s22p63s2

1s22s22p3

1s22s22p5

69. Elements with their electronic configuration are given below: 

Answer the following questions: II:  


III:  


IV  


1s22s22p6

1s22s22p63s2

1s22s22p3

https://dl.doubtnut.com/l/_ZUnSIv8niOHB
https://dl.doubtnut.com/l/_hem8iq8QxGU5


V:  


Q. The element with lowest electron gain enthalpy is:

A. I

B. II

C. III

D. IV

Answer: B

Watch Video Solution

1s22s22p5

70. Elements with their electronic configuration are given below: 

Answer the following questions: II:  


III:  


IV  


V:  


Q. The most ionic compound will be formed between :

1s22s22p6

1s22s22p63s2

1s22s22p3

1s22s22p5

https://dl.doubtnut.com/l/_hem8iq8QxGU5
https://dl.doubtnut.com/l/_ZD2dsbDKXCt8


A. I and IV

B. I and V

C. III and IV

D. III and V

Answer: D

Watch Video Solution

71. Elements with their electronic configuration are given below: 

Answer the following questions: II:  


III:  


IV  


V:  


Q. Which of the following is the correct order of increasing size?

A. 

B. 

1s22s22p6

1s22s22p63s2

1s22s22p3

1s22s22p5

I < III < IV < V

V < IV < III < I

https://dl.doubtnut.com/l/_ZD2dsbDKXCt8
https://dl.doubtnut.com/l/_9ueJhDHoPcqW


C. 

D. 

Answer: D

Watch Video Solution

I < IV < V < III

V < IV < I < III

72. J.C. Slater proposed an empirical constant that represents the

cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's

screening contant  is as :  


Here, Z is the atomic number of the atom, and hence is equal to the

actual number of protons in the atom. the parameter  is the effective

nuclear charge, which according to is smaller than Z, since the electron in

question is screened (shielded) from Z by an amount . Conversely, an

electron that is well shielded from the nuclear charge Z experiences a

small effective nuclear charge . 


The value of  for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is

σ Z ∗ = Z − σ

Z ∗

σ

Z ∗

σ

https://dl.doubtnut.com/l/_9ueJhDHoPcqW
https://dl.doubtnut.com/l/_JmU2NtmieS4u


calculated using a set of empirical rules developed by slater. according to

these rules, the value of  for the electron in question is the cumulative

total provided by the various other electrons of the atom. 

Q. The effective nuclear charge at the periphery of chromium atom [Z=24]:

A. 4.25

B. 2.6

C. 3.6

D. 1.21

Answer: B

Watch Video Solution

σ

73. J.C. Slater proposed an empirical constant that represents the

cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's

screening contant  is as :  


Here, Z is the atomic number of the atom, and hence is equal to the

σ Z ∗ = Z − σ

https://dl.doubtnut.com/l/_JmU2NtmieS4u
https://dl.doubtnut.com/l/_ASAN7bp9GLXg


actual number of protons in the atom. the parameter  is the effective

nuclear charge, which according to is smaller than Z, since the electron in

question is screened (shielded) from Z by an amount . Conversely, an

electron that is well shielded from the nuclear charge Z experiences a

small effective nuclear charge . 


The value of  for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is

calculated using a set of empirical rules developed by slater. according to

these rules, the value of  for the electron in question is the cumulative

total provided by the various other electrons of the atom. 

Q. Which of the following statement is correct?

A. A 4s-orbital is filled earlier than a 3d-orbital because,  for 

 for 4s.

B. A 4s-orbital is filled earlier than a 3d-orbital because,  for 

 for 3d

C. The effective nuclear charge for 3d-and 4s-orbitals are same, but

energy of 3d-orbital becomes higher.

Z ∗

σ

Z ∗

σ

σ

Z ∗

3d > Z ∗

Z ∗

4s > Z ∗

https://dl.doubtnut.com/l/_ASAN7bp9GLXg


D. The effective nuclear charge for 3d and 4s-orbitals are same but,

energy of 4s-orbital becomes higher.

Answer: B

Watch Video Solution

74. J.C. Slater proposed an empirical constant that represents the

cumulative extent to which the other electrons of an atom shield (or

screen) any particular electron from the nuclear charge. Thus, slater's

screening contant  is as :  


Here, Z is the atomic number of the atom, and hence is equal to the

actual number of protons in the atom. the parameter  is the effective

nuclear charge, which according to is smaller than Z, since the electron in

question is screened (shielded) from Z by an amount . Conversely, an

electron that is well shielded from the nuclear charge Z experiences a

small effective nuclear charge . 


The value of  for any one electron in a given electron configuration (i.e.,

in the presence of the other electrons of the atom in question) is

σ Z ∗ = Z − σ

Z ∗

σ

Z ∗

σ

https://dl.doubtnut.com/l/_ASAN7bp9GLXg
https://dl.doubtnut.com/l/_zCOKPyRcaPYq


calculated using a set of empirical rules developed by slater. according to

these rules, the value of  for the electron in question is the cumulative

total provided by the various other electrons of the atom. 

Q. According to Slater's rule, order of effective nuclear charge  for

last electron in case of Li, Na and K.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

σ

(Z ∗ )

Li > Na > K

K > Na > Li

Na > Li > K

K = Na > Li

75. The electronegativity of the following elements increases in the order:

A. C, N, Si, P

B. N, Si, C, P

https://dl.doubtnut.com/l/_zCOKPyRcaPYq
https://dl.doubtnut.com/l/_D9mxZR0ffaBy


C. Si, P, C, N

D. P, SI, N, C

Answer: C

Watch Video Solution

76. Metals have few electrons in their valence shell while non-metals

generally have more electrons in their valence shell. Metallic character is

closely related to atomic radius and ionisation enthalpy. Metallic

character increases from top to bottom in a group and decreases from

let to right in a period of periodic table. metallic character is inversely

related to electronegativity of element. 

Q. Considering the elements B, Al, Mg and K, the correct order of their

metallic character is:

A. 

B. 

C. 

B > Al > Mg > K

Al > K > B > Mg

Mg > Al > K > B

https://dl.doubtnut.com/l/_D9mxZR0ffaBy
https://dl.doubtnut.com/l/_XqfcZJHMMj70


D. 

Answer: D

Watch Video Solution

K > Mg > Al > B

77. The value of four quantum number for the last electron of atom of

element 'X' are n=7, l=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic

momentum for element 'X' is zero element 'X' has two isotopes (I)

 (II) . 


Q. The incorrect statement regarding element 'X' is:

A. Element 'X' belongs to 18th group

B. Number of unpaired electrons in element 'X' is zero

C. Atomic number of element 'X' is 118

D. X' is representative element

Answer: D

Watch Video Solution

A
ZX and B

ZX

https://dl.doubtnut.com/l/_XqfcZJHMMj70
https://dl.doubtnut.com/l/_JyeUvIm7HXVO


78. The value of four quantum number for the last electron of atom of

element 'X' are n=7, l=1,m=+1 and s=+1/2 or -1/2 and value of spin magnetic

momentum for element 'X' is zero element 'X' has two isotopes (I)

 (II) . 


Q. The value of A and B respectively are:

A. 118 and 136

B. 218 and 236

C. 236 and 254

D. 226 and 244

Answer: C

Watch Video Solution

A
ZX and B

ZX

79. The value of four quantum number for the last electron of atom of

element 'X' are n=7, l=1,m=+1 and s=+1/2 or -1/2 and vlaue of spin magnetic

https://dl.doubtnut.com/l/_JyeUvIm7HXVO
https://dl.doubtnut.com/l/_QZsrtQTKZotd
https://dl.doubtnut.com/l/_kOXpHmgvz5AB


momentum for element 'X' is zero element 'X' has two isotopes (I)

 (II) . 


Q. The possible value of all four quantum numbers for 90th electron of

atom of element 'X' is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A
ZX and B

ZX

n l m s

6 2 0 −1/2

n l m s

5 2 −1 +1/2

n l m s

6 0 0 +1/2

n l m s

5 3 −2 −1/2

https://dl.doubtnut.com/l/_kOXpHmgvz5AB


80.  


There are nine elements A to I. these are belongs to p-block element

other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F

and atomic number of H is average of atomic number of G and I. atomic

numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of

C, I and F are greater than A, G and D respectively. 

Q. The incorrect order is:

A. : Second ionisation energy

B. :  on valence shell

F > E

B > C Zeff

https://dl.doubtnut.com/l/_O6V9RJiEUHr4


C. : First ionisation energy

D. , Electronegativity

Answer: C

View Text Solution

I > H

C > F > E

81.  


There are nine elements A to I. these are belongs to p-block element

other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F

https://dl.doubtnut.com/l/_O6V9RJiEUHr4
https://dl.doubtnut.com/l/_x1UyrBOo2nZc


and atomic number of H is average of atomic number of G and I. atomic

numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of

C, I and F are greater than A, G and D respectively. 

Q. The correct statement is:

A.  oxidation state of H is more stable than its +3 oxidation state.

B.  is better oxidisng agent than 

C.  oxidation state of E is more stable than its +5 oxidation state

D. Ionisation energy of G is greater than that of "Tin".

Answer: D

View Text Solution

+5

G2 + G4 +

+3

https://dl.doubtnut.com/l/_x1UyrBOo2nZc


82.  


There are nine elements A to I. these are belongs to p-block element

other than halogen. If atomic number of B is average of atomic number of

A and C and atomic number of E is average of atomic number of D and F

and atomic number of H is average of atomic number of G and I. atomic

numbers of B, E and H are 7,15 and 83 respectively and atomic numbers of

C, I and F are greater than A, G and D respectively. 

Q. Which of the following statement is incorrect?

A.  is acidic in nature

B.  is acidic in nature

B2C5

AC2

https://dl.doubtnut.com/l/_eqlmVNCrP72r


C.  is basic in nature

D.  is amphoteric in nature

Answer: C

View Text Solution

FC3

GC2

83. If P, Q, R and S are elements of 3rd period of p-block in modern

periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as: 

 


Q.

View Text Solution

P < Q < R < S

84. If P, Q, R and S are elements of 3rd period of p-block in modern

periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as: 

https://dl.doubtnut.com/l/_eqlmVNCrP72r
https://dl.doubtnut.com/l/_DjiOdWj4lN5o
https://dl.doubtnut.com/l/_dWhf2ZPwomGS


 


Q.

View Text Solution

P < Q < R < S

85. If P, Q, R and S are elements of 3rd period of p-block in modern

periodic table, among these one element is metal and rest are non-metals

and their order of electronegativity is given as: 

 


Q. Chloride compound of which element is hypovalent?

A. S

B. Q

C. R

D. P

Answer: D

Watch Video Solution

P < Q < R < S

https://dl.doubtnut.com/l/_dWhf2ZPwomGS
https://dl.doubtnut.com/l/_gK7ZNhnIoQHI


86. Consider the following elements with their electronegativity value: 

 


Q. Incorrect statements is:

A. AOH is more acidic than DOH

B. BOH is more basic than COH

C. AB' molecule is predominantly ionic

D. D-OH' bond is more weaker than 'B-OH' bond in polar solvent

Answer: D

Watch Video Solution

Element A B C D

Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

87. Consider the following elements with their electronegativity value: 

 


Q. Select correct statement:

A. Oxide of element D is more acidic than that of A

Element A B C D

Electronegativity (Pauling scale) 3.77 1.12 2.25 3.10

https://dl.doubtnut.com/l/_7bjiUPZaTgla
https://dl.doubtnut.com/l/_e8YEqV7N2qID


B. Oxides of elements C and D are basic in nature

C. Oxide of element B is acidic in nature

D. BOH is more basic than 

Answer: D

Watch Video Solution

H2O

88. In the modern periodic table, elements are arranged in order of

increasing atomic numbers which is related to the electronic

configuration. Depending uponthe type of orbitals receiving the last

electron, the elements in the periodic table have been divided into four

blocks, viz, s,p,d, and f. the modern periodic table consists of 7 periods

and 18 groups. each period begins with the filling of a new energy shell. in

accordance with the aufbau principle, the seven periods (1 to 7) have

2,8,8,18,18,32 and 32 elements respectively. the seventh period is still

incomplete. to avoid the periodic table being too long, the two series of f-

block elements, called lanthanoids and actinoids are placed at the

https://dl.doubtnut.com/l/_e8YEqV7N2qID
https://dl.doubtnut.com/l/_9lJ43pM3F0t3


bottom of the maini body of the periodic table. 

Q. Which of the elements whose atomic numbers are given are given

below, cannot be accomodated in the present set up of the long form of

the periodic table?

A. 107

B. 118

C. 126

D. 102

Answer: C

Watch Video Solution

89. In the modern periodic table, elements are arranged in order of

increasing atomic numbers, which is related to the electornic

configuration. Depending upon the type of orbitals receiving the last

electron, the elements in the periodic table have been divided into four

blocks, s, p,d and f. The modern periodic table consists of 7 periods and 18

https://dl.doubtnut.com/l/_9lJ43pM3F0t3
https://dl.doubtnut.com/l/_jpUAeDSioUYt


ONE OR MORE ANSWERS IN/ARE CORRECT

groups. Each period begins with the filling of a new energy shell. in

accordance with the Aufbau principal, the seven periods (1 to 7) have

2,8,8,18,18,32 and 32 elements respectively. The seventh period is still

incomplete. To avoid the periodic table being too long, the two series of f-

block elements, called lanthanoids and actinoids, are placed at the

bottom of the main body of the periodic table 

The element with atomic number 57 belongs to

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jpUAeDSioUYt


1. Assign the position of the element having outer electronic

configuration, 

(A)  (n=6) 


(B)  


(C)  (n=6) 


Which of the following statement(s) is/are correct?

A. The element 'A' belong to 3rd period and 16th group.

B. The element 'B' belong to 4th period and 4th group

C. The element 'C' belong to 6th period and 3rd group and is

lanthanide element.

D. All A, B , C elements are metals

Answer: B::C::D

Watch Video Solution

ns2np2

(n − 1)d2ns2          (n = 4)

(n − 2)f 7(n − 1)d − 1ns2

https://dl.doubtnut.com/l/_NfQqmaII6bwh


2. Which of the following statement(s) regarding periodic properties

is/are incorrect?

A. Alkali metals have highest I.E. in respective period.

B. Noble gas have highest I.E. in respective period

C. First electron affinity of nitrogen is less than oxygen

D. F atom has smallest radius in periodic table

Answer: A::D

Watch Video Solution

3. Which of the following properties among halongens decrease(s) from

fluorine to iodine?

A. Electronegativity

B. Bond energy

C. Ionisation energy

https://dl.doubtnut.com/l/_cxgcx4aw085S
https://dl.doubtnut.com/l/_VgrECKGr3aV5


D. Electron affinity

Answer: A::C

Watch Video Solution

4. In halogens, which of the following decreases from fluorine to iodine?

A. Bond length

B. Electronegativity

C. The ionization energy of the element

D. Oxidizing power

Answer: B::C::D

Watch Video Solution

5. Mark the correct statements out of the following:

https://dl.doubtnut.com/l/_VgrECKGr3aV5
https://dl.doubtnut.com/l/_Pl5A4pyvTYBM
https://dl.doubtnut.com/l/_Hb6IylnJgNAA


A. He and the highest  in the periodic table

B. Cl has the highest E.A. out of all the elements in the periodic table

C. Hg and Br are liquid at room temperature

D. In anyperiod, the atomic radius of the noble gas is lowest

Answer: A::B::C

Watch Video Solution

I. E1

6. The diagram below shows part of the skeleton of the periodic table ini

which elements are indicated by letters which are not their usual

symbols. 

 


https://dl.doubtnut.com/l/_Hb6IylnJgNAA
https://dl.doubtnut.com/l/_j1V9zIieWYCe


Answer the following on the basis of modern periodic table: 

(I) Alkali metal(s) 

(II) an elements with the outer configuration of  


(III) Lanthanoids 

(IV) Elements with incomplete f-subshell 

(VI) Halogen(s) 

(VII) s-block element(s) 

(VIII) transition element(s) 

(IX) Noble gas (s) 

(X) Non-transtion element(s)

Watch Video Solution

d8s2

https://dl.doubtnut.com/l/_j1V9zIieWYCe


7. Answer the following on the basis of modern periodic table. 

 


(I) Group no. of elements with the valence shell ground state electron

configuration  


(II) Group no. of the elements with the valence shell ground state

electron configuratio  


(III) Group no. of the elements that have only three unpaired p electron in

ground state 

Watch Video Solution

ns2np5

ns2np3

8. Which of the following statements concerning elements with atomic

number 10 is true?

https://dl.doubtnut.com/l/_2ZWppyGNhAbm
https://dl.doubtnut.com/l/_OyurqVrCkI9J


A. it forms a covalent network solid

B. Element is monoatomic

C. It has a almost zero value of electron affinity

D. It has extremely high value of ionization energy

Answer: B::C::D

Watch Video Solution

9. Which of the following pairs of elements have same number of

electrons in their outermost shell?

A. Mn, Fe

B. Na, Sr

C. As, Bi

D. Se, Te

Answer: A::C::D

https://dl.doubtnut.com/l/_OyurqVrCkI9J
https://dl.doubtnut.com/l/_XQwO3xUwUOD6


Watch Video Solution

10. A change of Zn to  is a accompanied by a decrease in:

A. Number of valence electrons

B. atomic mass

C. number of shells

D. none of these

Answer: C

Watch Video Solution

Zn2 +

11. Which elements is named after the name of a planet is

A. Hg

B. Np

C. Pu

https://dl.doubtnut.com/l/_XQwO3xUwUOD6
https://dl.doubtnut.com/l/_Ky124NRkC9xb
https://dl.doubtnut.com/l/_eLSKhBkNaKEv


D. Ra

Answer: B::C

Watch Video Solution

12. The properties which are common to both groups 1 and 17 elements in

the periodic table are:

A. electropositive character incrases down the groups

B. Reactivity decrases from top to bottom in these grous

C. atomic radii incrases as the atomic number increases

D. Electronegativity decreases on moving down a group

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_eLSKhBkNaKEv
https://dl.doubtnut.com/l/_bIlH6p5KKMrf


13. There are three elements A, B and C. their atomic number are 

and  respectively. If  and the

electronic configuration of element A is , then correct order of

magnetic momentum is/are:

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

Z1, Z2

Z3 Z1 − Z2 = 2 and = Z3 − 2
Z1 + Z2

2

[Ar]3d64s2

B+ > A2 + > C 2 +

A3 + > B2 + > C

B > A > C 2 +

B = A3 + > C 3 +

14. Consider the following representation based on long form of periodic

table. 

https://dl.doubtnut.com/l/_XYOjfHSv98k8
https://dl.doubtnut.com/l/_MVlUr8L0Ja5G


 


Here P, Q< R and S are up, right down the left elements with respect to

the central element 'X' respectively. According to above representation

the correct mathc is/are

A. X-Ge, P-Si, Q,As, R-Sn, S-Ga

B. X-Te, P-Se, Q-I, R-Po, S-Sb

C. X-Sb, P-As, Q-Te, R-Bi, S-Sn

D. X-IN, P-Ga, Q-Sn, R-Tl, S-Cd

Answer: A::B::C::D

https://dl.doubtnut.com/l/_MVlUr8L0Ja5G


Watch Video Solution

15. Which of the following match is/are correct regarding B, Al, C and S

elements?

A. The highest first ionisation ethalpy : C

B. The largest atomic size: Al

C. The most negative electron gain enthalpy : C

D. The most metallic character: Al

Answer: A::B::C::D

Watch Video Solution

16. Consider the value of all four quantum number for last electron and

spin multiplicity (2s+1) for givenn two element 'X' and 'Y' in their ground

state: 

https://dl.doubtnut.com/l/_MVlUr8L0Ja5G
https://dl.doubtnut.com/l/_8uWqbTgOF3Lf
https://dl.doubtnut.com/l/_fSnYe1KLnxIl


The according to given information the correct statement is:

A. The bond angle  of possible hydride of element Y is

less than 

B. The possible halide of 'X' has two vacant p-orbitals on its central

atom.

C. Magnetic moment of Y is greater than X

D. X and Y element exhibits only single oxidation are

Answer: A::B::C

View Text Solution

(, n, , l, m, s, |2s + 1|), (X : , 2, 0, 0, + 1/2, 1), (Y : , 2, 1, − 1, − 1/2, 4)

(H − Y − H)

19028'

17. An element 'X' present in its ground state, the value of principal annd

azimuthal quantum number for last electron of element 'X' is n=3 and l=1

and spin multiplicity for given element is 4. then according to given

information correct statement(s) regarding givenn element 'X' is/are:

https://dl.doubtnut.com/l/_fSnYe1KLnxIl
https://dl.doubtnut.com/l/_Mdt15V52nHTf


A. Element 'X' is 3rd period and 15th group element

B. In valence shell of element 'X' electron density is symmetrically

distributed

C. Element 'X' has full filled valence shell.

D. none of these

Answer: A::B

Watch Video Solution

18. Which of the following pairs have approximately the same atomic

radii?

A. Zr and Hf

B. Al and Mg

C. Al and Ga

D. Na and Ne

https://dl.doubtnut.com/l/_Mdt15V52nHTf
https://dl.doubtnut.com/l/_qk71P6YlNroa


Answer: A::C

Watch Video Solution

19. Correct order of radii

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

Pb > Pb2 + > Pb4 +

In+ > Sn2 + > Sb3 + > Te4 +

Co > Ni > Cu > Zn

K + > Li+ > Mg2 + > Al3 +

20. The first ionisation energy of first atom is greater than that of second

atom, whereas reverse order is true for their second ionisation energy.

Which set of elements is in accordance to above statement?

https://dl.doubtnut.com/l/_qk71P6YlNroa
https://dl.doubtnut.com/l/_L9s8RF3cLF4e
https://dl.doubtnut.com/l/_4Br4eDLbCMCK


A. CgtB

B. PgtS

C. BegtB

D. MggtNa

Answer: A::B::C::D

Watch Video Solution

21. Ionization energy of an element is:

A. Equal in magnitude but opposite in sig to the electron gain

enthalpy of the cation of the element

B. Same as electron affinity of the element

C. Enegy required to remove one valence electron from an isolated

gseous atom in its ground state

https://dl.doubtnut.com/l/_4Br4eDLbCMCK
https://dl.doubtnut.com/l/_hM6l42yHaKTu


D. Equal in magnitude but opposite in sign to t no gain enthalpy of

the anion of the element

Answer: A::C

Watch Video Solution

22. Consider the following ionization steps : 

 


 


Select correct statement(s)
 a)  is 100eV b)

 c)  of  is 250eV
 d)

 of M(g) is 14=150eV

A.  of M(g) is 100 eV

B.  of  is 150 eV

C.  of M(g) is 250 eV

D.  of M(g) is 150 eV

M(g) → M + (g) + e− , ΔH = 100eV

M(g) → M 2 + (g) + 2e− , ΔH = 250eV

I. E.1  of M(g)

M + (g) → M 2 + (g) + e− , ΔH = 150eV I. E.2 M(g)

I. E.2

I. E1

I. E1 Mg+ (g)

I. E2

I. E2

https://dl.doubtnut.com/l/_hM6l42yHaKTu
https://dl.doubtnut.com/l/_rgxUUOqU77ID


Answer: A::B::D

Watch Video Solution

23. Select the correct order of periodic properties of species :

A. : Ionic radii

B. : Second ionisation energy

C. : Atomic radius

D.  : First ionisation energy

Answer: B::C::D

Watch Video Solution

Fe2 + < Fe3 +

N < O

Cu < Zn

In < Tl

24. Select the incorrect statement(s)/order (s):

A. d-orbital can accommodate 10 electrons

https://dl.doubtnut.com/l/_rgxUUOqU77ID
https://dl.doubtnut.com/l/_TCXaGVKdb1oi
https://dl.doubtnut.com/l/_9RE721vdVsgv


B. , order of successive I.E. is 

C. Number of unpiared electrons in  cationgt Number of

unpaired electrons in  cation

D. First ionisation energy of Pt is greater than that of Pd

Answer: C

Watch Video Solution

Na
2s22p63s1

I .E1

Na+

2s22p6

I .E2
−−→ Na2 +

2s22p5

I .E3
−−→ Na3 +

2s22p4

I. E1 < I. E2 < I. E3

Co2 +

Co3 +

25. Consider the following values of I.E.(eV) for elements W and X: 

 


Other two element Y and Z hav outer electronic configuration

 respectively. then according to given information

which of the following compound(s) is/are not possible?

A. 

Element I. E1 I. E2 I. E3 I. E4

W 10.5 15.5 24.9 79.8

X 8 14.8 78.9 105.8

ns2np4 and ns2np5

W2Y3

https://dl.doubtnut.com/l/_9RE721vdVsgv
https://dl.doubtnut.com/l/_kq1XA3C31szd


B. 

C. 

D. 

Answer: B::C

Watch Video Solution

X2Y3

WZ2

XZ2

26. The sum of  for element P and Q are

given below: 

 


Then according to the given information the correct statement (s) is/are

A.  is more stable than 

B.  is less stable than 

C.  is more stable than 

D.  is less stable than

IE1 and IE2, IE3 and IE4

IE1 + IE2 IE2 + IE4

(P ) 2.45 8.82

(Q) 2.85 6.11

P 2 + Q2 +

P 2 + Q2 +

P 4 + Q4 +

P 4 + Q4 +

https://dl.doubtnut.com/l/_kq1XA3C31szd
https://dl.doubtnut.com/l/_6XiE2FvJu0Sw


Answer: A::D

Watch Video Solution

27. Consider the successive ionisation energy for an element 'A' .

 are 100 eV , 150 eV , 181eV , 2000 eV , 2200 eV .

Select correct statement (s) for element 'A' : a)Element 'A' may be metal

b)Element 'A' may from trivalent cation c)Oxide of element 'A' may be

amphoteric d)Element 'A' may be non-metal

A. Element 'A' may be metal

B. Element 'a' may form trivalent cation

C. Oxide of element 'A' may be amphoteric

D. Element 'A' may be non-metal

Answer: A::B::C::D

Watch Video Solution

IE1, IE2, IE3, IE4, IE5

https://dl.doubtnut.com/l/_6XiE2FvJu0Sw
https://dl.doubtnut.com/l/_Xehlvr0jZKaT
https://dl.doubtnut.com/l/_1tkFqT6EeezB


28. According to Slater's rule , correct order of  on valence shell

electron is :

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Zeff

Fe > Fe2 + > Fe3 +

N 3 − < O2 − < F −

Na+ < Mg2 + < Al3 +

Tl2 + < V 3 + < Mn5 +

29. Which of the following order is/are correct?

A.  (size)

B. 

C. 

D. 

Mg2 + (size) > Li+

S(E. A) > O(E. A)

Hg(I. E. ) > Cd(I. E)

P (I. E) > S(I. E)

https://dl.doubtnut.com/l/_1tkFqT6EeezB
https://dl.doubtnut.com/l/_4FUoaRzZxhwr


Answer: B::C::D

Watch Video Solution

30. Correct order of electron affinity is/are:

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

S > O

Al > B

Mg > Na

P > N

31. Which of the following statement(s) is/are correct?

A. van der waals' radius of iodine is more than its covalent radius

https://dl.doubtnut.com/l/_4FUoaRzZxhwr
https://dl.doubtnut.com/l/_wlOhrB8QjFhv
https://dl.doubtnut.com/l/_iLk5kzrHjfzf


B. All isoelectronic ions of corresponding elements belong to the

same period of the periodic table.

C. IE. Of N-atom is higher than that of O-atom, while  of O-atom is

higher than that of N-atom.

D. The electron affinity of fluorine is greater than that of chlorine.

Answer: A::C

Watch Video Solution

IE2

32. Order of Electron affinity of the elements or ions shown correctly?

A. 

B. 

C. 

D. 

Answer: A::B

S > O−

P > N −

O− > S −

N − > P

https://dl.doubtnut.com/l/_iLk5kzrHjfzf
https://dl.doubtnut.com/l/_vCSxmGGQ9dMd


Watch Video Solution

33. Which of the following statement regarding halogens is/are correct?

A. Ionization energy decreases with increase in atomic number

B. electronegativity decreases with increase in atomic number

C. Electron affinity decreases with increase in atomic number

D. Enthalpy of fusion increses with increase in atomic number

Answer: A::B::D

Watch Video Solution

34. Which of the following statements are correct?

A. F is the most electronegative and Cs is the most electropositive

element

B. The ionization energy of halogens decreses from F to I

https://dl.doubtnut.com/l/_vCSxmGGQ9dMd
https://dl.doubtnut.com/l/_4KqyceU0WFpO
https://dl.doubtnut.com/l/_cX05YfglVRWL


C. The electron affinity of Cl is higher than that of F thorugh their

electronegativities are in the reverse order

D. The electron affinity of noble gases in almost zero

Answer: A::B::C::D

Watch Video Solution

35. Consider the order . Then correct

statement(s) is/are :

A. Increasing order of .

B. Increasaing order of size

C. Increasing order of I.E

D. Increasing order of E.A

Answer: A::C::D

Watch Video Solution

O2 − < F − < Na+ < Mg2 +

Zeff

https://dl.doubtnut.com/l/_cX05YfglVRWL
https://dl.doubtnut.com/l/_oj89kRiBOqyx


36. Consider the following reaction: 

(i)  


(ii)  


(iii)  


(iv)  


then according to given information the correct statement is/are:

A.  is more negative than 

B.  is less negative than 

C.  are negative whereas  is positive

D.  are negative whereas  positive

Answer: A::B::C

Watch Video Solution

O ( g ) + e− → O−
( g )

, ΔH1

F ( g ) + e− → F −
( g )

, ΔH2

Cl ( g ) + e− → Cl−
( g )

, ΔH3

O−
( g )

+ e− → O2 −
( g )

, ΔH4

ΔH3 ΔH1 and ΔH2

ΔH1 ΔH2

ΔH1, ΔH2 and ΔH3 ΔH4

ΔH1 and ΔH3 ΔH2 and ΔH4

37. Which of the following is incorrect order of property as indicated ?

https://dl.doubtnut.com/l/_oj89kRiBOqyx
https://dl.doubtnut.com/l/_WnvpRccfFyho
https://dl.doubtnut.com/l/_I7nU2qwPPqk5


A.  : Atomic size

B.  :Metallic character

C.  :Ionisation energy

D.  :Electron affinity

Answer: B::C::D

Watch Video Solution

Na+ < F − < O2 − < Ne < Ar

Br < Se < As < Ge

Na < Al < Si < Mg

I < Br < Cl < F

38. Which of the following is/are correct order?

A. Atomic rdius 

B. 2nd ionisation energy 

C. Electron affinity: 

D.  (effective nuclear change): 

Answer: A::B::C

Watch Video Solution

F < O < F − < O2 −

C < N < F < O

I < Br < F < Cl

Zeff Al < Al+ < Al3 + < Al2 +

https://dl.doubtnut.com/l/_I7nU2qwPPqk5
https://dl.doubtnut.com/l/_NA1ePNkyPHsu


39. Consider the following sequence of reaction: 

 


If electronic configuration of element X is , then which of the

following order is correct regarding given enthalpies?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

[Ne]3s1

|ΔH4| = |ΔH5|

|ΔH2| > |ΔH1|

|ΔH2| > |ΔH3|

|ΔH1| = |ΔH6|

40. The correct statement is/are:

https://dl.doubtnut.com/l/_NA1ePNkyPHsu
https://dl.doubtnut.com/l/_N1uVKBY6vBlV
https://dl.doubtnut.com/l/_eMaLibVpMjBD


A. Zirconium (Zr) and hafnium (Hf) have almost same size

B. Correct order of ionisation energy of coinage metals is CugtAg

C. Carbon atom in  is more electronegative than carbon atom in 

D.  is more stable than 

Answer: A::B::D

Watch Video Solution

< Au

CCl4

CF4

Pb2 + Pb4 +

41. Which of the following statements is true about electronegativity?

A. Electronegativity of an element depends upon its effective nuclear

charge

B. Electronegativity of a cation is proportional to charge on the cation

https://dl.doubtnut.com/l/_eMaLibVpMjBD
https://dl.doubtnut.com/l/_zy517hfYgyY9


C. Electronegativity increases as the s-character in hybrid orbital

increases

D. Electronegativity of a anion is proportiona to charge on the anion

Answer: A::B::C

Watch Video Solution

42. Which of the following element have the similar value of

electronegativity?

A. H

B. S

C. Te

D. P

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_zy517hfYgyY9
https://dl.doubtnut.com/l/_nfF4XtXoahM2


43. Which of the following properties can be determined by using Born-

Haber cycle ?

A. Hydration energy of ion

B. Electron gain enthalpy

C. lattice enegy

D. Electronegativity

Answer: A::D

Watch Video Solution

44. Select correct order(s) of electronegativity of element is/are:

A. Paulling scale (E.N. of F-atom)gtMulliken scale (E.N. of F-atom)

B.  (E.N. of Cl-atom)  (E.N. of C-atom)

C.  (E.N. of C-atom)  (E.N. of C-atom)

Cl2O7 > Cl2O5

CH4 > CO2

https://dl.doubtnut.com/l/_nfF4XtXoahM2
https://dl.doubtnut.com/l/_jwrWreMiVZLG
https://dl.doubtnut.com/l/_uwwfm310rjTL


D.  (E.N.)  (E.N.)

Answer: A::B::D

Watch Video Solution

Cu2 + > Cu+

45. Choose the correct statement(s):

A.  is the smalest size cation in the periodic table.

B. van der waals' radius of chlorine is more than covalent radius

C. ionic mobility of hydrated  is greater than that of hydrated 

.

D. He atom is having highest I.E. in the periodic state

Answer: A::B::D

Watch Video Solution

H +

Li+

Na+

https://dl.doubtnut.com/l/_uwwfm310rjTL
https://dl.doubtnut.com/l/_DnBnOHVdW1VP


46. Select equation having endothermic step:

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

S − (g) → S2 − (g)

Na+ (g) + Cl− (g) → NaCl(s)

N(g) → N − (g)

Al2 + (g) → Al3 + (g)

47. Consider the following Born-Haber's cycle: 

 


https://dl.doubtnut.com/l/_cG3yTx2fOZot
https://dl.doubtnut.com/l/_waajfBMG8PqO


(Where  are in kJ/mol) 


Then according to given information the correct statement is/are:

A.  are always positive

B. 

C. Second electron gain enthalpy of X is negative

D.  must be negative for formationn of (s)

Answer: A::B::D

View Text Solution

ΔH1, ΔH2, ΔH3, ΔH4, ΔH5 and ΔH6

ΔH2 and ΔH3

ΔH1 = 2ΔH2 + ΔH3 + 2ΔH4 + 3ΔH5 + ΔH6

3

2

ΔH1 B2X5

48. Which of the followng oxides is/are amphoteric/

A. 

B. 

C. 

D. 

Na2O

CaO

Al2O3

SnO2

https://dl.doubtnut.com/l/_waajfBMG8PqO
https://dl.doubtnut.com/l/_qtWtMjrP7fN1


Answer: C::D

Watch Video Solution

49. Which of the following show amphoteric behaviour?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Zn(OH)2

Be(OH)2

Al(OH)3

Pb(OH)2

50. Assign the position of the element having outer electronic

configuration, 

(A)  (n=6) 
ns2np2

https://dl.doubtnut.com/l/_qtWtMjrP7fN1
https://dl.doubtnut.com/l/_tzRTwNO5XPb0
https://dl.doubtnut.com/l/_1kRrKKnJ50Ry


(B)  


(C)  (n=6) 


Which of the following statement(s) is/are correct?

A. The element 'A' belong to 3rd period and 16th group.

B. The element 'B' belong to 4th period and 4th group

C. The element 'C' belong to 6th period and 3rd group and is

lanthanide element.

D. All A, B , C elements are metals

Answer: B::C::D

Watch Video Solution

(n − 1)d2ns2          (n = 4)

(n − 2)f 7(n − 1)d − 1ns2

51. Which of the following statement(s) regarding periodic properties

is/are incorrect?

A. Alkali metals have highest I.E. in respective period.

B. Noble gas have highest I.E. in respective period

https://dl.doubtnut.com/l/_1kRrKKnJ50Ry
https://dl.doubtnut.com/l/_iNMMMrJ53T2V


C. First electron affinity of nitrogen is less than oxygen

D. F atom has smallest radius in periodic table

Answer: A::D

Watch Video Solution

52. Which of the following properties among halongens decrease(s) from

fluorine to iodine?

A. Electronegativity

B. Bond energy

C. Ionisation energy

D. Electron affinity

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_iNMMMrJ53T2V
https://dl.doubtnut.com/l/_sbCwyZLVwlFn
https://dl.doubtnut.com/l/_yqoC0kincMAI


53. In halogens, which of the following decreases from fluorine to iodine?

A. Bond length

B. Electronegativity

C. The ionization energy of the element

D. Oxidizing power

Answer: B::C::D

Watch Video Solution

54. Mark the correct statements out of the following:

A. He and the highest  in the periodic table

B. Cl has the highest E.A. out of all the elements in the periodic table

C. Hg and Br are liquid at room temperature

D. In anyperiod, the atomic radius of the noble gas is lowest

I. E1

https://dl.doubtnut.com/l/_yqoC0kincMAI
https://dl.doubtnut.com/l/_90uMpDOHo63z


Answer: A::B::C

Watch Video Solution

55. The diagram below shows part of the skeleton of the periodic table ini

which elements are indicated by letters which are not their usual

symbols. 

 


Answer the following on the basis of modern periodic table: 

(I) Alkali metal(s) 

(II) an elements with the outer configuration of  


(III) Lanthanoids 

(IV) Elements with incomplete f-subshell 

(VI) Halogen(s) 

d8s2

https://dl.doubtnut.com/l/_90uMpDOHo63z
https://dl.doubtnut.com/l/_TrqA7Urovrxc


(VII) s-block element(s) 

(VIII) transition element(s) 

(IX) Noble gas (s) 

(X) Non-transtion element(s)

Watch Video Solution

56. Answer the following on the basis of modern periodic table. 

 


(I) Group no. of elements with the valence shell ground state electron

configuration  


(II) Group no. of the elements with the valence shell ground state

electron configuratio  


ns2np5

ns2np3

https://dl.doubtnut.com/l/_TrqA7Urovrxc
https://dl.doubtnut.com/l/_nctxOXiXqwn5


(III) Group no. of the elements that have only three unpaired p electron in

ground state 

(V) ground 3A elements.

Watch Video Solution

57. Which of the following statements concerning elements with atomic

number 10 is true?

A. it forms a covalent network solid

B. Element is monoatomic

C. It has a almost zero value of electron affinity

D. It has extremely high value of ionization energy

Answer: B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_nctxOXiXqwn5
https://dl.doubtnut.com/l/_MxXgaxc1pPQG


58. Which of the following pairs of elements have same number of

electrons in their outermost shell?

A. Mn, Fe

B. Na, Sr

C. As, Bi

D. Se, Te

Answer: C::D

Watch Video Solution

59. A change of Zn to  is a accompanied by a decrease in:

A. Number of valence electrons

B. atomic mass

C. Atomic number of element 'X' is 118

D. number of shells

Zn2 +

https://dl.doubtnut.com/l/_JQj4DpYmRxw2
https://dl.doubtnut.com/l/_yzZjnW2p1p7o


Answer: A::D

Watch Video Solution

60. Which elements is named after the name of a planet is

A. Hg

B. Np

C. Pu

D. Ra

Answer: B::C

Watch Video Solution

61. The properties which are common to both groups 1 and 17 elements in

the periodic table are:

https://dl.doubtnut.com/l/_yzZjnW2p1p7o
https://dl.doubtnut.com/l/_e5PGfuunMB08
https://dl.doubtnut.com/l/_nIpqsFokz99G


A. electropositive character incrases down the groups

B. Reactivity decrases from top to bottom in these grous

C. atomic radii incrases as the atomic number increases

D. Electronegativity decreases on moving down a group

Answer: A::C::D

Watch Video Solution

62. There are three elements A, B and C. their atomic number are 

and  respectively. If  and the

electronic configuration of element A is , then correct order of

magnetic momentum is/are:

A. 

B. 

C. 

D. 

Z1, Z2

Z3 Z1 − Z2 = 2 and = Z3 − 2
Z1 + Z2

2

[Ar]3d64s2

B+ > A2 + > C 2 +

A3 + > B2 + > C

B > A > C 2 +

B = A3 + > C 3 +

https://dl.doubtnut.com/l/_nIpqsFokz99G
https://dl.doubtnut.com/l/_V1TQpywt6cSa


Answer: A::B::C

Watch Video Solution

63. Consider the following representation based on long form of periodic

table. 

 


Here P, Q< R and S are up, right down the left elements with respect to

the central element 'X' respectively. According to above representation

the correct mathc is/are

https://dl.doubtnut.com/l/_V1TQpywt6cSa
https://dl.doubtnut.com/l/_QIrG3bya6E2E


A. X-Ge, P-Si, Q,As, R-Sn, S-Ga

B. X-Te, P-Se, Q-I, R-Po, S-Sb

C. X-Sb, P-As, Q-Te, R-Bi, S-Sn

D. X-IN, P-Ga, Q-Sn, R-Tl, S-Cd

Answer: A::B::C::D

Watch Video Solution

64. Which of the following match is/are correct regarding B, Al, C and S

elements?

A. The highest first ionisation ethalpy : C

B. The largest atomic size: Al

C. The most negative electron gain enthalpy : C

D. The most metallic character: Al

Answer: A::B::D

https://dl.doubtnut.com/l/_QIrG3bya6E2E
https://dl.doubtnut.com/l/_arvZkTNtiLv9


Watch Video Solution

65. Consider the value of all four quantum number for last electron and

spin multiplicity (2s+1) for givenn two element 'X' and 'Y' in their ground

state: 

The according to given information the correct statement is:

A. The bond angle  of possible hydride of element Y is

less than 

B. The possible halide of 'X' has two vacant p-orbitals on its central

atom.

C. Magnetic moment of Y is greater than X

D. X and Y element exhibits only single oxidation are

Answer: A::B::C

View Text Solution

(, n, , l, m, s, |2s + 1|), (X : , 2, 0, 0, + 1/2, 1), (Y : , 2, 1, − 1, − 1/2, 4)

(H − Y − H)

19028'

https://dl.doubtnut.com/l/_arvZkTNtiLv9
https://dl.doubtnut.com/l/_Q6Dn1ijZO2Wt


66. An element 'X' present in its ground state, the value of principal annd

azimuthal quantum number for last electron of element 'X' is n=3 and l=1

and spin multiplicity for given element is 4. then according to given

information correct statement(s) regarding givenn element 'X' is/are:

A. Element 'X' is 3rd acid period and 15th group element

B. In valence shell of element 'X' electron density is symmetrically

distributed

C. Element 'X' has full filled valence shell.

D. none of these

Answer: A::B

Watch Video Solution

67. Which of the following pairs have approximately the same atomic

radii?

https://dl.doubtnut.com/l/_EjFydEpG2S6F
https://dl.doubtnut.com/l/_HUA1rCgoZmxV


A. Zr and Hf

B. Al and Mg

C. Al and Ga

D. Na and Ne

Answer: A::C

Watch Video Solution

68. The correct order of radiii is/are:

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

Pb > Pb2 + > Pb4 +

In+ > Sn2 + > Sb3 + > Te4 +

Co > Ni > Cu > Zn

K + > Li+ > Mg2 + > Al3 +

https://dl.doubtnut.com/l/_HUA1rCgoZmxV
https://dl.doubtnut.com/l/_YeoUEau5vVgV


69. The first ionisation energy of first atom is greater than that of second

atom, whereas reverse order is true for their second ionisation energy.

Which set of elements is in accordance to above statement?

A. CgtB

B. PgtS

C. BegtB

D. MggtNa

Answer: A::B::C::D

Watch Video Solution

70. Ionization energy of an element is:

A. Equal in magnitude but opposite in sig to the electron gain

enthalpy of the cation of the element

https://dl.doubtnut.com/l/_YeoUEau5vVgV
https://dl.doubtnut.com/l/_3b3LlUxl8Gsb
https://dl.doubtnut.com/l/_iDCQPvJtoOQn


B. Same as electron affinity of the element

C. Enegy required to remove one valence electron from an isolated

gseous atom in its ground state

D. Equal in magnitude but opposite in sign to t no gain enthalpy of

the anion of the element

Answer: A::C

Watch Video Solution

71. Consider the following ionization stesps: 

 


 


Select correct statement(s),

A.  of M(g) is 100 eV

B.  of  is 150 eV

C.  of M(g) is 250 eV

M(g)otM + (g) + e− ,     ΔH = + 100eV

M(g) → M 2 + (g) + 2e− ,        ΔH = + 250eV

I. E1

I. E1 Mg+ (g)

I. E2

https://dl.doubtnut.com/l/_iDCQPvJtoOQn
https://dl.doubtnut.com/l/_P7zZBPmVKJA7


D.  of M(g) is 150 eV

Answer: A::B::D

Watch Video Solution

I. E2

72. Select the correct order of periodic properties of sepecies:

A. : Ionic radii

B. : Second ionisation energy

C. : Atomic radius

D.  : First ionisation energy

Answer: B::C::D

Watch Video Solution

Fe2 + < Fe3 +

N < O

Cu < Zn

In < Tl

73. Select the incorrect statement(s)/order (s):

https://dl.doubtnut.com/l/_P7zZBPmVKJA7
https://dl.doubtnut.com/l/_Wj56nwLp7ana
https://dl.doubtnut.com/l/_zdzOD2V9hns2


A. d-orbital can accommodate 10 electrons

B. , order of successive I.E. is 

C. Number of unpiared electrons in  cationgt Number of

unpaired electrons in  cation

D. First ionisation energy of Pt is greater than that of Pd

Answer: A::B::C

Watch Video Solution

Na
2s22p63s1

I .E1

Na+

2s22p6

I .E2
−−→ Na2 +

2s22p5

I .E3
−−→ Na3 +

2s22p4

I. E1 < I. E2 < > I. E3

Co2 +

Co3 +

74. Consider the following values of I.E.(eV) for elements W and X: 

 


Other two element Y and Z hav outer electronic configuration

 respectively. then according to given information

which of the following compound(s) is/are not possible?

Element I. E1 I. E2 I. E3 I. E4

W 10.5 15.5 24.9 79.8

X 8 14.8 78.9 105.8

ns2np4 and ns2np5

https://dl.doubtnut.com/l/_zdzOD2V9hns2
https://dl.doubtnut.com/l/_yKqgZNVULqXC


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

W2Y3

X2Y3

WZ2

XZ2

75. The sum of  for element P and Q are

given below: 

 


Then according to the given information the correct statement (s) is/are

A.  is more stable than 

B.  is less stable than 

C.  is more stable than 

IE1 and IE2, IE3 and IE4

IE1 + IE2 IE3 + IE4

(P ) 2.45 8.82

(Q) 2.85 6.11

P 2 + Q2 +

P 2 + O2 +

P 4 + Q4 +

https://dl.doubtnut.com/l/_yKqgZNVULqXC
https://dl.doubtnut.com/l/_EHog2viBV4Tr


D.  is less stable thann 

Answer: A::D

Watch Video Solution

P 4 + Q4 +

76. Consider the successive ionisation energy for an element 'A' 

 are 100 eV, 150 eV, 181 eV, 2000 eV, 2200 eV. 


Select correct statement(s) for element 'A':

A. Element 'A' may be metal

B. Element 'a' may form trivalent cation

C. Oxide of element 'A' may be amphoteric

D. Element 'A' may be non-metal

Answer: A::B::C::D

Watch Video Solution

IE1, IE2, IE3, IE4, IE5

https://dl.doubtnut.com/l/_EHog2viBV4Tr
https://dl.doubtnut.com/l/_7hK8OsktIgdw
https://dl.doubtnut.com/l/_bKEVkEHRjzEH


77. According to Slater's rule, correct order of  on valence shell

electron is:

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Zeff

Fe > Fe2 + > Fe3 +

N 3 − < O2 − < F −

Na+ < Mg2 + < Al3 +

Tl2 + < V 3 + < Mn5 +

78. Which of the following order is/are correct?

A.  (size)

B. 

C. 

D. 

Mg2 + (size) > Li+

S(E. A) > O(E. A)

Hg(I. E. ) > Cd(I. E)

P (I. E) > S(I. E)

https://dl.doubtnut.com/l/_bKEVkEHRjzEH
https://dl.doubtnut.com/l/_1e7s2jY1MdqC


Answer: B::C::D

Watch Video Solution

79. Correct order of electron affinity is/are:

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

S > O

Al > B

Mg > Na

P > N

80. Which of the following statement(s) is/are correct?

A. van der waals' radius of iodine is more than its covalent radius

https://dl.doubtnut.com/l/_1e7s2jY1MdqC
https://dl.doubtnut.com/l/_xGk0PvZH5Bik
https://dl.doubtnut.com/l/_IKWy5TDD29yu


B. All isoelectronic ions of corresponding elements belong to the

same period of the periodic table.

C. IE. Of N-atom is higher than that of O-atom, while  of O-atom is

higher than that of N-atom.

D. The electron affinity of fluorine is greater than that of chlorine.

Answer: A::C

Watch Video Solution

IE2

81. Electron affinity of the elements or ions shown correctly?

A. 

B. 

C. 

D. 

Answer: A::B

S > O−

P > N −

O− > S −

N − > P

https://dl.doubtnut.com/l/_IKWy5TDD29yu
https://dl.doubtnut.com/l/_1A33zzK5zCDQ


Watch Video Solution

82. Which of the following statement regarding halogens is/are correct?

A. Ionization energy decreases with increase in atomic number

B. electronegativity decreases with increase in atomic number

C. Electron affinity decreases with increase in atomic number

D. Enthalpy of fusion increses with increase in atomic number

Answer: A::B::D

Watch Video Solution

83. Which of the following statements are correct?

A. F is the most electronegative and Cs is the most electropositive

element

B. The ionization energy of halogens decreses from F to I

https://dl.doubtnut.com/l/_1A33zzK5zCDQ
https://dl.doubtnut.com/l/_xG59vNsUEf3H
https://dl.doubtnut.com/l/_aiuBT4dj2NIO


C. The electron affinity of Cl is higher than that of F thorugh their

electronegativities are in the reverse order

D. The electron affinity of noble gases in almost zero

Answer: A::B::C::D

Watch Video Solution

84. Consider the order . Then correct

statement(s) is/are :

A. Increasing order of .

B. Increasaing order of size

C. Increasing order of I.E

D. Increasing order of E.A

Answer: A::C::D

Watch Video Solution

O2 − < F − < Na+ < Mg2 +

Zeff

https://dl.doubtnut.com/l/_aiuBT4dj2NIO
https://dl.doubtnut.com/l/_CxNMcyigug6N


85. Consider the following reaction: 

(i)  


(ii)  


(iii)  


(iv)  


then according to given information the correct statement is/are:

A.  is more negative than 

B.  is less negative than 

C.  are negative whereas  is positive

D.  are negative whereas  positive

Answer: A::B::C

Watch Video Solution

O ( g ) + e− → O−
( g )

, ΔH1

F ( g ) + e− → F −
( g )

, ΔH2

Cl ( g ) + e− → Cl−
( g )

, ΔH3

O−
( g )

+ e− → O2 −
( g )

, ΔH4

ΔH3 ΔH1 and ΔH2

ΔH1 ΔH2

ΔH1, ΔH2 and ΔH3 ΔH4

ΔH1 and ΔH3 ΔH2 and ΔH4

86. Which of the following is incorrect order of property as indicated ?

https://dl.doubtnut.com/l/_CxNMcyigug6N
https://dl.doubtnut.com/l/_KYPzfzQBjIGq
https://dl.doubtnut.com/l/_MRq0FMXFlRAL


A.  : Atomic size

B.  :Metallic character

C.  :Ionisation energy

D.  :Electron affinity

Answer: B::C::D

Watch Video Solution

Na+ < F − < O2 − < Ne < Ar

Br < Se < As < Ge

Na < Al < Si < Mg

I < Br < Cl < F

87. Which of the following is/are correct order?

A. Atomic rdius 

B. 2nd ionisation energy 

C. Electron affinity: 

D.  (effective nuclear change): 

Answer: A::B::C

Watch Video Solution

F < O < F − < O2 −

C < N < F < O

I < Br < F < Cl

Zeff Al < Al+ < Al3 + < Al2 +

https://dl.doubtnut.com/l/_MRq0FMXFlRAL
https://dl.doubtnut.com/l/_MpVC7bArXpoO


88. Consider the following sequence of reaction: 

 


If electronic configuration of element X is , then which of the

following order is correct regarding given enthalpies?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

[Ne]3s1

|ΔH4| = |ΔH5|

|ΔH2| > |ΔH1|

|ΔH2| > |ΔH3|

|ΔH1| = |ΔH6|

89. The correct statement is/are:

https://dl.doubtnut.com/l/_MpVC7bArXpoO
https://dl.doubtnut.com/l/_AIAQFozD3VN3
https://dl.doubtnut.com/l/_R5BuiWtCbsvj


A. Zirconium (Zr) and hafnium (Hf) have almost same size

B. Correct order of ionisation energy of coinage metals is Cu  

C. Carbon atom in  is more electronegative than carbon atom in 

D.  is more stable than 

Answer: A::B::D

Watch Video Solution

> Ag

< Au

CCl4

CF4

Pb2 + Pb4 +

90. Which of the following statements is true about electronegativity?

A. Electronegativity of an element depends upon its effective nuclear

charge

B. Electronegativity of a cation is proportional to charge on the cation

https://dl.doubtnut.com/l/_R5BuiWtCbsvj
https://dl.doubtnut.com/l/_wOHYu8wEYrQ2


C. Electronegativity increases as the s-character in hybrid orbital

increases

D. Electronegativity of a anion is proportiona to charge on the anion

Answer: A::B::C

Watch Video Solution

91. Which of the following element have the similar value of

electronegativity?

A. H

B. S

C. Te

D. P

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_wOHYu8wEYrQ2
https://dl.doubtnut.com/l/_KXCK9D8wOTaq


92. Which of the following parameters cannot be estimated by using

Born-Haber cycle?

A. Hydration energy of ion

B. Electron gain enthalpy

C. lattice enegy

D. Electronegativity

Answer: A::D

Watch Video Solution

93. Select correct order(s) of electronegativity of element is/are:

A. Paulling scale (E.N. of F-atom)gt Pauling scale (E.N. of N-atom)

B.  (E.N. of Cl-atom)  (E.N. of Cl-atom)

C.  (E.N. of C-atom)  (E.N. of C-atom)

Cl2O7 > Cl2O5

CH4 > CO2

https://dl.doubtnut.com/l/_KXCK9D8wOTaq
https://dl.doubtnut.com/l/_TEkHkdrJBzC2
https://dl.doubtnut.com/l/_d6p9T06lcMBe


D.  (E.N.)  (E.N.)

Answer: A:B:D

Watch Video Solution

Cu2 + > Cu+

94. Choose the correct statement(s):

A.  is the smalest size cation in the periodic table.

B. van der waals' radius of chlorine is more than covalent radius

C. ionic mobility of hydrated  is greater than that of hydrated 

.

D. He atom is having highest I.E. in the periodic state

Answer: A::B::D

Watch Video Solution

H +

Li+

Na+

https://dl.doubtnut.com/l/_d6p9T06lcMBe
https://dl.doubtnut.com/l/_P770bAWf1qkQ


95. Select equation having endothermic step:

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

S − (g) → S2 − (g)

Na+ (g) + Cl− (g) → NaCl(s)

N(g) → N − (g)

Al2 + (g) → Al3 + (g)

96. Consider the following Born-Haber's cycle: 

 


https://dl.doubtnut.com/l/_dbN7DLQq6Yq2
https://dl.doubtnut.com/l/_sTh0SxZYHy4r


(Where  are in kJ/mol) 


Then according to given information the correct statement is/are:

A.  are always positive

B. 

C. Second electron gain enthalpy of X is negative

D.  must be negative for formationn of (s)

Answer: A::B::D

View Text Solution

ΔH1, ΔH2, ΔH3, ΔH4, ΔH5 and ΔH6

ΔH2 and ΔH3

ΔH1 = 2ΔH2 + ΔH3 + 2ΔH4 + 3ΔH5 + ΔH6

3

2

ΔH1 B2X5

97. Which of the followng oxides is/are amphoteric/

A. 

B. 

C. 

D. 

Na2O

CaO

Al2O3

SnO2

https://dl.doubtnut.com/l/_sTh0SxZYHy4r
https://dl.doubtnut.com/l/_KEoCvk5TDRXJ


MATCHTHE COLUMN

Answer: C::D

Watch Video Solution

98. Which of the following show amphoteric behaviour?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Zn(OH)2

Be(OH)2

Al(OH)3

Pb(OH)2

https://dl.doubtnut.com/l/_KEoCvk5TDRXJ
https://dl.doubtnut.com/l/_Os6QuUiQo5Fw


1. 

Watch Video Solution

2. 

Watch Video Solution

3. 

Watch Video Solution

https://dl.doubtnut.com/l/_RYgcD8tlolWZ
https://dl.doubtnut.com/l/_9MozPc6Bi84J
https://dl.doubtnut.com/l/_yXa0JinfsOlu


4. 

Watch Video Solution

5. 

Watch Video Solution

6. 

Watch Video Solution

https://dl.doubtnut.com/l/_OWTCmRUmc8OP
https://dl.doubtnut.com/l/_EOqsGMcUjRJD
https://dl.doubtnut.com/l/_zBxeyJGIbZrr
https://dl.doubtnut.com/l/_owwcvwF3zENy


7. 

Watch Video Solution

8. 

Watch Video Solution

9. 

Watch Video Solution

https://dl.doubtnut.com/l/_owwcvwF3zENy
https://dl.doubtnut.com/l/_D4MFiwoXCeim
https://dl.doubtnut.com/l/_6audykIoDmNP


ASSERTION-REASON TYPE QUESTIONS

10. 

Watch Video Solution

11. 

Watch Video Solution

1. Assertion: In CsF, salt, size of  is slight higher than size of . 


Reason:  is largest monoatomic cation and  is smallest anion.

Cs+ F −

Cs+ F −

https://dl.doubtnut.com/l/_3AdMR5eO1mKF
https://dl.doubtnut.com/l/_6EbQS4DBWK0N
https://dl.doubtnut.com/l/_Pr6KB3ZKtaWM


A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: D

Watch Video Solution

2. Assertion :- First electrons affinity fo all element is positive. 

Reason :- Successive electron affinity of all elements is negative

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

https://dl.doubtnut.com/l/_Pr6KB3ZKtaWM
https://dl.doubtnut.com/l/_AQA8Kq0JNsmp


B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: D

Watch Video Solution

3. Assertion: Helium has the highest value of ionisation energy among all

known elements. 

Reason: Helium has the highest value of elelctron affinity among all

known elements.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

https://dl.doubtnut.com/l/_AQA8Kq0JNsmp
https://dl.doubtnut.com/l/_3K2xNwQfXwWM


C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

4. Assertion:  ion has highest hydrated radius among the other halide

ions. 

Reason: Ionic radius of  is smallest in the periodic table.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

F −

F −

https://dl.doubtnut.com/l/_3K2xNwQfXwWM
https://dl.doubtnut.com/l/_vqhqLl14prvj


Answer: A

Watch Video Solution

5. Assertion: magnitude of electron gain enthalpy of oxygen is less than

that of fluorine but greater than that of nitrogen. 

Reason: Ionisation enthalpy order is as follows: .

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

Watch Video Solution

N > O < E

https://dl.doubtnut.com/l/_vqhqLl14prvj
https://dl.doubtnut.com/l/_xh53EJgVJQ3P


6. Assertion: Formation of  ion is exothermic wheres  ion

formation is endothermic. 

Reason:  of oxygen is endothermic and greater than its exothermic 

 value of oxygen.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

Cl− O2 −

EA2

EA1

https://dl.doubtnut.com/l/_YPHMYbCpLjMT


7. Assertion: The electron gain enthalpy of N is +ve while that of P is -ve. 

Reason: Smaller atomic size of N is which there is a considerable electron-

electron repulsion and hence the additional electron is not accepted

easily.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LWZjDlqd403e


8. Assertion: The formation of  from  is exothermic, whereas

that of O_((g))` is endotherrmic. 


Reason: The addition of second electron to a monovalent anion is difficult

because both have the same charge and experience more repulsion.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

F −
( g )

F ( g )

O2 −
( g )

om

https://dl.doubtnut.com/l/_f28mEWGYBa9J


9. Statement-1:  and  are isoelectronic but the magnitude of

ionic radius or  is less than that of . 


Statement-2: The magnitude of effective nuclear charge of the outer most

shell electrons in  is greater than that of .

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

Na+ AI 3 +

AI 3 + Na+

AI 3 + Na+

https://dl.doubtnut.com/l/_VN0RfrsLrCAt


10. Assertion: The third period contains only 8 electrons and not 18 like

4th period. 

Reason: In III perriod filling starts from  and complete at  whereas

in IV period it starts from  annd complete after  and .

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

3s1 3p6

4s1 3d10 4s2

https://dl.doubtnut.com/l/_OgBWQPIaLRd6


11. Statement-I :  and F combines violently to form .


Statement-II : Cs is most electropositive and F is most electronegative.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Watch Video Solution

Cs CsF

12. Statement-1: Second electron gain enthalpy of halogens is always

positive. 

Statement-2: Fluorine has most negative electron gain enthalpy.

https://dl.doubtnut.com/l/_NapCuwApeqF4
https://dl.doubtnut.com/l/_KVmOrSNDdmbX


A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

13. Assertion: F atom has less electron afffinity than Cl atom. 

Reason: Additional electrons are repelled more strongly by 3p electrons

in Cl atom than by 2p electrons in F atom.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

https://dl.doubtnut.com/l/_KVmOrSNDdmbX
https://dl.doubtnut.com/l/_PSnHXCxpYoOt


B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

14. Assertion: Among the halogens bond energy of  is minimum. 


Reason: Among halogens F atom is small in size.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

F2

https://dl.doubtnut.com/l/_PSnHXCxpYoOt
https://dl.doubtnut.com/l/_uBpm8S6v0rpc


D. if assertion is false but the reason is true

Answer: D

Watch Video Solution

15. Assertion: The first ionization energy of Be is greater than that of B. 

Reason: 2p-orbital is lowerr in energy than 2s-orbital.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uBpm8S6v0rpc
https://dl.doubtnut.com/l/_gYuvoYM7Nh0r


16. Assertion : Noble gases have highest ionisation enthalpies in their

respective periods. 

Reason : Noble gases have stable closed shell electronic configuration.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

17. He and Be both have the same outer electronic configuration like 

type. 

ns2

https://dl.doubtnut.com/l/_gYuvoYM7Nh0r
https://dl.doubtnut.com/l/_e5VERsCedXL9
https://dl.doubtnut.com/l/_X1uOxnx2tB1P


Statement-2 : Both are chemically inert.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

18. Assertion: The first ionisation enthalpy of aluminium is lower than that

of magnesium. 

Reason : Ionic radius of aluminium is smaller than that of magnesium.

https://dl.doubtnut.com/l/_X1uOxnx2tB1P
https://dl.doubtnut.com/l/_szExZ8ctXKBX


A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

Watch Video Solution

19. Assertion: In CsF, salt, size of  is slight higher than size of . 


Reason:  is largest monoatomic cation and  is smallest anion.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

Cs+ F −

Cs+ F −

https://dl.doubtnut.com/l/_szExZ8ctXKBX
https://dl.doubtnut.com/l/_JFX0bv8OviQZ


B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

20. Assertion: First electron affinity of all elements is positive. 

Reason: Successive electron affinity of all elements is negative.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

https://dl.doubtnut.com/l/_JFX0bv8OviQZ
https://dl.doubtnut.com/l/_vHfvlM5T2GhH


D. if assertion is false but the reason is true

Answer: D

Watch Video Solution

21. Assertion: helium atom has highest ionisation energy among all the

element. 

Reason: helium is smallest atom among all the elements.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

https://dl.doubtnut.com/l/_vHfvlM5T2GhH
https://dl.doubtnut.com/l/_qt0IinXQMdx8


Watch Video Solution

22. Assertion:  ion has highest hydrated radius among the other

halide ions. 

Reason: Ionic radius of  is smallest in the periodic table.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

F −

F −

https://dl.doubtnut.com/l/_qt0IinXQMdx8
https://dl.doubtnut.com/l/_LeEqW0sLxrVN


23. Assertion: magnitude of electron gain enthalpy of oxygen is less than

that of fluorine but greater than that of nitrogen. 

Reason: Ionisation enthalpy order is as follows: .

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

Watch Video Solution

N > O < F

24. Assertion: Formation of  ion is exothermic wheres  ion

formation is endothermic. 

Cl− O2 −

https://dl.doubtnut.com/l/_NIRDgDplbuOP
https://dl.doubtnut.com/l/_3WJ8j9gBKfv7


Reason:  of oxygen is endothermic and greater than its exothermic 

 value of oxygen.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

EA2

EA1

25. Assertion: The electron gain enthalpy of N is +ve while that of P is -ve. 

Reason: Smaller atomic size of N is which there is a considerable electron-

electron repulsion and hence the additional electron is not accepted

easily.

https://dl.doubtnut.com/l/_3WJ8j9gBKfv7
https://dl.doubtnut.com/l/_uZKFU4zbfAej


A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

26. Assertion: The formation of  from  is exothermic, whereas

that of O_((g))` is endotherrmic. 


Reason: The addition of second electron to a monovalent anion is difficult

because both have the same charge and experience more repulsion.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

F −
( g )

F ( g )

O2 −
( g )

om

https://dl.doubtnut.com/l/_uZKFU4zbfAej
https://dl.doubtnut.com/l/_01nwAIYZ4Lkz


B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

27. Assertion:  are isoelectronic but ionic radius  is

less than that of  


Reason: The magnitude of effective nuclear charge on the outershell

electrons in  is greater than that of .

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

Na+ and Al3 + Al3 +

Na6( + )

Al3 + Na+

https://dl.doubtnut.com/l/_01nwAIYZ4Lkz
https://dl.doubtnut.com/l/_PGMgTVeyoYhX


C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

Watch Video Solution

28. Assertion: The third period contains only 8 electrons and not 18 like

4th period. 

Reason: In III perriod filling starts from  and complete at  whereas

in IV period it starts from  annd complete after  and .

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

3s1 3p6

4s1 3d10 4s2

https://dl.doubtnut.com/l/_PGMgTVeyoYhX
https://dl.doubtnut.com/l/_BGC3sFZbgFQv


Answer: A

Watch Video Solution

29. Assertion: Cs and  combines violently to form CsF. 


Reason: Cs is most electropositive and F is most electronegative.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Watch Video Solution

F2

https://dl.doubtnut.com/l/_BGC3sFZbgFQv
https://dl.doubtnut.com/l/_JVOtUdhHFF5I


30. Assertion: Second E.A. for halogens is almost zero. 

Reason: Fluorine has maximum value of electron affinity.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

31. Assertion: F atom has less electron afffinity than Cl atom. 

Reason: Additional electrons are repelled more strongly by 3p electrons

in Cl atom than by 2p electrons in F atom.

https://dl.doubtnut.com/l/_Vs3zPRAlpHyj
https://dl.doubtnut.com/l/_hAOzwnclY2I1


A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

32. Assertion: Among the halogens bond energy of  is minimum. 


Reason: Among halogens F atom is small in size.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

F2

https://dl.doubtnut.com/l/_hAOzwnclY2I1
https://dl.doubtnut.com/l/_xWJuzf1TeX6e


B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: D

Watch Video Solution

33. Assertion: The first ionization energy of Be is greater than that of B. 

Reason: 2p-orbital is lowerr in energy than 2s-orbital.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

https://dl.doubtnut.com/l/_xWJuzf1TeX6e
https://dl.doubtnut.com/l/_DL0xfjjuhZZz


D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

34. Assertion: Noble gases have highest ionization enthalpies in their

respective periods. 

Reason: Noble gases have stable closed shell electronic configuration.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: A

https://dl.doubtnut.com/l/_DL0xfjjuhZZz
https://dl.doubtnut.com/l/_8qLeBipm5cvE


Watch Video Solution

35. He and Be both have the same outer electronic configuration like 

type. 

Statement-2 : Both are chemically inert.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: C

Watch Video Solution

ns2

https://dl.doubtnut.com/l/_8qLeBipm5cvE
https://dl.doubtnut.com/l/_5UdVoA7obCKH


SUBJECTIVE PROBLEMS

36. Assertion: the first enthalpy of aluminium is lower than that of

magnesium. 

Reason: Ionic radius of aluminium cation is smaller than that of

magnesium cation.

A. If both assertion and reason are true annd the reason is the correct

explanation of assertion

B. If both assertion and reason are true but reason is not the correct

explanation of assertion

C. If assertion is true but the reason is false

D. if assertion is false but the reason is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jzfgMgPZBwdo
https://dl.doubtnut.com/l/_5C8b1LE0FLYg


1. The number of electrons for  cation that have the value of

azimuthal quantum number  is:

Watch Video Solution

Zn2 +

= 0

2. Calculate the electronegativity of silicon atom using Allred-rochow's

method. If covalent radius of silicon is 1.0 A. (rounded in nearest integer

value).

Watch Video Solution

3. If heat of solution for AB(s) is  kcal/mol and lattice energy

for  is 700 kcal/mol and hydration energy for  is -1000

kcal/mol and  is -650 kcal/mol then calculate value of x.

Watch Video Solution

−0.95 × 10x

AB(s) A+ (g)

B− (g)

https://dl.doubtnut.com/l/_5C8b1LE0FLYg
https://dl.doubtnut.com/l/_GfEzzNwr4U70
https://dl.doubtnut.com/l/_2Qiwb7OlLReg


4. Consider the following Borh-Habber's cycle for formation of . 


 


Then calculate value , here  is electron affinity of X(g) in kJ/mol.

View Text Solution

MX3(s)

q1

50
q1

5. Calculate value of -U/100, for AB(s), from following data of Born-Haber's

cycle. [where U is lattice energy in kJ/mol] 

https://dl.doubtnut.com/l/_hDA1DYfsIt5C
https://dl.doubtnut.com/l/_1nh1EsUY9b3D


View Text Solution

6. Consider the following orders: 

(i) : Lewis basic character. 


(ii) : Electornegativityy of central 'C'-atom. 


(iii) : ionic radius 


then calculate vlaue of , where x and y are correct and incorrect

order respectively.

Watch Video Solution

HF > HCl > HBr > HI

CH4 < CCl4 < CF4

Mg2 + < K + < S2 − < Se2 −

|x − y|2

https://dl.doubtnut.com/l/_1nh1EsUY9b3D
https://dl.doubtnut.com/l/_veanIsQMwYa3


7. Find out total number of representative elements in the given element:

Cd, Nb, Ta, Te, Ra, Mo, Po, Pd, Tc

Watch Video Solution

8. An element 'X' has its electronic configuration of 'K' shell is 

and it has total number of electrons in its outermost, penultimate and

antipenultimate shell are 2,8 and 25 respectively then find out total

number of unpaired electrons in element 'X' in their ground state.

Watch Video Solution

(n − 5)s2

9. if value of spin quantum number  then

calculate number of groups in the new form of periodic table if all other

rules of electronic configurations are remain same.

Watch Video Solution

(s) = − 1/2, 0, + 1/2

https://dl.doubtnut.com/l/_veanIsQMwYa3
https://dl.doubtnut.com/l/_KjENAGwwU0It
https://dl.doubtnut.com/l/_H6sLLsPnW2wW
https://dl.doubtnut.com/l/_RNQIcYF2HDWu


10. How many pairs are, in which first species has lower ionisation enegy

than second species: 

(i) N and O 

(ii) Br and K 

(iii) Be and B 

(iv) I and  


(V) Li and  


(vi) and O and S 

(vii) Ba and Sr.

Watch Video Solution

I −

Li+

11. Total number of element(s) which have only single oxidation state

(other than zero) in their corresponding stable compounds: Cs, Ba, F,

Zn,Be,Al, Sr,Ga, Pb.

Watch Video Solution

https://dl.doubtnut.com/l/_JcBZ7Wlb0B1v
https://dl.doubtnut.com/l/_kMHrSQ0Kzr90


12. The number of electrons for  cation that have the value of

azimuthal quantum number  is:

Watch Video Solution

Zn2 +

= 0

13. Calculate the electronegativity of silicon atom using Allred-rochow's

method. If covalent radius of silicon is 1.0 A. (rounded in nearest integer

value).

Watch Video Solution

14. If heat of solution for AB(s) is  kcal/mol and lattice energy

for  is 700 kcal/mol and hydration energy for  is -1000

kcal/mol and  is -650 kcal/mol then calculate value of x.

Watch Video Solution

−0.95 × 10x

AB(s) A+ (g)

B− (g)

https://dl.doubtnut.com/l/_bXzRoeRTTDFg
https://dl.doubtnut.com/l/_JFgYzr0KIW2k
https://dl.doubtnut.com/l/_Tmm1D1WdCrDs


15. Consider the following Borh-Habber's cycle for formation of . 


 


Then calculate value , here  is electron affinity of X(g) in kJ/mol.

Watch Video Solution

MX3(s)

q1

50
q1

16. Calculate value of -U/100, for AB(s), from following data of Born-

Haber's cycle. [where U is lattice energy in kJ/mol] 

https://dl.doubtnut.com/l/_hUGPlHYiSW3E
https://dl.doubtnut.com/l/_a5os0ynabym0


View Text Solution

17. Consider the following orders: 

(i) : Lewis basic character. 


(ii) : Electornegativityy of central 'C'-atom. 


(iii) : ionic radius 


then calculate vlaue of , where x and y are correct and incorrect

order respectively.

Watch Video Solution

HF > HCl > HBr > HI

CH4 < CCl4 < CF4

Mg2 + < K + < S2 − < Se2 −

|x − y|2

https://dl.doubtnut.com/l/_a5os0ynabym0
https://dl.doubtnut.com/l/_zdEUhbeCaxSa


18. Find out total number of representative elements in the given

element: 

Cd, Nb, Ta, Te, Ra, Mo, Po, Pd, Tc

Watch Video Solution

19. An element 'X' has its electronic configuration of 'K' shell is 

and it has total number of electrons in its outermost, penultimate and

antipenultimate shell are 2,8 and 25 respectively then find out total

number of unpaired electrons in element 'X' in their ground state.

Watch Video Solution

(n − 5)s2

20. if value of spin quantum number  then

calculate number of groups in the new form of periodic table if all other

rules of electronic configurations are remain same.

Watch Video Solution

(s) = − 1/2, 0, + 1/2

https://dl.doubtnut.com/l/_zdEUhbeCaxSa
https://dl.doubtnut.com/l/_5YID0fgUkRWU
https://dl.doubtnut.com/l/_WRtYn4PRiWyk
https://dl.doubtnut.com/l/_ebrQGXuW47oy


21. How many pairs are, in which first species has lower ionisation enegy

than second species: 

(i) N and O 

(ii) Br and K 

(iii) Be and B 

(iv) I and  


(V) Li and  


(vi) and O and S 

(vii) Ba and Sr.

Watch Video Solution

I −

Li+

22. Total number of element(s) which have only single oxidation state

(other than zero) in their corresponding stable compounds: Cs, Ba, F,

Zn,Be,Al, Sr,Ga, Pb.

Watch Video Solution

https://dl.doubtnut.com/l/_ebrQGXuW47oy
https://dl.doubtnut.com/l/_CHBJcA72znX8
https://dl.doubtnut.com/l/_PsZIJTHTWV3f


MATCH THE COLUMN

1. 

Watch Video Solution

2. 

Watch Video Solution

3. 

Watch Video Solution

https://dl.doubtnut.com/l/_8RW65Xx5GxdO
https://dl.doubtnut.com/l/_ENhopersLTEZ
https://dl.doubtnut.com/l/_Y9KJVzB70VzS


4. 

Watch Video Solution

5. 

Watch Video Solution

6. 

Watch Video Solution

https://dl.doubtnut.com/l/_Y9KJVzB70VzS
https://dl.doubtnut.com/l/_4Ndjyv0PBOlp
https://dl.doubtnut.com/l/_CCJJawqVNlEf
https://dl.doubtnut.com/l/_PAcoszwswwQ5


7. 

Watch Video Solution

8. 

Watch Video Solution

9. 

Watch Video Solution

https://dl.doubtnut.com/l/_Si9D5AD2Xof0
https://dl.doubtnut.com/l/_VZju0Tfj8jcY
https://dl.doubtnut.com/l/_aCQapkJwWL0y
https://dl.doubtnut.com/l/_H4LnUeVHvBHP


10. 

Watch Video Solution

11. 

Watch Video Solution

https://dl.doubtnut.com/l/_H4LnUeVHvBHP
https://dl.doubtnut.com/l/_qnDaazA3oqFb

